GOVT INDUSTRIAL TRAINING INSTITUTE, FARIDKOT.

S.No.	Name of the item	Std List No.	rocurement Plan under Strive S Specifications	Trade		Tentative Cost per Unit/item	Total Estimated Cost	Method of procurement (e- g.Shopping/Com
								pertive Bidding)
1	FOOT Rule steel tape	1	6 metrs four fold Stainless Steel blade of length 300mmx width 25mmx18 gauge. Inch,cm & mm engraved on the sca	Carpenter	50	120	6,000	Compertive Bidding & E Shopping L-1
2	Steel measuring scale	2	Standard Steel Rule of 300 mm Length ,both side marking in inches .cm & mm	Carpenter	50	60	3,000	Compertive Bidding & E Shopping L-1
3	Marking Knife,200 mm	3	Marking Knife 200 MM material -	Carpenter	30	90	2,700	Compertive
			cast steel Length - 200mm (point end and chisel edge					Bidding & E Shopping L-1
4	Carpenter Square,200 mm -	4	Carpenter Square 200 MM Length of blade - 200mm Blade materialtempered steel stock material - steel	Carpenter	10	120	1,200	Compertive Bidding & E Shopping L-1
5	Square, bevel,200 mm	5	tempered steel Blade adjustable with fly nut, 200 mm	Carpenter	30	90	2,700	Compertive Bidding & E Shopping L-1
6	Carpenter marking gauge	6	Carpenter marking gauge.stock & stem - shisham wood Thumb scrrew - steel point/pin -	Carpenter	10	310	3,100	Compertive Bidding & E Shopping L-1
7	Carpenter mortise gauge	7	steel. 50 x 50 x 18 mm Carpenter mortise gauge Stock & stem -shisham wood with Thumb scrrew , steel pin- one fixed and other movable in brass, 50 x 50 x	Carpenter	10	290	2,900	Compertive Bidding & E Shopping L-1
8	Saw hand, 450mm	8	18 mm nin adjustable Saw hand 40 MM closed handle, plastic ,length of blade - 450mm blade material - high	Carpenter	30	170	5,100	Compertive Bidding & E Shopping L-1
9	Saw tenon,300mm	9	carbon steel Saw tenon 300 MM Wooden handle ,closed ,length of blade - 300mm - high carbon steel	Carpenter	35	50	1,750	Compertive Bidding & E Shopping L-1
10	Plane jack metal,335 x50 mm cutter	10	Plane jack metal 335 x50mm cutter stock length - 335mm - cast steel cutter width .50mm high carbon steel	Carpenter	10	1,200	12,000	Compertive Bidding & E Shopping L-1
11	Plane smoothing metal, 200x50 mm cutter	11	Plane smoothing metal 200x50 mm cutter stock length - 200mm - cast steel cutter width .50mm high carbon steel	Carpenter	30	480	14,400	Compertive Bidding & E Shopping L-1
12	Chisel Mortise-6,10,15,mm (3 no's) -	13	Chisel Mortise 6 mm Wooden handle (with ferrule topand bottom) blade - forged steel hardent at cutting edge width of blade 6 10 15 mm (3 no's)	Carpenter	30	460	13,800	Compertive Bidding & E Shopping L-1
13	Screwdriver (Cabinet maker), 300 mm	14	Screwdriver (Cabinet 300 MM maker) Length of blade - 300mm Handle - plastic nylon , branded,Blade material -	Carpenter	30	160	4,800	Compertive Bidding & E Shopping L-1
14	Mallet medium size-	15	Toughened steel Mallet medium size size - 6"(slight curved type) material - (shisham wood) handle - Tapered rectancle type	Carpenter	30	240	7,200	Compertive Bidding & E Shopping L-1
15	Hammer Claw,500 gm	16	The head is forged from high grade carbon steel and handle from seasoned hard wood. Wt. 500 gm	Carpenter	30	280	8,400	Compertive Bidding & E Shopping L-1
16	Oil stone (Carborundum),(Universal silicon carbide combination rough and	17	Oil stone (Carborundum) (Universal silicon carbide combination rough and fine) 200 x	Carpenter	30	270	8,100	Compertive Bidding & E Shopping L-1
17	fine).200 x 50 x 21 mm Hand brush for bench cleaning (450mm)	19	50 x 21 mm a standard size 450mm	Carpenter	10	150	1,500	Compertive Bidding & E
18	Router plane	38	Materials Body, Frog & Lever Cap : High grade cast iron Cut Irons : High carbon steel Cap Iron : Best quality steel Handle & knob : Selected	Carpenter	2	600	1,200	Shopping L-1 Compertive Bidding & E Shopping L-1
19	File slim taper 100mm	51	hardwood / high quality plactic material - high carbon steel with	Carpenter	12	270	3,240	Compertive
			wooden handle, 100 mm	-				Bidding & E Shopping L-1

20	File slim taper 150mm	52	material - high carbon steel with wooden handle, 150 mm	Carpenter	12	100	1,200	Compertive Bidding & E
21	Centre bits-6,8,10,12 mm	58	Centre bits 6,8,10,12 mm size - 10mmx 12mm material - high carbon steel handle -	Carpenter	1	360	360	Shopping L-1 Compertive Bidding & E Shopping L-1
22	Combination Cutting pliers	66	wooden Combination pliers 200 mm insulated 200mm	Carpenter	2	410	820	Compertive Bidding & E
23	Plunger saw set / pistol grip type	67	Plunger saw set / pistol grip type Length - 8'', opening	Carpenter	2	740	1,480	Shopping L-1 Compertive Bidding & E
24	Electric blower	85	3mm capacity 2.0mm3/min , 750 watt 400kmph, wt.3.65 kg	Carpenter	3	4,100	12,300	Shopping L-1 Compertive Bidding & E
25	Spanner double ended set of 12	87	Spanner set made of Drop forged carbon steel, Polished /Chrome Plated of sizesSize :6-32mm (Set of	Carpenter	1	1,300	1,300	Shopping L-1 Compertive Bidding & E Shopping L-1
26	Fire bucket	89	12 Pcs.) Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Carpenter	2	900	1,800	Compertive Bidding & E Shopping L-1
27	Steel locker, 8 compartment with individual locks	90	Made of mild steel 20 gauge size 78" X 36 " x 19" consisting of 8 no. boxes with individual locking system to each	Carpenter	1	11,000	11,000	Compertive Bidding & E Shopping L-1
28	Stool	94	square pipe body 25 x 16 gauge top wooden 15"x 15"	Carpenter	1	1,100	1,100	Compertive Bidding & E Shopping L-1
29	Portable Circular Saw Machine	97	1150 W powerfull motor ,speed 5000 rpm, Max depth of cut : 65mm With	Carpenter	1	7,200	7,200	Compertive Bidding & E Shopping L-1
30	Power Drill Machine 6mm Capacity	99	accessorv capicty- 6 mm wt 2.1 kg (aprox.) rmp- 2700	Carpenter	2	9,000	18,000	Compertive Bidding & E Shopping L-1
31	Power Screw Driver	103	watt- 550. body aluminium body aluminium 440 watt powerfull motor speed 0-1000 rpm maximum,With accessory	Carpenter	2	1,800	3,600	Compertive Bidding & E Shopping L-1
32	Set of turning tools.	107	Materials Blades : High precision chrome vanadium alloy steel Handles : Seasoned hard wood, front end covered by steel shum	Carpenter	1	1,266	1,266	Compertive Bidding & E Shopping L-1
33	Drill machine 12mm capacity	111	Pilertro plated Piller type Drill machine with drill chuck, 12mm capacity - one HP single phase moter ,With	Carpenter	1	9,500	9,500	Compertive Bidding & E Shopping L-1
34	Portable electric drill	112	adjustable table. With accessory 500 watt powerful motor,speed 2400 RPM,capacity in MM,MS	Carpenter	1	3,000	3,000	Compertive Bidding & E
35	Drill Chuck 12 mm Capacity	113	10,wood 25 drill chuck, 12mm capacity with sleves and key	Carpenter	1	1,680	1,680	Shopping L-1 Compertive Bidding & E Shopping L-1
36	Portable disc sander 200 mm dia	114	disc scander 200 mm dia.170 watt powerfull motor,orbits/strokes,13500/min,w t-1.2kg(approx)With	Carpenter	1	11,000	11,000	Compertive Bidding & E Shopping L-1
37	Electric heater, 1000/1500 W	116	accessory, body aluminium Electric heater, 1000/1500 W	Carpenter	1	2,400	2,400	Compertive Bidding & E Shopping L-1
38	Electrical drying oven(small type)	119	digital temperature control provides precise and accurate control of drying temperature	Carpenter	1	14,000	14,000	Compertive Bidding & E Shopping L-1
39	CD-1 & DVD-1 of different joint related to carpainter works and variety design of modern furniture	126	Inspection & codes DVD/ CDs (as per NIMI & A.W.S)	Carpenter	2	500	500	Compertive Bidding & E Shopping L-1
40	Box drawing instrument	1	Containing one 15 cm compass with pin point, pin point & lengthening bar, one pair spring bows, rotating compass with interchangeable ink and pencil points, drawing pens with plain point & cross point, screw driver and box of leads.(0.2,0.3,0.4 mm).	Carpenter	17	1700	28900	Compertive Bidding & E Shopping L-1

41	Auto level With all accessories	25	Auto level levelling instrument compact in size of weight 1.25 kg approx with levelling accuracy +-2.0 mm, telescopic magnification 24x,short focusing distance-0.3m, weather and dust resistance complete with aluminium tripod stand working height 97-160 cm approximately weight 4 kg with aluminium levelling staff 6 meter 5 folds with canvas cover	Carpenter	2	25,000	50000	Compertive Bidding & E Shopping L-1
42	Transit Theodolite with stand with all accessories	27	Transit theodolite made by ms with accuracy-10sec to 20 sec, minimum focus 2m -150m, 360 degree rotation with-wooden case. Tripod stand- Aluminum di casting double lock with cover.working height 97- 160 cm approximately weight 4 kg.	Carpenter	2	24,000	48000	Compertive Bidding & E Shopping L-1
43	Digital Theodolite	28	latest model With all accessories (Features:-Based on laser technology, Two large LCD panel with easy to read ,Automatically compensates tilt in two direction and compensates vertical angles. High integrated electronic board and IC elements)	Carpenter	2	50,000	100000	Compertive Bidding & E Shopping L-1
44	Instrument for Total Station with latest model, With all accessories	29	Angle Measurement Accuracy (Sec)- 2 second, Distance Measurement (Km)-1km, Distance Measuring Range with Single Prism- 6000Meter, Display & Keyboard- Dual Sided 2.8 inch 240*320 pixel highlight color display and Full numeric keyboard, Battery Backup- 18 Hrs. GPS 60 With Dattery Charger ,AC	Carpenter	2	100,000	200000	Compertive Bidding & E Shopping L-1
45	Hand held GPS (latest model) with standard specification	30	adaptor USB Download port & Software. High sensitiviity receiver Base map Water proof USB interface Built in memory accept data card way points /etc Routes 200 Track log 10,000 points Altimater, compass,hunt fish calender ,sun &moon information.tide tables,Area calculation Dimensions 16.0 X 6.1 X 3.6 cm Battery type /life 2 x AA 20 houre weight approx 260 g	Carpenter	2	20,000	40000	Compertive Bidding & E Shopping L-1
46	Personal computer with latest configuration	31	Intel i5 processor and higher(3.4 GHz, 8 MB Cache with 8GB RAM, 1 TB harddisk, wi-fi enabled, USB optical mouse, 15"LED Screen , Standard ports and connectors, DVD Writer, inbuilt Speakers and Mic. with web camera with preloaded licensed window 8.1 or latest operating system and latest internet security input. preloaded licensed latest version MS Office .	Carpenter	24	70,000	1680000	Compertive Bidding & E Shopping L-1
47	CAD software(24 USERS)	33	Minimum 8 hours rechargeable li- ion	Carpenter	1	50,000	50000	Compertive Bidding & E Shopping L-1
48	Plotter A1 size	34	battery .Poles and Prism 2Nos each)	Carpenter	1	150,000	150000	Compertive Bidding & E Shopping L-1
49	UPS	38	5 KV with 30 min. back up for 24 PC	Carpenter	1	60,000	60000	Compertive Bidding & E Shopping L-1
50	Computer Table	39	Computer Desk, Straight Set-up for Study & Home Office with Storage Space,W x H x D: 90 cm x 76 cm x 60 cm (2 ft 11 in x 2 ft 5 in x 2Ft),With CPU Compartment,Built-in Keyboard Tray,Knock Down - Delivered in non-assembled pieces, installation by service partner, Material: 20mm Waterproof Plywood with both side mica.	Carpenter	20	4,000	80000	Compertive Bidding & E Shopping L-1
51	Computer Chair.	40	Revolving Chair with Wheels, Armrest, Adjustable Seat Height, Swivel, W x H: 46 cm x 89 cm (1 ft 6 in x 2 ft 11 in), Frame Material: Engineered Wood, Upholstery Type: Cushion	Carpenter	14	3,000	42000	Compertive Bidding & E Shopping L-1
52	DLP Projector	43	Latest Model available	Carpenter	2	50,000	100000	Compertive Bidding & E
53	Air Conditioner	47	2.0 Ton split type, Min three star rating	Carpenter	2	65,000	130000	Shopping L-1 Compertive Bidding & E Shopping L-1

54	Document Camera / Visualiser	49	Latest Model available	Carpenter	2	50,000	100000	Compertive
								Bidding & E Shopping L-1
5	Smart Board / Inter Active Board	50	Latest Model available	Carpenter	2	25,000	50000	Compertive
								Bidding & E
6	Steel Cupboard	51	H180 xW 90 xD 45 cm, Material:	Carpenter	2	15,000	30000	Shopping L-1 Compertive
0		51	Steel	Carpenter	2	15,000	30000	Bidding & E
								Shopping L-1
57	E. LIST OF FURNITURE:-			Carpenter				Compertive
								Bidding & E Shopping L-1
58	Class room chairs (armless)	57	Body Material:Steel, Width:500mm,	Carpenter	24	3,000	72000	Compertive
			Seat and Back material: Fabric with	-				Bidding & E
			cousin and writing pad made by					Shopping L-1
59	Class room table Dual desk	58	mica board. for two trainees wooden seat with	Carpenter	12	4,000	48000	Compertive
			metalic frame.48"x14"x30" (Desk) ,			.,		Bidding & E
			Stool 48"x12"x18", Frame Material:					Shopping L-1
			Mild Steel Square Pipe, Table Top					
			Material: 16 mm ply with sunmica, Height:450mm.					
			-					
60	Drawing Table with Board	60	Length:750mmx Width:550mm, Material: 20mm hardwood	Carpenter	32	5,000	160000	Compertive Bidding & E
			laminated with both side mica					Shopping L-1
			including ebony edge. (Only Board					2110 pp 116 E 1
~			Required)		10	200	2 000	<u> </u>
61	Welding helmet fiber	1	Very sturdy and light weight. With adjustable ratchet head gear.	Welder	10	200	2,000	Compertive Bidding & E
								Shopping L-1
62	Chipping hammer with metal	3	Chipping hammer with spring	Welder	42	100	4,200	Compertive
	handle 250 Grams		handle 250 Grams					Bidding & E
63	Stainless steel rule 300 mm	7	Standard Steel Rule of 300 mm	Welder	30	80	2,400	Shopping L-1 Compertive
			Length ,both side marking in inches					Bidding & E
64	Hacksow from fired 200	10	.cm & mm Standard Hacksaw Fixed frame	\ \ /aldar	20	105	2 500	Shopping L-1
64	Hacksaw frame fixed 300 mm	10	Standard Hacksaw Fixed frame made of Steel suitable for 300 mm	Welder	28	125	3,500	Compertive Bidding & E
			blade fitment.					Shopping L-1
65	File half round bastard 300 mm	11	A Standard half round File 300 mm	Welder	21	400	8,400	Compertive
			long Bastard Type made of High					Bidding & E
66	File flat 350 mm bastard	12	Carbon Steel with handle A Standard Flat File 350 mmlong	Welder	21	300	6,300	Shopping L-1 Compertive
			Bastard Type made of High Carbon				-,	Bidding & E
67	Hommor hall non- 4 have 'th	40	Steel with handle	\ &/_	20	450	4 200	Shopping L-1
67	Hammer ball pane 1 kg with handle	13	hammer ball pein 1 kg with wooden handle	Welder	28	150	4,200	Compertive Bidding & E
								Shopping L-1
68	Tip cleaner	14	standard cleaning wires sizes (No 1-	Welder	8	50	400	Compertive
			5)					Bidding & E Shopping L-1
69	CO2 gas pressure regulator wigh	29	Heavy duty double stage Regulator	Welder	1	4,000	4,000	Compertive
	flow meter		suitable for 230 bar inlet pressure					Bidding & E
			and imported safety pressure					Shopping L-1
			gauges design for 300 bar service					
70	Argon gas pressure regulator with	30	Heavy duty double stage Regulator	Welder	1	4,000	4,000	Compertive
	flow meter		suitable for 230 bar inlet pressure					Bidding & E
			and imported safety pressure					Shopping L-1
			gauges design for 300 bar service pressure.					
71	Flash back arrester (torch	36	A spring loaded non-return valve	Welder	4	2,000	8,000	Compertive
	mounted)		prevents slow or sudden reverse					Bidding & E
			gas flow which couldform explosive mixtures in the gas					Shopping L-1
			supply.					
72	Flash backarrester (cylinder	37	A temperature sensitive cut-off	Welder	4	2,000	8,000	Compertive
	mounted)		valve extinguishes sustained					Bidding & E
			flashbacks long before the internal temperature of the arrestors					Shopping L-1
			reaches a dangerous level. A spring					
			loaded non-return valve prevents					
			slow or sudden reverse gas flow					
			forming explosive mixtures in the					
			gas supply.					
73	Multiangle magnetic clamp set	38	Metal base(18x10x10cm)	Welder	1	2,000	2,000	Compertive
_								Bidding & E Shopping L-1
74	Auto Darkening Welding Helmet	46	Solar/Battery operated Automatic	Welder	5	2,200	11,000	Compertive
			Protection level 9-13, ith					Bidding & E
75	Swage block	65	machine/equipment. Swage block 50kg	Welder	1	5,000	5,000	Shopping L-1 Compertive
-						2,000	2,000	Bidding & E
70	Supplies and first in the little sector		1/0 +0 3/ ;	14/-1 /		2 000	2.000	Shopping L-1
76	Swaging and flooring tool kit 450 tu	74	1/8 to ¾ inch	Welder	1	3,000	3,000	Compertive Bidding & E
								Shopping L-1
77	Leg guards leather	81	ISI mark standrad size	Welder	20	150	3,000	Compertive
								Bidding & E
78	Gas welding Goggles with Colour	88	3 or 4A DIN	Welder	23	100	2,300	Shopping L-1 Compertive
10	glass 3 or 4A DIN	00		VV EIUEI	23	100	2,500	Bidding & E
	5							Shopping L-1
	AG 4 Grinding wheels	91	dia100mm x 12mm thick	Welder	50	30	1,500	Compertive
79	Ad 4 dimung wheels	91						Bidding & E

80	Anti spatter spray can	95	100 to 300 ml	Welder	5	200	1,000	Compertive Bidding & E Shopping L-1
81	GMAW Torch nozzle tip	96	Size 0.8, 1.0, 1.2 (in mm)	Welder	15	75	1,125	Compertive Bidding & E
82	TIG welding torch ceramic nozzle	97	Size 3,4,5,6,8	Welder	20	15	300	Shopping L-1 Compertive Bidding & E
83	Tungsten electrode	98	1.0, 1.6, 2.0 (in mm), length 150 mm	Welder	15	100	1,500	Shopping L-1 Compertive Bidding & E
84	AG4 cutting wheels	100	Dia 100mm x 02mm thick	Welder	100	10	1,000	Shopping L-1 Compertive Bidding & E Shopping L-1
85	Students chairs with writing pads	107	Chair Frame made of M.S Square Pipe 25 mm ,thickness of pipe 1.5 mm, seat size18" x 18" , height 18" with arms, seat and back fitted of 12 mm moulded commercial ply, with writing pad of 20" x 14" made of commercial ply 19 mm with sunmica top having folding	Welder	20	500	10,000	Compertive Bidding & E Shopping L-1
86	Welding Process, Inspection & codes DVD/ CDs	111	Inspection & codes DVD/ CDs (as per NIMI & A.W.S)	Welder	1	500	500	Compertive Bidding & E
87	Work bench 340x120x75 cm with 4 bench vices of 150 mm jaw opening	59	Work bench 340x120x75 cm made of heavy wooden top of atleast 50mm thick wood and frame made of angle iron 50*50*6 mm fitted with rigid supports with 4 bench vices of 150 mm jaw opening	Welder	2Set	50,000	100,000	Shopping L-1 Compertive Bidding & E Shopping L-1
88	Welding Simulators for SMAW/GTAW/GMAW	71	input power 230V/50Hz, LED Monitor size large enough to accomadate work area , monitor with CPU, height adjustment colump.	Welder	1	250,000	250,000	Compertive Bidding & E Shopping L-1
89	Water cooled induction welding/ Brazing machine	72	200-250 Amp., induction coil length 3 inch and 2.5 inch	Welder	1	50,000	50,000	Compertive Bidding & E Shopping L-1
90	Plastic welding machine with hot ai	73	temp. display, variable temp., PE,PP& PVC sheet or pipe welding control with stand. Accessories.	Welder	1	30,000	30,000	Compertive Bidding & E Shopping L-1
91	Instructors lap top with latest(vista & above) configuration pre loaded with operating system. and MS Office package.	109	Intel i7 processor(3.4 GHz, 8 MB Cache with 4GB RAM, 1 TB harddisk, wi-fi enabled, USB optical mouse, 15"LED Screen, Standard ports and connectors, DVD Writer, inbuilt Speakers and Mic. with web camera with preloaded licensed window 8.1 or latest operating system and latest internet security input. preloaded licensed latest version MS Office.	Welder	1	40,000	40,000	Compertive Bidding & E Shopping L-1
92	LCD projector with screen.	110	type DLP, Multimedia projector display technology , Light output 3700 lumens, 1024x768 resolution, aspect ratio-4:3,contrast ratio- 3000:1 with standard accessory	Welder	1	40,000	40,000	Compertive Bidding & E Shopping L-1
93	Welding helmet fiber	1	Very sturdy and light weight. With adjustable ratchet head gear.	Welder GMAW & GTAW	8	200	1,600	Compertive Bidding & E Shopping L-1
94	Welding hand shield fiber	2	Very sturdy and light weight Standard vision 110 mm X 85mm	Welder GMAW & GTAW	8	200	1,600	Compertive Bidding & E Shopping L-1
95	Chipping hammer with metal handle 250 Grams	3	Chipping hammer with spring handle 250 Grams	Welder GMAW & GTAW	42	125	5,250	Compertive Bidding & E Shopping L-1
96	chisel cold flat 19 mm X150mm	4	chisel cold flat with face size 19mm, 150 length made of Hardened & Tempered High	Welder GMAW & GTAW	8	120	960	Compertive Bidding & E Shopping L-1
97	Centre punch 9 mmX127	5	Carbon Steel centre punch with face 9mm, 127mm length and working point Hardened & Tempered High Carbon Steel	Welder GMAW & GTAW	8	100	800	Compertive Bidding & E Shopping L-1
98	Dividers 200 mm	6	Carbon Steel divider with 200 mm length, working point Hardened & Tempered High Carbon Steel	Welder GMAW & GTAW	8	150	1,200	Compertive Bidding & E Shopping L-1
99	Stainless steel rule 300 mm	7	Standard Steel Rule of 300 mm Length ,both side marking in inches ,cm & mm	Welder GMAW & GTAW	34	50	1,700	Compertive Bidding & E Shopping L-1
100	Scriber 150 mm double point	8	Scriber of 150mm length, both sides Hardened & Tempered High Carbon Steel pointed	Welder GMAW & GTAW	8	50	400	Compertive Bidding & E Shopping L-1
101	Flat Tongs 350 mm long	9	tongs flat in size of 350mm long	Welder GMAW & GTAW	8	150	1,200	Compertive Bidding & E Shopping L-1
102	Hacksaw frame fixed 300 mm	10	Standard Hacksaw Fixed frame made of Steel suitable for 300 mm	Welder GMAW & GTAW	36	200	7,200	Compertive Bidding & E

103	file half round bastard 300 mm	11	A Standard half round File 300 mm long Bastard Type made of High	Welder GMAW & GTAW	30	150	4,500	Compertive Bidding & E
104	File flat 350 mm bastard	12	Carbon Steel with handle A Standard Flat File 350 mmlong Bastard Type made of High Carbon	Welder GMAW & GTAW	30	150	4,500	Shopping L-1 Compertive Bidding & E
105	Hammer ball pane 1 kg with handle	13	Steel with handle hammer ball pein 1 kg with wooden handle	Welder GMAW & GTAW	38	100	3,800	Shopping L-1 Compertive Bidding & E
106	Tip cleaner	15	standard cleaning wires sizes (No 1- 5)	Welder GMAW & GTAW	8	250	2,000	Shopping L-1 Compertive Bidding & E
107	Try Square 6 "	14	Having length of 6 inches blade & having markings in inches, cm &	Welder GMAW & GTAW	8	100	800	Shopping L-1 Compertive Bidding & E
108	Spanner D.E , 6 mm to 32 mm	22	mm made of Hardened Steel Spanner set made of Drop forged carbon steel, Polished /Chrome Plated of sizesSize :6-32mm	Welder GMAW & GTAW	2	500	1,000	Shopping L-1 Compertive Bidding & E Shopping L-1
109	Flash back arrester (torch mounted)	36	A spring loaded non-return valve prevents slow or sudden reverse gas flow which couldform explosive mixtures in the gas	Welder GMAW & GTAW	4	2,000	8,000	Compertive Bidding & E Shopping L-1
110	Flash backarrester (cylinder mounted)	37	sunniv. A temperature sensitive cut-off valve extinguishes sustained flashbacks long before the internal temperature of the arrestors reaches a dangerous level. A spring loaded non-return valve prevents slow or sudden reverse gas flow forming explosive mixtures in the gas supply.	Welder GMAW & GTAW	4	2,000	8,000	Compertive Bidding & E Shopping L-1
111	Auto Darkening Welding Helmet	47	Solar/Battery operated Automatic Protection level 9-13, ith machine/equipment.	Welder GMAW & GTAW	5	500	2,500	Compertive Bidding & E Shopping L-1
112	Anvil 24 sq.inches working area with stand	63	Anvil 24 sq.inches working area of weight 200 kgs fitted with stand	Welder GMAW & GTAW	1	6,000	6,000	Compertive Bidding & E Shopping L-1
113	Swage block 16x16x16 Inches	64	Swage block 50kg	Welder GMAW & GTAW	1	5,000	5,000	Compertive Bidding & E Shopping L-1
114	Leather hand gloves 14 "	70	14"	Welder GMAW & GTAW	4	250	1,000	Compertive Bidding & E Shopping L-1
115	Cotton hand Gloves 8"	71	8"	Welder GMAW & GTAW	4	150	600	Compertive Bidding & E Shopping L-1
116	Leather hand sleeves 16"	72	16"	Welder GMAW & GTAW	4	500	2,000	Compertive Bidding & E Shopping L-1
117	Leg guards leather	73	ISI mark standrad size	Welder GMAW & GTAW	21	400	8,400	Compertive Bidding & E Shopping L-1
118	Leather Apron leather	74	ISI mark	Welder GMAW & GTAW	4	1,200	4,800	Compertive Bidding & E Shopping L-1
119	Wire brush (MS & SS) 5 rows and 3 rows	76	(MS & SS) 5 rows and 3 rows	Welder GMAW & GTAW	4 each	100	800	Compertive Bidding & E Shopping L-1
120	Safety boots for welders 7,8,9,10	78	ISI mark 7,8,9,10	Welder GMAW & GTAW	4	1,450	5,800	Compertive Bidding & E Shopping L-1
121	AG 4 Grinding wheels	80	Dia 100mm x 12mm thick	Welder GMAW & GTAW	50	50	2,500	Compertive Bidding & E Shopping L-1
122	Arc welding single coloured glasses 108 mm x 82 mm x 3 mm. DIN 9A, 11A &13 A	83	108 mm x 82 mm x 3 mm. DIN 9A,11A &13 A	Welder GMAW & GTAW	20 each	100	6,000	Compertive Bidding & E Shopping L-1
123	Bubble face shield clear with rubber	79	Fits all faces. 100%Transparent anti- fog material. Wearabbe with eye glasses & face masks.	Welder GMAW & GTAW	21	350	7,350	Compertive Bidding & E Shopping L-1
124	Dye penetrant testing kit	88	Chek-Mate Dye penetrant testing kit for testing	Welder GMAW & GTAW	01 set	450	450	Compertive Bidding & E Shopping L-1
125	Welding Transformer with all accessories (400A, OCV 60–100 V, 60% duty cycle)	38	Input Voltage= AC 415V+ -10%.3 PH, Frequency= 50 Hz, O.C.V-60- 100Volt, Output Current (minimum) 60-Output Current (Maximum) 400amps, forced air cooled type, Rated Duty Cycle= 60%, Efficiency = 85%, class of	Welder GMAW & GTAW	1	150,000	150,000	Compertive Bidding & E Shopping L-1
126	Work bench 340x120x75 cm with 4 bench vices of 150 mm jaw opening	58	Work bench 340x120x75 cm made of heavy wooden top of atleast 50mm thick wood and frame made of angle iron 50*50*6 mm fitted with rigis supports with 4 bench vices of 150 mm jaw opening	Welder GMAW & GTAW	5	50,000	250,000	Compertive Bidding & E Shopping L-1
127	Bench grinder fitted with fine grain size silicon carbide green grinding whee	49	Bench grinder fitted with fine grain size silicon carbide green grinding wheel dia. 150 mm 1.5 hp motor, 3ph,Spindle speed 1400 Rpm, 2800 RPM	Welder GMAW & GTAW	1	30,000	30,000	Compertive Bidding & E Shopping L-1

128	Welding Simulators for SMAW/GTAW/GMAW	69	input power 230V/50Hz, LED Monitor size large enough to accomadate work area , monitor	Welder GMAW & GTAW	1	250,000	250,000	Compertive Bidding & E Shopping L-:
			with CPU, height adjustment					
129	Caliper out side spring joint	1	column. 150 mm Centrally mounted adjustment screw offers	Turner	11	80	990	Compertive Bidding & E
130	Caliper inside spring joint	2	finersetting, than firm joint type Divider 150 cm spring Manufactured from good Quality High Carbon steel tips hardend and	Turner	12	90	1080	Shopping L-: Compertive Bidding & E Shopping L-:
131	Caliper odd-leg firm joint	3	tempered Divider 150 cm spring Manufactured from good Quality	Turner	5	95	475	Compertive Bidding & E
132	Steel Rule	4	High Carbon steel tips hardend and tempered 150mm Standard Stainless Steel	Turner	35	80	2800	Shopping L-:
-			Metric/Inch StainlessSteel Etched Ruler with zero at the edge					Bidding & E Shopping L-
133	Scriber	5	Scriber 150mm length Scriber 150 mm X 3mm(Knurled centre position)spring made of high Carbon steeland point Hardened & temp	Turner	40	60	2400	Compertive Bidding & E Shopping L-
134	Hammer ball peen	6	250 gms ball pein with handle	Turner	38	80	3040	Compertive Bidding & E Shopping L-
135	Centre punch	7	100mm Set is made from hardened andtempered steel. Square heads, knurled grip	Turner	39	70	2730	Compertive Bidding & E Shopping L-
136	Prick punch	8	150mm, Prick Punch Set is made from hardened and tempered steel. Square heads, knurled grip	Turner	8	65	520	Compertive Bidding & E Shopping L-
137	Divider spring joint	9	Divider spring joint 150 mm make high carbon steel	Turner	26	90	2340	Compertive Bidding & E Shopping L-
138	Safety goggles clear glass (Good quality)	10	Impact resistant molded lens with Super Coat anti-fog coating, 1.8 mm thick polycarbonate lens	Turner	39	190	7410	Compertive Bidding & E Shopping L-
139	Chisel cold flat	18	Chisel size: blade 20mm x length 150mm,Superior quality, long service life	Turner	6	100	600	Compertive Bidding & E Shopping L-
140	Hammer copper/brass	19	Hammer ball pain copper/brass 500 gm Variants include the straight-peen, diagonal-peen, and cross-peen hammer	Turner	12	350	4200	Compertive Bidding & E Shopping L-
141	Hacksaw fixed	20	200mm,(pistol grip)hacksaw is a fine-tooth hand saw with a blade held under tension in a frame, used for cutting materials such as metal or plastics	Turner	4	150	600	Compertive Bidding & E Shopping L-
142	File flat	21	A Standard File Flat 300 mm long,,rough type made of HCS with handle	Turner	6	120	720	Compertive Bidding & I Shopping L-
143	File flat	22	A Standard File Flat 250mm second cut Type made of HCS with handle	Turner	2	150	300	Compertive Bidding & E Shopping L-
144	File flat	23	A Standard File Flat 250 mm smooth Type made of HCS with handle	Turner	4	150	600	Compertive Bidding & E Shopping L-
145	File half round	24	A Standard File half round 250 mm 2nd cut Type made of HCS with handle	Turner	6	200	1200	Compertive Bidding & E Shopping L-
146	File round	25	A Standard File round smooth 250 mm Type made of HCS with handle	Turner	3	200	600	Compertive Bidding & E Shopping L-
147	File half round	26	A Standard File half round smooth 250 mm Type made of HCS with handle	Turner	2	200	400	Compertive Bidding & E Shopping L-
148	Combination set	28	Combination Set Square With Level Scribe & 12" 300 Mm Steel Metal Ruler Rule Set	Turner	6	4000	24000	Compertive Bidding & E Shopping L-
149	Pliers flat nose	32	150MM equipment's. Plain table with stands and accessories.	Turner	13	120	1560	Compertive Bidding & E Shopping L-
150	Micrometer Inside	37	range 25-50mm least count 0.01 mm ,Carbide Tipped Measuring Faces.	Turner	1	3000	3000	Compertive Bidding & E Shopping L-
151	Vernier Bevel Protractor	42	300 mm blade with NABL Accredited lab. Certificate	Turner	4	3500	14000	Compertive Bidding & E Shopping L-
152	Vernier Micrometer	43	0 - 25 mm o/s LC 0.001mm with NABL Accredited lab. Certificate	Turner	2	4500	9000	Compertive Bidding & E Shopping L-
153	Vernier Micrometer	44	25 - 50 mm outside Least Count 0.001mm with NABL Accredited lab. Certificate	Turner	2	4500	9000	Compertive Bidding & E Shopping L-
154	Vernier Micrometer	45	0 inch to 1 inch. Outside Least Count 0.001 inch with NABL Accredited lab. Certificate	Turner	2	4500	9000	Compertive Bidding & E Shopping L-
155	Gauge -Radius set	47	1 mm to 25 mm by 0.5mm	Turner	2	500	1000	Compertive Bidding & E Shopping L-
156	Vernier Height Gauge	52	0-300 mm , L C =0.02 mm with NABL Accredited lab. Certificate	Turner	1	4500	4500	Compertive Bidding & E Shopping L-

157	Magnifying Glass	54	75 mm with magnifying factor 10X	Turner	3	200	600	Compertive Bidding & E
158	Plain Ring and Plug Gauge	55	Plain Ring and Plug Gauge 12 to 50 mm by 1mm Make stainees steel	Turner	1	300	300	Shopping L-1 Compertive Bidding & E
159	Wheel Dresser Diamond	57	Wheel Dresser Diamond (inserted-	Turner	2	500	1000	Shopping L-1 Compertive
			0.75 or 1 Carat) made of cast iron, Length 150mm					Bidding & E Shopping L-1
160	Screw Thread micrometer	58	Screw Thread micrometer (0-	Turner	1	5000	5000	Compertive
	interchangeable		25mm)interchangeablemake Material Type Carbide					Bidding & E Shopping L-1
161	Morse Taper Plug & Ring Gauge	59	Morse Taper Plug & Ring Gauge no.	Turner	1	4900	4900	Compertive
	(no. 0 to 7 MT quality material like tungsten-based oil-hardened &		0 to 7 MT quality material like tungsten-based oil-hardened &					Bidding & E Shopping L-1
102	non-shrinking steel) Sin Bar with centers	<u> </u>	non-shrinking steel	Turner		4500	0000	
162	Sin Bar with centers	60	200 mm	Turner	2	4500	9000	Compertive Bidding & E Shopping L-1
163	Slip Gauge metric set	61	(87 pieces in a Box) with workshop grade	Turner	2	5000	10000	Compertive Bidding & E
164	Tan 8 Dia Sat	68	Metric -3 to 24 mm	Turner	2	7000	14000	Shopping L-1
104	Tap & Die Set	68	Metric -3 to 24 mm	Turner	2	7000	14000	Compertive Bidding & E
105	Daving Tool holder	76	Common tool hit	Turner	15	300	4500	Shopping L-1
165	Boring Tool holder	70	6 mm sq. tool bit	Turner	15	300	4500	Compertive Bidding & E
100	Chainlean ata al mula 200 mars		Chandend Charl Dula of 200 mm	T	45		1200	Shopping L-1
166	Stainless steel rule 300 mm	77	Standard Steel Rule of 300 mm Length ,both side marking in inches	Turner	15	80	1200	Compertive Bidding & E
	a		.cm & mm					Shopping L-1
167	Oil Can	78	½ pint (pressure feed system)	Turner	6	150	900	Compertive Bidding & E
								Shopping L-1
168	Dog Carrier	79	25, 50 and 75 mm	Turner	12	250	3000	Compertive Bidding & E
								Shopping L-1
169	Angle Plate	80	Adjustable -150x175x250mm	Turner	2	3600	7200	Compertive
								Bidding & E Shopping L-1
170	Spirit Level	81	0.05 mm/ 200 mm	Turner	2	2000	4000	Compertive
								Bidding & E Shopping L-1
171	Combination Drill / Centre Drill	83	A3,A4 & A5	Turner	1	1800	1800	Compertive
	(A3,A4 & A5)							Bidding & E Shopping L-1
172	Oil Stone	84	12 mm sq. x 100 long fine	Turner	12	90	1080	Compertive Bidding & E
173	Tap Wrench (adjustable)	85	M6,M8,M10,M12, This is	Turner	9	200	1800	Shopping L-1 Compertive
175		00	manufactured using high grade raw materials sourced ,In order to ensure quality, this is stringently tested on various parameters.	Turner	5	200	1000	Bidding & E Shopping L-1
174	Tool Bit assorted sizes on holder	87	Tool Bit assorted sizes on holder make high speed steel	Turner	8	1000	8000	Compertive Bidding & E
175	Machine Vice - Swivel Base	88	100mm. Jaw opening (Heavy	Turner	1	4000	600	Shopping L-1 Compertive
			Duty)Premium quality swiveling					Bidding & E
			milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read					Shopping L-1
176	Spare Grinding Wheel Ajax type	90	0 - 360 degree As per M/C Bore Dia,High-speed	Turner	1	1000	1000	Compertive
	for carbide tool		grinding wheels made in Diamond		_			Bidding & E
177	Angle Gauge for tool grinding	95	or CBN Standard, Angle Gauge for tool	Turner	6	400	2400	Shopping L-1 Compertive
177		55	grinding stainees steel	runner	Ū	400	2400	Bidding & E
178	Hand Chaser	96	M-12 & M-16 (External)	Turner	2	2000	4000	Shopping L-1 Compertive
1/0		50		runici	-	2000	4000	Bidding & E
179	Hand Chaser	97	M-12 & M-16 (Internal)	Turner	2	2000	4000	Shopping L-1 Compertive
		5,						Bidding & E
180	Tool Cemented carbide assorted	99	sets of 12 now.	Turner	1	4000	4000	Shopping L-1 Compertive
100	shaped (External) for steel turning		Sets Cr. 12 How.	. anner				Bidding & E
181	Thread Plug Gauge (M-20 & M-21)	100	M-20 & M-21	Turner	1	6000	6000	Shopping L-1 Compertive
								Bidding & E Shopping L-1
182	Thread Ring Gauge	101	M-20 & M-21	Turner	1	6000	6000	Compertive Bidding & E
183	Machine Chaser (M-12 TO M-21 (Std. Series) to suit on)	102	M-12 TO M-21 (Std. Series) to suit on	Turner	1	4900	4900	Shopping L-1 Compertive Bidding & E
184	Gauge Drill Grinding	104	Standard, Gauge Drill Grinding	Turner	1	300	300	Shopping L-1
104	Gauge Drift Grinning	104	make stainees steel	rumer		500	500	Compertive Bidding & E
185	Magnetic Chuck (150 mm	105	150 mm dia (Circular tuna)	Turner	1	4900	4900	Shopping L-1
103	dia.Circular type)	102	150 mm dia.(Circular type)	ruiller		4500	4300	Compertive Bidding & E
186	Lathe Mandrels (Diff. Types)	106	Contains mandral with success	Turner	1	4900	4900	Shopping L-1
190	Lattie ivialiureis (Diff. Types)	100	Contains mandrel with spacers, three buffs, Tripoli and white	rumer		4900	4900	Compertive Bidding & E
			diamond compounds and		1			Shopping L-1

187	Conventry Type Die Head (Self opening)	107	1/4" to 1" (Threading Capacity)3/8" to 11/2" Cutting Die Head as comparison to	Turner	1	4800	4800	Compertive Bidding & E Shopping L-1
188	Collapsible Tap with attachment	108	Coventry type self opening Die Hea The tripod socket is now part of the body, not simply attached to	Turner	2	4500	9000	Compertive Bidding & E
189	Fire buckets	109	the removable Collapsible M Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Turner	2	600	11000	Shopping L-1 Compertive Bidding & E Shopping L-1
190	Bore dial gauge stems	110	12 to 35 mm, 35 to 65 mm., dial gauge indicator of 0.01 accuracy.	Turner	1	4500	4500	Compertive Bidding & E
191	Tool holders	119	CNC Grooving tools (External & Internal) as per one trainer tool holder specification.[specification as per Annex -A & A (1)]	Turner	1	5000	5000	Shopping L-1 Compertive Bidding & E Shopping L-1
192	Digimatic Electronic Vernier Caliper	121	inch and mm 8"/200 mm. LCM 0.005"/0.001 mm	Turner	2	4500	9000	Compertive Bidding & E
193	Digimatic electronic outside Micrometer	122	(0 to 25 mm & 25 to 50 mm) LC 0.001MM	Turner	1	5000	5000	Shopping L-1 Compertive Bidding & E Shopping L-1
194	Dial Vernier Caliper with metric	41	System of Measurement Inch/Metric Material Type Stainless Steel Manufacturer Series Number 530 Series Specific Uses For Product Depth, Inside, Outside, Step Tip Description Standard (Stainless Steel, Readout: 0.01mm; 0.02mm.Measuring range: 0-200, Satin chrome plated,)	Turner	6	4900	29400	Compertive Bidding & E Shopping L-1
195	Tool Bits	75	12*150 mm make with High Speed Steel Tool Bits	Turner	15	2000	30000	Compertive Bidding & E Shopping L-1
196	Power saw machine – hydraulic feed system	116	Saw head unit is supported by two rigid hard- chrome plated & ground vertical columns, which are guided by self lubricated bushes. The blade is guided by bearings & carbide wear pads. The blade can be tightened and released hydraulically. The blade is hydraulically tightened up to recommended tensile strength of the saw blade. The saw is driven by sufficient drive power to cut	Turner	1	65000	65000	Compertive Bidding & E Shopping L-1
197	CNC lathe/CNC turn Centre with minimum specification as:	117	Machine Capacity: a. Swing over bed units mm-350 or higher,Turning diameter units mm- 135 or higher,Distance between centres units mm-250 or higher, Maximum Turning Length units mm-200 or higher,Slant angle (bed or saddle) degrees 30 to horizontal or higher,Cast Iron grade for bed and saddle Grade 25 or equivalent,Machine weight net kg 1500 or higher,Spindle nose A2-4 / A2-5,Bore through Spindle mm 35 or higher,Maximum spindle speed RPM 4000 or higher,Spindle power, continuous KW 3.7 or higher,Minimum spindle speed @ full power RPM 1200 or lower,Type of drive AC servo spindle motor (digital),Chuck size MM 135 or higher,Chuck type 3-jaw hydraulic, Hydraulic Power operated,Spindle bearing class P4 class,Front Bearing Dia. (ID)MM 60 or higher,AXES X - axis Travel MM 100 or higher,Programmable feed rate- X & Z mm/min 10 - 10000,Minimum programmable command -X & Zmm 0.001,Rapid	Turner	1	1400000	1400000	Compertive Bidding & E Shopping L-1

198	a) Simulator	118	with safety compliance 1 No.MAKES OF CRITICAL MACHINE TOOL COMPONENTS Linear Motion Guideways HIWIN/THK/PMI/STAR, Ball Screws HIWIN/THK/TSUBAKI/PMI/STAR/H MT/NSK,Spindle Bearings RHP/NSK/FAG/SKF/NRB,Turret PRAGATI/BARUFFALDI/SAUTER/DU PLOMATIC,Hydraulic Chuck & Cylinder GMT/KITAGAWA/AIRTECH/PRAGA TI/ROHM,Hydraulic Power Pack YUKEN/FLUID/REXROTH,Panel AC WERNER FINLEY/RITTAL/LEXTECNOID,Stabili zer NEEL/SERVOMAX/CONSUL/FARMA X/EQUIVALENT,Lubrication CENLUBE/DROPCO/EQUIVALENT,C oolant Pump RAJAMANE/GRUNDFOS,Cutting tools and holders SANDVIK/TAEGUTEC/KENNAMETA L/SECO/ISCAR/MITSUB ISHI,Cutting tools & tool holders,1. External turning holder, insert type, MWLNL : Qty 1st Year -2, 3Years-4, Inserts- WNMG, Qty 1st Year -20, 3Years- 40, 2. External turning holder,	Turner		600000	60000	Compertive Bidding & E Shopping L-1
133	b) Desktop Computer	118	Intel i5 & i7 processor(3.4 GHz, 8 MB Cache with 8GB RAM, 1 TB harddisk, wi-fi enabled, USB optical mouse, 15"LED Screen, Standard ports and connectors, DVD Writer, inbuilt Speakers and Mic. with web camera with preloaded licensed window 8.1 or latest operating system and latest internet security input. preloaded licensed latest version MS Office.			600000	600000	Compertive Bidding & E Shopping L-1
200	Measuring Steel Tape	1.	steel tape 5m length made of stainless steel I.S.I Mark	Electrician	42	150	6300	Compertive Bidding & E
201	Combination Plier Insulated	2.	Combination plier 200 mm made of alloy steel, tempered mouth	Electrician	34	130	4420	Shopping L-1 Compertive Bidding & E
			with non slip plastic handle ISI Marked					Shopping L-1
202	Screw Driver Insulated	3.	4mm X 150 mm, Diamond Head made of alloy steel, tip tempered, insulated stim, with plastic handle. ISI Marked	Electrician	42	80	3360	Compertive Bidding & E Shopping L-1
203	Screw Driver Insulated	4.	6mm X 150 mm made of alloy steel, tip tempered, insulated stim, with plastic handle. ISI Marked	Electrician	8	70	560	Compertive Bidding & E Shopping L-1
204	Electrician screw driver thin stem insulated handle	5.	4mm X 100 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	17	35	595	Compertive Bidding & E Shopping L-1
205	Heavy Duty Screw Driver insulated	6.	5mm X 200 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	7	90	630	Compertive Bidding & E Shopping L-1
206	Electrician Screw Driver thin stem insulated handle	7.	4mm X 250 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	8	125	1000	Compertive Bidding & E Shopping L-1
207	Punch Centre	8.	9mm X 150 mm ISI Marked	Electrician	8	75	600	Compertive Bidding & E
208	Knife Double Bladed Electrician	9.	Electrician's double blade knife 100mm, Nickle plated, ISI Marked	Electrician	25	90	2250	Shopping L-1 Compertive Bidding & E Shopping L-1
209	Neon Tester	10.	500 V ac/dc voltage supply ISI Marked	Electrician	10	35	350	Compertive Bidding & E
210	Steel Rule Graduated both in Metric and English Unit	11.	300 mm stainless steel with precision of 1/4th mm ISI Marked	Electrician	10	35	350	Shopping L-1 Compertive Bidding & E
211	Hammer, cross peen with handle	12.	250 grams, with wooden handle ISI Marked	Electrician	17	120	2040	Shopping L-1 Compertive Bidding & E
212	C- Clamp	15.	200 mm and 100 mm ISI Marked	Electrician	2 each	1500	1500	Shopping L-1 Compertive Bidding & E
213	Spanner Adjustable drop forged, SS	16.	150 mm & 300mm ISI Marked	Electrician	1-300mm	200	200	Shopping L-1 Compertive Bidding & E

214	Pully Puller with 3 legs	23.	150 mm & 300mm ISI Marked	Electrician	1- 150mm	250	250	Compertive Bidding & E
215	Bearing Puller (inside and outside)	24.	200 mm ISI Marked	Electrician	1-inside	250	250	Shopping L-1 Compertive Bidding & E
210	Caiacour blada. CC	20	200mmISI Marked	Fleatsien		80	220	Shopping L-1
216	Scissors blade, SS	20.	200mmISI Marked	Electrician	4	80	320	Compertive Bidding & E
247	Colorena blada. CC	27	450 mm ICI Manhad	Els stuisies	2	60	120	Shopping L-1
217	Scissors blade, SS	27.	150 mm ISI Marked	Electrician	2	60	120	Compertive Bidding & E
210				Els stuisies		500	1000	Shopping L-1
218	Crimping Tool	28.	1.5 sq mm to 16 sq mm Multi function non ratcheting Crimper Tool with soft comfort grips made from hardened steel, 4 functions in one tool, crimping insulated terminal 1.5/2.5/6.0mm square, Non insulated terminals 1.5 to 4.6 mm square, Bold shearing 2.6-5 mm., wire stripper 0.75 to 6mm ISI Marked	Electrician	2	500	1000	Compertive Bidding & E Shopping L-1
			16 sq mm to 95 sq mm Multi function non ratcheting Crimper Tool with soft comfort grips made from hardened steel, 4 functions in one tool, crimping insulated terminal, Non insulated terminals, Bold shearing, wire stripper ISI Marked	Electrician	2	1200	2400	Compertive Bidding & E Shopping L-1
219	Wire Cutter and Stripper	29.	150 mm ISI Marked	Electrician	4	600	2400	Compertive Bidding & E Shopping L-1
220	Hacksaw frame	32.	Adjustable 300 mm Fixed 150 mm ISI Marked	Electrician	2-fixed 150mm	125	250	Compertive Bidding & E Shopping L-1
221	Outside Calliper	34.	150 mm spring type ISI Marked	Electrician	2	150	300	Compertive Bidding & E
222	Inside Calliper	35.	150 mm spring type ISI Marked	Electrician	2	150	300	Shopping L-1 Compertive Bidding & E
223	Divider	36.	150 mm spring type ISI Marked	Electrician	2	150	300	Shopping L-1 Compertive Bidding & E
224	Pliers long nose insulated	37.	150 mm PVC Insulated ISI Marked	Electrician	4	150	600	Shopping L-1 Compertive Bidding & E Shopping L-1
225	Plane cutters	45.	50 mm X 200mm ISI Marked	Electrician	2	1000	2000	Compertive Bidding & E Shopping L-1
226	Smoothing cutters	46.	50 mm X 200mm ISI Marked	Electrician	2	1000	2000	Compertive Bidding & E Shopping L-1
227	Gauge, wire imperial stainlees steel marked in SWG & mm	47.	Wire Gauge - Metric Stainless Steel ISI Marked	Electrician	1	250	250	Compertive Bidding & E Shopping L-1
228	De soldering Gun	56.	Heat proof nozzle, PVC type, 250mm	Electrician	4	80	320	Compertive Bidding & E Shopping L-1
229	Table Vice	58.	100 mm jaw ISI Marked	Electrician	6	1000	6000	Compertive Bidding & E Shopping L-1
230	Oil Can	59.	250 ml Heavy duty M.S.body oil can with good spring lever, Standard Quality	Electrician	2	100	200	Compertive Bidding & E Shopping L-1
231	Contactor & auxiliary contacts	60.	3 phase, 415 Volt, 25 Amp with 2 NO and 2 NC, ISI Marked	Electrician	2	1200	2400	Compertive Bidding & E Shopping L-1
232	Contactor & auxiliary contacts.	61.	3 phase, 415 volt, 32 Amp with 2 NO and 2 NC, ISI Marked	Electrician	2	1400	2800	Compertive Bidding & E Shopping L-1
233	Rotary Switch		16 A/440v ISI Marked	Electrician	1	80	80	Compertive Bidding & E Shopping L-1
234	Relay- a. Cut out Relays b. Reverse current c. Over current d. Under voltage	64.	a. 16A, 440V b. 16A, 440V c. 16A, 440V d. 360V-440V ISI Marked	Electrician	2 no. eacł	4000	8000	Compertive Bidding & E Shopping L-1
235	Pin Type, shackle type, egg type & suspension type insulators including hardware fitting	65.	for 11 kv	Electrician	2 no. eacl	2000	4000	Compertive Bidding & E Shopping L-1
236	Load Bank (Lamp / heater Type)	69.	6 KW, 3Ph ISI Marked	Electrician	1	3500	3500	Compertive Bidding & E Shopping L-1
237	Brake Test arrangement with two spring balance rating	70.	0 to 25 kg	Electrician	1	1500	1500	Compertive Bidding & E
238	Laboratory Type Induction Coil	71.	1000 W 6 V to 800-10000V Magnetic flux meter ISI Marked	Electrician	2	2000	4000	Shopping L-1 Compertive Bidding & E Shopping L-1
239	Knife Switch DPDT fitted with fuse terminals	75.	16 Amp ISI Marked	Electrician	4	400	1600	Compertive Bidding & E Shopping L-1

	Knife Switch TPDT fitted with fuse terminals	76.	16 Amp/ 440 V ISI Marked	Electrician	4	550	2200	Compertive Bidding & E
a				FI · · · ·				Shopping L-1
241	Earth Plate	78	60cm X 60cm X 3.15mm Copper Plate	Electrician	1 each	1500	1500	Compertive
		70.	60cm X 60cm X 6mm GI Plate					Bidding & E Shopping L-1
242	Earth Electrode	79.	Primary Electrode	Electrician	1	1000	1000	Compertive
			2100x28x3.25mm					Bidding & E
			Secondary Cu Strip 20x5mm					Shopping L-1
243	МССВ	80.	100Amps, Triple pole, 500V, ISI	Electrician	1	2200	2200	Compertive
			Marked					Bidding & E
								Shopping L-1
244	ELCB and RCCB	81.	25Amps, double pole and 25Amps,	Electrician	1 each	2700	5400	Compertive
			double pole, I Δ n 30 mA, ISI Marked					Bidding & E
								Shopping L-1
245	Fuses	82.	HRC, 16 Amp. ISI Marked	Electrician	4	300	1200	Compertive
								Bidding & E
246			Glass, 6 Amp	Electrician	4	30	120	Shopping L-1 Compertive
240			Rewire Type, 6 Amp	Liectifician	-	50	120	Bidding & E
			Rewire Type, o Amp					Shopping L-1
247	Bus bar with brackets	89.	1 mtr each, 4 copper strips, 100	Electrician	3	3000	9000	Compertive
_ , ,	bus but with brackets	05.	amp, 440 V ISI Marked	Licetheidh	5	5000	5000	Bidding & E
			ump, 440 v Ior Markea					Shopping L-1
248	Rubber mat	90.	2' x 4' x 1"	Electrician	2	300	600	Compertive
								Bidding & E
								Shopping L-1
249	Electrician Helmet	91.	Yellow Colour, ISI Marked	Electrician	2	200	400	Compertive
								Bidding & E
_					\downarrow			Shopping L-1
250	RCC Pole with accessories (MS	92.	6 Mtr, with accessories (MS angle	Electrician	1	4000	4000	Compertive
	angle		iron, 'C' clamp, stay insulator etc.)					Bidding & E
	iron, 'C' clamp, stay insulator etc.)		and materials					Shopping L-1
	and materials							
25.5	Cofete Dell		Chandender IV. 1913 5. 1	FL			4500	C C C C C C C C C C
251	Safety Belt	93.	Standard quality, ISI Marked	Electrician	2	750	1500	Compertive
								Bidding & E
252	Ohm Master Carica Trues & Church	04	50/2000 shares and a Deutskie self	Els stuisis a			45.00	Shopping L-1
252	Ohm Meter; Series Type & Shunt	94.	50/2000-ohm analog, Portable self	Electrician			4500	Compertive
	Type, portable box type		contained, battery					Bidding & E
			operated, moving coil type, anti parallax mirror scale and knife					Shopping L-1
			edge pointer,accuracy+-5%of the indicated value at centre scale		2 no. eacl	1500		
253	Digital Multi Meter		DC 200mv -1000v,0 – 10A & AC	Electrician			5400	Compertive
	5	95.	200mv- 750v , 0-10A, resistance 0-					Bidding & E
		95.	20					Shopping L-1
			MQ and $3 1/2$ digit		12	450		
254	A.C. Voltmeter M.I. analog,	96.	Multi range 75 V - 150V - 300V -	Electrician			6000	Compertive
	portable box type housed in		600V Portable laboratory type					Bidding & E
	Bakelite case		A.C. voltmeter house in bakelite					Shopping L-1
			Body dial scale 150 mm with knife					
			edge Pointer & antiparallex mirror					
			Accuracy – 1 % Make- Any reputed					
			company having ISO certrtification,		3	2000		
255	Milli Voltmeter centre zero analog.		company having ISO certrtification,	Electrician	3	2000	2000	Compertive
255	Milli Voltmeter centre zero analog, portable box type housed in		company having ISO certrtification,	Electrician	3	2000	2000	Compertive Bidding & E
255	•••		company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable	Electrician	3	2000	2000	
255	portable box type housed in	97.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter	Electrician	3	2000	2000	Bidding & E
255	portable box type housed in	97.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.),	Electrician	3	2000	2000	Bidding & E
255	portable box type housed in	97.	company having ISO certrtification, <u>ISI Markod</u> 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150	Electrician			2000	Bidding & E
	portable box type housed in Bakelite case	97.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod		3	2000		Bidding & E Shopping L-1
	portable box type housed in Bakelite case Ammeter MC analog, portable box		company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>V ISI Markod</u> 0 - 500 mA, 0-5 A, 0-25 A	Electrician			2000	Bidding & E Shopping L-1 Compertive
	portable box type housed in Bakelite case		company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>V ISI Markod</u> 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer					Bidding & E Shopping L-1 Compertive Bidding & E
	portable box type housed in Bakelite case Ammeter MC analog, portable box		company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>9/161 Markod</u> 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy –		2	1000		Bidding & E Shopping L-1 Compertive
256	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case	98.	company having ISO certrtification, <u>ISI Markod</u> 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>% ISI Markod</u> 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %	Electrician			4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
256	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable	98.	company having ISO certrtification, <u>ISI Markod</u> 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>% ISI Markod</u> 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A		2	1000		Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case	98.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer	Electrician	2	1000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
256	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable	98.	company having ISO certrtification, <u>ISI Markod</u> 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 <u>% ISI Markod</u> 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A	Electrician	2	1000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
256 257	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable	98. 99.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy –	Electrician	2 2 no. eact	2000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
256 257	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case	98. 99.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %	Electrician Electrician	2 2 no. eact	2000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
256 257	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case	98. 99. 101.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 V ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked	Electrician Electrician Electrician	2 2 no. eact	2000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
256 257 258	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case	98. 99. 101.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %	Electrician Electrician	2 2 no. eact 2 no. eact	2000	4000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
256 257 258	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter	98. 99. 101.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 V ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked	Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 no. eact	1000 2000 2000 1000	4000 4000 2000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
256 257 258 259	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter	98. 99. 101. 102.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked	Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact	2000	4000 4000 2000 1600	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
256 257 258 259	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter	98. 99. 101. 102.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 V ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V	Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 no. eact	1000 2000 2000 1000	4000 4000 2000	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
256 257 258	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter	98. 99. 101. 102.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % 2 30 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked	Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2	1000 2000 2000 1000 800	4000 4000 2000 1600	Bidding & E Shopping L-1 Compertive Bidding & E
2556 2557 2558 2559 260	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter	98. 99. 101. 102. 103.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked	Electrician Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 no. eact	1000 2000 2000 1000	4000 4000 2000 1600 3600	Bidding & E Shopping L-1 Compertive Bidding & E
256 257 258 259 260	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter	98. 99. 101. 102. 103.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked 440 V, 20 A, Three Phase	Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2	1000 2000 2000 1000 800	4000 4000 2000 1600	Bidding & E Shopping L-1 Compertive Bidding & E
256 257 258 259	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter	98. 99. 101. 102. 103.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 % ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked	Electrician Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2 2	1000 2000 2000 1000 800 1800	4000 4000 2000 1600 3600	Bidding & E Shopping L-1 Compertive Bidding & E
255 257 258 259 260 261	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter Power Factor Meter Digital	98. 99. 101. 102. 103. 104.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked 440 V, 20 A, Three Phase portable box type ISI Marked	Electrician Electrician Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2	1000 2000 2000 1000 800	4000 4000 2000 1600 3600 5000	Bidding & E Shopping L-1 Compertive Bidding & E
255 257 258 259 260 261	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter	98. 99. 101. 102. 103. 104.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked 440 V, 20 A, Three Phase portable box type ISI Marked 0-500 tesla, input = 240v , 50 c/s ,	Electrician Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2 2	1000 2000 2000 1000 800 1800	4000 4000 2000 1600 3600	Bidding & E Shopping L-1 Compertive Bidding & E
2556 2557 2558 2559 260 261	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter Power Factor Meter Digital	98. 99. 101. 102. 103. 104.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked 440 V, 20 A, Three Phase portable box type ISI Marked	Electrician Electrician Electrician Electrician Electrician Electrician	2 no. eact 2 no. eact 2 no. eact 2 2 2 2	1000 2000 2000 1000 800 1800 2500	4000 4000 2000 1600 3600 5000	Bidding & E Shopping L-1 Compertive Bidding & E
2556 2557 2559 2600 261 262	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter Power Factor Meter Digital Magnetic Flux Meter	98. 99. 101. 102. 103. 104. 106.	company having ISO certrtification, IGL Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ IGL Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5 % 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked 440 V, 20 A, Three Phase portable box type ISI Marked 0-500 tesla, input = 240v , 50 c/s , 25 amp. ISI Marked	Electrician Electrician Electrician Electrician Electrician Electrician Electrician	2 2 no. eact 2 no. eact 2 2 2	1000 2000 2000 1000 800 1800	4000 4000 2000 1600 3600 5000 4400	Bidding & E Shopping L-1 Compertive Bidding & E
255 257 258 259 260	portable box type housed in Bakelite case Ammeter MC analog, portable box type housed in Bakelite case AC Ammeter MI, analog, portable box type housed in Bakelite case Digital Wattmeter A.C. Energy Meter A.C. Energy Meter Power Factor Meter Digital	98. 99. 101. 102. 103. 104. 106.	company having ISO certrtification, ISI Markod 100 – 0 – 100 mV Portable laboratory type Milli volt meter center zero (100-0-100 M.V.) , house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5 %/ ISI Markod 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 0.5% 230 V, 1 KW, 50 Hz ISI Marked Single Phase, 10A, 240V induction type ISI Marked Three Phase, 15A, 440V induction type, ISI Marked 440 V, 20 A, Three Phase portable box type ISI Marked 0-500 tesla, input = 240v , 50 c/s ,	Electrician Electrician Electrician Electrician Electrician Electrician	2 no. eact 2 no. eact 2 no. eact 2 2 2 2	1000 2000 2000 1000 800 1800 2500	4000 4000 2000 1600 3600 5000	Bidding & E Shopping L-1 Compertive Bidding & E

264	Tong Tester / Clamp Meter		0 - 100 A (Digital Type) Digital clamp meter 0-100amp. multi range & voltage 0-300-600 volt case superior grade bakelite body with selector switch scale the reading should be obtained simply by clipping wire /cable without disconnect Make-any reputed company having ISO Certification,Digital type clamp meter,3 ¾ Digit LCD Display AC/DC TRMS Clamp On Meter + Multimeter with set of Leads ISI	Electrician	1	1000	1000	Compertive Bidding & E Shopping L-1
265	Megger	111.	Analog 500 volts ,0 to infinty Mega ohm ISI Marked	Electrician	1	1500	1500	Compertive Bidding & E Shopping L-1
266	Phase Sequence Indicator	116.	3 Phase, 415 V ISI Marked	Electrician	2	1000	2000	Compertive Bidding & E Shopping L-1
267	Function Generator	120.	2 to 200 KHz, Sine, Square, Triangular 220 V, 50 Hz, Single Phase ISI Marked	Electrician	1	17000	17000	Compertive Bidding & E Shopping L-1
268	Temperature controlled Soldering Iron	122.	50 Watt, 230 Volt, ISO Company	Electrician	2	5500	11000	Compertive Bidding & E Shopping L-1
269.	Discrete Component Trainer	123.	Discrete Component (for diode and transistor circuit) with regulated power supply +5,0- 5 V,+12,0-12 V IC based DC Reg. Power Supplies : .Veroboard : Unique veroboard type socket with termination for use of external components I IC's up to 20 pin without soldering.Potentiometer : Three Potentiometers (1K,1OK and IOOK) with terminations.Speaker : One 8 ohms miniature speaker with terminations.Relay : One 1 2V I 1 C. 0. relay with terminations.Power ON : Power ON switch with indicator for mains on indication and fuse for protection.Patch Cords : Set of 20 assorted coloured multi-stand wires with 2 mm termination at both ends.Power : 230V 10% single phase AC. RequirementInstruction Manual : One detailed instruction manual with well thought out experiments covering the above topics.	Electrician	2	12000	24000	Compertive Bidding & E Shopping L-1
270.	Linear I.C. Trainer	124.	Linear I.C. Trainer with regulated power supply 1.2V to 15V PIC socket 16pin and 20 pin with bread board 500mABreadboard : Breadboard for making various circuits & testing them. Function Generator, Operating modes : Sine, Square, Triangular Frequency Range Modulation / Audio Generator : 1Hz to 100KHz Operating modes : Sine, Square, Triangular , Frequency Range : 1Hz to 10KHz , Signal Analyser , Input : Two channels with bandwidth of 20KHz and Input Amp of 20mV to 1V. Display Mode : Time & Frequency Domain with automatic measurement of voltage and frequency of input signal. Utility : Save, Load, Print waveform facility. PC Interface : Through Sound Card. Continuity tester : For testing the continuity, Provided with beeper sound. Interconnection for Modules : 2mm Patch cords.Power requirements : 220V ± 10% 50Hz.Weight : 3.5 Kg (Approx.).Accessories Included : Mains Cord, Jack socket to connect	Electrician	1	6500	6500	Compertive Bidding & E Shopping L-1

	Digital I.C. Trainer	125.	Digital I.C. Trainer 7 segment display	Electrician	1	6500	6500	Compertive Bidding & E
			and bread board Switches, Diode Logic (DL) Circuit, Resistor - Transistor Logic (RTL) Circuit,					Shopping L-1
			Diode - Transistor Logic (DTL)					
			Circuit, Transistor - Transistor Logic					
			(TTL) Circuit.IC based DC Regulated Power supplies a. + / -					
			5V DC / 0.3 A b. + 12V DC / 0.3 A c.					
			0 to + 15V DC /.5A Continuously					
			variableSignal Generator : All					
			Signal generator has independent and simultaneous TTL and CMOS					
			level output terminals. CMOS level					
271.			output range from 0 to +15V and is					
			controlled from the voltage adjustment knob of the adjustable					
			DC Power supply.Standard					
			Frequency generator: : Frequency :					
			1MHz, 50Hz, 1Hz Fanout : 10 TTL					
			load.Clock Signal Generator : Frequency : 1Hz to 1MHz in six					
			ranges.Line Signal Generator					
			Frequency : 50Hz; Output Voltage :					
			6V rmsData Switches i. 2 x 8 bit DIP switch , 16 bit TTL level output.ii. 4					
			x Toggle switch each with					
			debounce circuit.Pulsar Switch : 2					
			sets of independent control		\downarrow			-
272.	a. Electric Induction plate	126.	a. 1500 Watt, 240V ISI Marked	Electrician	1	2200	2200	Compertive Bidding & E
		4						Shopping L-1
273.	e. A.C. Ceiling Fan and AC Table		e. 68 Watt, 230 V ISI Marked	Electrician	1-Table Fa	1500	1500	Compertive
	Fan							Bidding & E Shopping L-1
274.	f. Geyser (Storage type)		f. 10 litre ISI Marked	Electrician	2	3500	7000	Compertive
								Bidding & E
275.	g. Mixture & Grinder		g. 750 W, 240 V ISI Marked	Electrician	1	1400	1400	Shopping L-1 Compertive
	-		_					Bidding & E
276	h. Washing Machine Semi	_	h. 5 Kg, ISI Marked	Electrician	1	10000	10000	Shopping L-1 Compertive
270.	Automatic		n. 5 kg, 151 Markeu	Electrician	1	10000	10000	Bidding & E
								Shopping L-1
277.	Oil Testing Kit	127.	Oil Testing Kit 230 V, single phase 50	Electrician	1	18000	18000	Compertive Bidding & E
			Hz 60 VA output 0-60 KV Variable,					Shopping L-1
			ISI Marked			10000		
278.	Inverter with Battery		1 KVA with 12 V Battery Input- 12 volt DC,	Electrician	1	18000	18000	Compertive Bidding & E
		128	Output- 220 volt AC					Shopping L-1
		1101	1 KVA, (MOSFET Tech).with tuboler					
			battery of 12V 13plates 165amp,					
279.	DC Power Supply	130.	0 - 30 V, 5 A current capacity, ISI	Electrician	1	4000	4000	Compertive
			Marked					Bidding & E Shopping L-1
280.	Battery Charger	131.	0 - 6 - 9 - 12 - 24 - 48 V, 30amp	Electrician	1	2500	2500	Compertive
			Current controlled					Bidding & E
281.	Potential Transformer	133	415 V, 50Hz, PT Ratio, 440V/110V,	Electrician	2	5000	10000	Shopping L-1 Compertive
			10VA, ISI Marked			2000		Bidding & E
202	Solar nanol with Battom	124	19 Watt with 131/ hattam: !	Electrician	1	2000	2000	Shopping L-1
282.	Solar panel with Battery	134.	18 Watt, with 12V battery, iso certified company	Electrician		2000	2000	Compertive Bidding & E
								Shopping L-1
283.	Ink jet/ laser printer	136.	Inkjet Printer with ink tank/laser	Electrician	1	7000	7000	Compertive
			printer 14 PPM					Bidding & E Shopping L-1
284.	Working Bench	164.	2.5 m x 1.20 m x 0.75 m	Electrician	2	5000	10000	Compertive
								Bidding & E Shopping L-1
285.	Metal Rack	168.	100cm x 150cm x 45cm	Electrician	3	2500	7500	Compertive
			(5 rack minimun) 12 gauge steel					Bidding & E
			parts. 20 gauge galvanized steel shelves.					Shopping L-1
286.	Lockers with drawers	1	sneives. 36" x 72" x 20" deep 1,steel	Electrician	2-with 8	3500	7000	Compertive
		100	cabinet,powder coating finish, 2.		drawer			Bidding & E
		169.	18gauge thickness3,Knock down package. Note- with separate					Shopping L-1
			locker kevs					
287.	Fire Extinguisher CO ₂	172.	2 KG Fire extinguishers of size Dry chemical	Electrician	2	3500	7000	Compertive Bidding & E

288.	AC Starters: - a. Resistance type starter b. Direct on line Starter c. Star Delta Starter - Manual d. Star Delta Starter - Semi automatic e. Star Delta Starter - Fully automatic f. Star Delta Starter - Soft starter g. Auto Transformer type	118.	For A.C Motors of 5 H.P. ISI Marked	Electrician	1- Resistan ce Starter 1-Star Delta- Manual 1-Star Delta Semi Auto 1-Star Delta Fully Auto 1-Star Delta Fully Auto 1-Star Delta Soft 1-Auto Transfor	28500	28500	Compertive Bidding & E Shopping L-1
289.	Oscilloscope Dual Trace	119.	20 MHz, Band width 250 MHZRise time 1.4 NS input channel 2 Vertical Resolution 8 bits DC accuracy +3%,-3% Input characteristics one Mohm inparallel with 15 PF input type Single ended , BNC Connector over load protection + 100 V, -100V (DC+ACPeak) Trigger mode normal,	Electrician	1	35000	35000	Compertive Bidding & E Shopping L-1
290.	Pentium IV Computer or latest	135.	i3 11 gen, 2.8 GHz & above, 8 GB RAM, 1TB HDD, DVD Combo Drive, 19/21" LED Monitor, optical scroll mouse, multimedia key board, 32 bit LAN card with UPP port, necessary Drivers, etc. OR	Electrician	2	27000	54000	Compertive Bidding & E Shopping L-1
291.	Measuring Steel Tape	1.	steel tape 5m length made of stainless steel I.S.I Mark	Electrician	42	150	6300	Compertive Bidding & E
292.	Combination Plier Insulated	2.	Combination plier 200 mm made of alloy steel, tempered mouth with non slip plastic handle ISI Marked	Electrician	25	130	3250	Shopping L-1 Compertive Bidding & E Shopping L-1
293.	Screw Driver Insulated	3.	4mm X 150 mm, Diamond Head made of alloy steel, tip tempered,	Electrician	42	80	3360	Compertive Bidding & E Shopping L-1
294.	Screw Driver Insulated	4.	6mm X 150 mm made of alloy steel, tip tempered, insulated stim, with plastic handle. ISI Marked	Electrician	26	70	1820	Compertive Bidding & E Shopping L-1
295.	Electrician screw driver thin stem insulated handle	5.	4mm X 100 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	9	35	315	Compertive Bidding & E Shopping L-1
296.	Heavy Duty Screw Driver insulated	6.	5mm X 200 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	7	90	630	Compertive Bidding & E Shopping L-1
297.	Electrician Screw Driver thin stem insulated handle	7.	4mm X 250 mm made of alloy steel, tip tempered, insulated stim, with plastic handle.ISI Marked	Electrician	30	125	3750	Compertive Bidding & E Shopping L-1
	Punch Centre	8.	9mm X 150 mm ISI Marked	Electrician	17	75	1275	Compertive Bidding & E Shopping L-1
299.	Knife Double Bladed Electrician	9.	Electrician's double blade knife 100mm, Nickle plated, ISI Marked	Electrician	42	90	3780	Compertive Bidding & E Shopping L-1
	Steel Rule Graduated both in Metric and English Unit	11.	300 mm stainless steel with precision of 1/4th mm ISI Marked	Electrician Electrician	21	35	2160	Compertive Bidding & E Shopping L-1
	Hammer, cross peen with handle C- Clamp	12.	250 grams, with wooden handle ISI Marked 200 mm and 100 mm ISI Marked	Electrician	2 each	750	1500	Compertive Bidding & E Shopping L-1 Compertive
	-							Bidding & E Shopping L-1
	Spanner Adjustable drop forged, SS	16.	150 mm & 300mm ISI Marked	Electrician	2-300mm		800	Compertive Bidding & E Shopping L-1
304.	Pully Puller with 3 legs	23.	150 mm & 300mm ISI Marked	Electrician	2- 150mm 1- 300mm	250 400	900	Compertive Bidding & E Shopping L-1
305.	Bearing Puller (inside and outside)	24.	200 mm ISI Marked	Electrician	1-inside	250	250	Compertive Bidding & E Shopping L-1
306.	Scissors blade, SS	26.	200mm ISI Marked	Electrician	4	80	320	Compertive Bidding & E Shopping L-1
307.	Scissors blade, SS	27.	150 mm ISI Marked	Electrician	2	60	120	Compertive Bidding & E

308.			1.5 sq mm to 16 sq mm Multi	Electrician	2	500	1000	Compertive
			function non ratcheting Crimper					Bidding & E
			Tool with soft comfort grips made					Shopping L-1
			from hardened steel, 4 functions in					Bidding & E Shopping L-1400Compertive Bidding & E Shopping L-1500Compertive Bidding & E Shopping L-1500C
			one tool, crimping insulated					
			terminal 1.5/2.5/6.0mm square,					
			Non insulated terminals 1.5 to 4.6					Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
			mm square, Bold shearing 2.6-5					
			mm., wire stripper 0.75 to 6mm ISI					
	Crimping Tool	28.	Marked					
			16 sq mm to 95 sq mm Multi	Electrician	2	1200	2400	Compertive
			function non ratcheting Crimper					Bidding & E
			Tool with soft comfort grips made					-
			from hardened steel, 4 functions in					
			one tool, crimping insulated					
			terminal, Non insulated terminals,					
			Bold shearing, wire stripper ISI					
			Marked					
309.	Wire Cutter and Stripper	29.	150 mm ISI Marked	Electrician	4	600	2400	Compertive
								Bidding & E
								Shopping L-1
310.	Hacksaw frame	32.	Adjustable 300 mm	Electrician	2-fixed	125	250	Compertive
			Fixed 150 mm ISI Marked		150mm			Bidding & E
				_				
311.	Divider	36.	150 mm spring type ISI Marked	Electrician	2	150	300	
								U
312.	Pliers long nose insulated	37.	150 mm PVC Insulated ISI Marked	Electrician	4	150	600	
	g nete insurated	27.				100		
								•
313.	Snip Straight and Bent heavy duty	41.	Snip Straight 250 mm made of	Electrician	1-	250	250	
			stainless steel ISI Marked		straight			-
314.	Drill hand brace	43.	0-100mm ISI Marked	Electrician	1	350	350	-
								•
215			2 mm Emmand Comments (2 to	Ela atorial		400	F 40	
315.	Drill S.S. Twist block	44.	2 mm, 5 mm and 6 mm set of 3 ISI Marked	Electrician	3	180	540	-
			Marked					U
316.	Plane cutters	45.	50 mm X 200mm ISI Marked	Electrician	2	1000	2000	
						_000		-
								U
317.	Gauge, wire imperial stainlees	47.	Wire Gauge - Metric Stainless Steel	Electrician	3	250	750	
	steel marked in SWG & mm		ISI Marked					
318.	File flat	48.	200 mm 2nd cut teeth 60 degree	Electrician	1	250	250	
			with PVC handle					-
24.0	File helf or the			F 1			F 6 6	
319.	File half round	49.	File half round 2nd cut 200 mm	Electrician	2	250	500	-
			made of high carbon steel, hard					-
			and tempered with wooden handle.					Shopping L-1
320.	Table Vice	58.	Table vice of size 100mm jaw	Electrician	8	1000	8000	Compertive
			length ISI Marked		_			
			-					Shopping L-1
321.	Oil Can	59.	250 ml Heavy duty M.S.body oil	Electrician	2	100	200	Compertive
			can with good spring lever,					Bidding & E
			Standard Quality					
322.	Contactor & auxiliary contacts	60.	3 phase, 415 Volt, 25 Amp with 2	Electrician	2	1200	2400	-
			NO					-
323.	Contactor & auxiliary contacts.	61.	and 2 NC, ISI Marked 3 phase, 415 volt, 32 Amp with 2	Electrician	2	1400	2800	
J_J.	contactor & auxiliary contacts.	01.	NO			1400	2000	-
			and 2 NC, ISI Marked					-
324.	Relay-	64.	a. 16A, 440V ISI Marked	Electrician	2 no. eacl	4000	8000	
	a. Cut out Relays		b. 16A, 440V ISI Marked			-		-
	b. Reverse current		c. 16A, 440V ISI Marked					-
	c. Over current		d. 360V-440V ISI Marked					
	d. Under voltage		-					-
325.	Pin Type, shackle type, egg type &	65.	For 11 KV	Electrician	2 no. eacl	2000	4000	
	suspension type insulators							•
	including hardware fitting							Shopping L-1
326.	Load Bank (Lamp / heater Type)	69.	6 KW, 3Ph ISI Marked	Electrician	1	3500	3500	Compertive
						5500	2200	
								-
327.	Brake Test arrangement with two	70.	0 to 25 kg	Electrician	1	1500	1500	Compertive
	spring balance rating							Bidding & E
								Shopping L-1
328.	Out Side Micrometer	72.	Outside Micrometer RANGE:0-25	Electrician	2	1500	3000	Compertive
			mm. Least count 0.01mm. Satin-					Bidding & E
			finished chrome frame, tapered (Shopping L-1
			on the anvil side) for hard-to-reach					
			places Carbide-tipped measuring					1
			faces Design to be operated					
			efficiently with one hand					
				Electrician	1	200	200	Compertive
329.	Thermometer Digital	73.	0° C - 150° C Scale, ISI Marked	Licculician	1 1		-	Bidding & E
329.	Thermometer Digital	73.	0° C - 150° C Scale, ISI Marked	Licentelan				Diduling & L
329.	Thermometer Digital	73.	0° C - 150° C Scale, ISI Marked					Shopping L-1
329. 330.	Thermometer Digital Knife Switch DPDT fitted with fuse	73.	0° C - 150° C Scale, ISI Marked 16 Amp ISI Marked	Electrician	4	400	1600	Shopping L-1 Compertive
	_				4	400	1600	Shopping L-1 Compertive Bidding & E
330.	Knife Switch DPDT fitted with fuse terminals	75.	16 Amp ISI Marked	Electrician				Shopping L-1 Compertive Bidding & E Shopping L-1
	Knife Switch DPDT fitted with fuse				4	400	1600 2200	Shopping L-1 Compertive Bidding & E

332.	Earth Plate	78.	60cm X 60cm X 3.15mm Copper Plate	Electrician	1 each	1500	1500	Compertive Bidding & E
333.	Earth Electrode	79.	60cm X 60cm X 6mm GI Plate Primary Electrode	Electrician	1	1000	1000	Shopping L-1 Compertive
			2100x28x3.25mm Secondary Cu Strip 20x5mm					Bidding & E Shopping L-1
334.	МССВ	80.	100Amps, Triple pole ISI Marked	Electrician	1	2200	2200	Compertive Bidding & E
335.	ELCB and RCCB	81.	25Amps, double pole and 25Amps,	Electrician	1 each	2700	5400	Shopping L-1 Compertive
			double pole, IΔn 30 mA ISI Marked					Bidding & E Shopping L-1
336.	Fuses	82.	HRC, 16 Amp. ISI Marked	Electrician	4	300	1200	Compertive Bidding & E
			Glass 6 Amp. Rewire Type 6 Amp.	Electrician	4	30	120	Shopping L-1 Compertive Bidding & E
337.	Rheostat (Sliding type)	83.	0 - 25 Ohm, 2 Amp ISI Marked	Electrician	1-0-	450	900	Shopping L-1 Compertive
			0 - 300 Ohm, 2 Amp ISI Marked 0 -1 Ohm, 10Amp ISI Marked		25ohm 1-0-300			Bidding & E Shopping L-1
338.	Bus bar with brackets	89.	0 -10 Ohm. 5 Amp ISI Marked 1 mtr each	Electrician	ohm 3	3000	9000	Compertive Bidding & E
339.	Rubber mat	90.	2' x 4' x 1"	Electrician	2	300	600	Shopping L-1 Compertive
								Bidding & E Shopping L-1
340.	Electrician Helmet	91.	Yellow Colour ISI Marked	Electrician	2	200	400	Compertive Bidding & E Shopping L-1
341.	RCC Pole with accessories (MS angle	92.	6 Mtr, with accessories (MS angle iron, 'C' clamp, stay insulator etc.)	Electrician	1	4000	4000	Compertive Bidding & E
	iron, 'C' clamp, stay insulator etc.) and materials		and materials					Shopping L-1
342.	Safety Belt	93.	Standard quality, ISI Marked	Electrician	2	750	1500	Compertive Bidding & E
343.	Ohm Meter; Series Type & Shunt	94.	50/2000-ohm analog, Portable self	Electrician	2 no. eacł			Shopping L-1 Compertive
	Type, portable box type		contained,battery operated,moving coil type,anti parallax mirror scale and knife					Bidding & E Shopping L-1
			edge pointer,accuracy+-5%of the indicated value at centre scale.			1500	4500	
345.	A.C. Voltmeter M.I. analog,	95.	200mv- 750v , 0-10A, resistance 0- 20 MΩ and 3 1/2 digit 3 & ½ digit DIGITAL MULTIMETER (Hand Held), 3 ½ digit Multimeter , 3999 Counts, with Digital & Analog bar graph display with ABS system to prevent incorrect connections for protection of DMM, Protections: Voltage protection up to 1000 Volts continuous in Resistance, Diode, Continuity & Temp. range. Fast Acting Fuses for over current and short circuit protection. High Voltage surge protection with Spark Gap arrangement, Measuring Ranges: Voltage: 1000V AC/DC – Over voltage up to 1200V continuous Current: 300 µA to 10 A AC/DC range Fuse Protected, Resistance: 20 M_ or better, Capacitance: 30, µF, Frequency: 100 K Hz or better, Temperature, Diode and Continuity Testing. Duty Cycle, Basic Accuracy 0.25% or better of measured value.	Electrician	12	450	5400	Bidding & E Shopping L-1
J4J.	A.C. Voltmeter M.I. analog, portable box type housed in Bakelite case	JD.	Multi range 75 V - 150V - 300V - 600V Portable laboratory type A.C. voltmeter house in bakelite Body dial scale 150 mm with knife edge Pointer & antiparallex mirror Accuracy – 1 % Make- Any reputed company having ISO certrification,	Lieturitian	3	2000	6000	Bidding & E Shopping L-1
346.	Milli Voltmeter centre zero analog, portable box type housed in		100 – 0 – 100 mV Portable laboratory type Milli volt meter	Electrician				Compertive Bidding & E
	Bakelite case	97.	center zero (100-0-100 M.V.), house in baklite Body dial scale 150 mm with knife edge, Pointer & Anti parallex mirror Accuracy – 0.5		2	1000	2000	Shopping L-1
347.	Ammeter MC analog, portable box type housed in Bakelite case		 KI Marked 0 - 500 mA, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy – 	Electrician		1000	2000	Compertive Bidding & E Shopping L-1
		98.	0.5 % Portable box type housed in					0.100000.002.2

348.	AC Ammeter MI, analog, portable box type housed in Bakelite case	99.	0 - 1 A, 0-5 A, 0-25 A Backlite body,knife edge , Pointer & Anti parallex mirror Accuracy –	Electrician	2 no. eacł	2000	4000	Compertive Bidding & E Shopping L-1
349.	Digital Wattmeter	101.	0.5 % 230 V, 1 KW, 50 Hz ISI Marked	Electrician				Compertive Bidding & E
350.	A.C. Energy Meter	102.	Single Phase, 10 A, 240 V induction type ISI Marked	Electrician	2	1000	2000	Shopping L-1 Compertive Bidding & E Shopping L-1
351.	A.C. Energy Meter	103.	Three Phase, 15 A , 440 V induction type ISI Marked	Electrician	2	1800	3600	Compertive Bidding & E
352.	Power Factor Meter Digital	104.	440 V, 20 A, Three Phase portable box type ISI Marked	Electrician				Shopping L-1 Compertive Bidding & E
353.	Magnetic Flux Meter	106.	0-500 tesla, input = 240v , 50 c/s , 25 amp. ISI Marked	Electrician	2	2500	5000	Shopping L-1 Compertive Bidding & E
354.	Lux meter	107.	lux meter LCD read out 0.05 to 7000	Electrician		2200	2200	Shopping L-1 Compertive Bidding & E
355.	Tachometer	108.	lumens with battery. Analog Type - 10000 RPM ISI Marked	Electrician	2	1300	2600	Shopping L-1 Compertive Bidding & E
356.	Wheat Stone Bridge with galvanometer and battery	114.	The bridge is fully protable with in sensitive galvanometer & dry battery, 4 decadesof 10x1,10x10,10x1000 ohm with	Electrician	1	1000	1000	Shopping L-1 Compertive Bidding & E Shopping L-1
357.	Phase Sequence Indicator	116.	range multinliers ISI Marked 3 Phase, 415 V ISI Marked	Electrician	1	2500	2500	Compertive Bidding & E
358.	Temperature controlled Soldering Iron	122.	50 Watt, 230 Volt ISI/ISO Marked	Electrician	2	1000 5500	2000 11000	Shopping L-1 Compertive Bidding & E
359.	Discrete Component Trainer	123.	Discrete Component (for diode and transistor circuit) with regulated power supply +5,0- 5 V,+12,0-12 V IC based DC Reg. Power Supplies : .Veroboard : Unique veroboard type socket with termination for use of external components I IC's up to 20 pin without soldering.Potentiometer : Three Potentiometers (1K,10K and IOOK) with terminations.Speaker : One 8 ohms miniature speaker with terminations.Relay : One 1 2V I 1 C. 0. relay with terminations.Power ON : Power ON switch with indicator for mains on indication and fuse for protection.Patch Cords : Set of 20 assorted coloured multi-stand wires with 2 mm termination at both ends.Power : 230V 10% single phase AC. RequirementInstruction Manual : One detailed instruction manual with well thought out experiments covering the above topics.	Electrician	2	12000	24000	Shopping L-1 Compertive Bidding & E Shopping L-1
360.	Digital I.C. Trainer	125.	Digital I.C. Trainer 7 segment display and bread board Switches, Diode Logic (DL) Circuit, Resistor - Transistor Logic (RTL) Circuit, Diode - Transistor Logic (DTL) Circuit, Transistor - Transistor Logic (TTL) Circuit.IC based DC Regulated Power supplies a. + / - SV DC / 0.3 A b. + 12V DC / 0.3 A c. 0 to + 15V DC /.5A Continuously variableSignal Generator : All Signal generator has independent and simultaneous TTL and CMOS level output terminals. CMOS level output range from 0 to +15V and is controlled from the voltage adjustment knob of the adjustable DC Power supply.Standard Frequency generator: : Frequency : 1MHz, 50Hz, 1Hz Fanout : 10 TTL load.Clock Signal Generator Frequency : 50Hz; Output Voltage : 6V rmsData Switches i. 2 x 8 bit DIP switch , 16 bit TTL level output.ii. 4 x Toggle switch each with debounce circuit.Pulsar Switch : 2 sets of independent control	Electrician	1	6500	6500	Compertive Bidding & E Shopping L-1

361.	a. Electric Induction plate	126.	a. 1500 Watt, 240V ISI Marked	Electrician	1	2200	2200	Compertive Bidding & E
362.	e. A.C. Ceiling Fan and AC Table Fan		e. 68 Watt, 230 V ISI Marked	Electrician	1 each	3000	3000	Shopping L-1 Compertive Bidding & E
363.	g. Mixture & Grinder		g. 750 W, 240 V ISI Marked	Electrician	1	1400	1400	Shopping L-1 Compertive Bidding & E
364.	h. Washing Machine Semi Automatic		h. 5 Kg, ISI Marked	Electrician	1	10000	10000	Shopping L-1 Compertive Bidding & E
365.	i. Motor Pump set		i. 1 HP, 1 Phase, 240 V ISI Marked	Electrician	1	3500	3500	Shopping L-1 Compertive Bidding & E
366.	Oil Testing Kit	127.	Oil Testing Kit 230 V, single phase 50 Hz 60 VA output 0-60 KV Variable,	Electrician	1	18000	18000	Shopping L-1 Compertive Bidding & E Shopping L-1
367.	Inverter with Battery		ISI Marked 1 KVA with 12 V Battery Input- 12 volt DC,	Electrician	1	18000	18000	Compertive Bidding & E
		128.	Output- 220 volt AC 1 KVA, (MOSFET Tech).with tuboler battery of 12V 13plates 165amp, ISI Marked					Shopping L-1
368.	Potential Transformer	133.	415 V, 50Hz, PT Ratio, 440V/110V, 10VA, ISI Marked	Electrician	1	5000	5000	Compertive Bidding & E Shopping L-1
369.	Solar panel with Battery	134.	18 Watt, with 12V battery, iso certified company	Electrician	1	2000	2000	Compertive Bidding & E Shopping L-1
370.	Ink jet/ laser printer	136.	Inkjet Printer with ink tank/laser printer 14 PPM	Electrician	1	7000	7000	Compertive Bidding & E Shopping L-1
371.	AC Squirrel Cage Motor with star delta starter and triple pole iron clad switch fuse with Mechanical Load.	144.	5 HP, 3-Phase, 415 V, 50 Hz ISI Marked	Electrician	1	15000	15000	Compertive Bidding & E Shopping L-1
372.	Synchronous motor with accessories like starter, excitation arrangements.	147.	3 Phase, 3 HP, 440V, 50Hz, 4 Pole ISI Marked	Electrician	1	15000	15000	Compertive Bidding & E Shopping L-1
373.	Thyristor /IGBT controlled D.C. motor drive with tacho-generator feedback arrangement	148.	1 HP with tacho-generator feedback arrangement.breaking current in seconds -1.5 to 2.7 ISI Marked	Electrician	1	4500	4500	Compertive Bidding & E Shopping L-1
374.	Thyristor/IGBT controlled A.C. motor drive with	149.	VVVF control 3 Phase, 2 HP HPNo. of operations (life) -10000 ISI Marked	Electrician	1	5000	5000	Compertive Bidding & E Shopping L-1
375.	Single phase Transformer, core type, air cooled	150.	1 KVA , 240/415 V, 50 Hz ISI Marked	Electrician	1	2500	2500	Compertive Bidding & E Shopping L-1
376.	Three phase transformer, shell type oil cooled with Delta/ Star	151.	3 KVA , 415/240 V, 50 Hz ISI Marked	Electrician	1	4000	4000	Compertive Bidding & E Shopping L-1
377.	Used DC Generators-series, shunt and compound type for overhauling practice	154.	Capacity 2.5 KW I/P V= 250V with control panel incluiding field rheostat,d.c.(mc)ammetre 0-25 amp. Volt meter (MC) 0-250 v	Electrician	1 each	6000	6000	Compertive Bidding & E Shopping L-1
378.	Ceiling fan coil Winding Machine	160.	250V, 50 Hz, 1-Φ, with speed control, ISI Marked	Electrician	1	12000	12000	Compertive Bidding & E Shopping L-1
379.	Stepper Motor with Digital Controller	162.	Micro controller kits 2V at 400 mille ampere with add on card DAC.ADC stepper motor.Motor Drive system UnipolarStep angle1.8° full step Voltage & current 12V at 400mAMax continuous power 5WResistance per phase 23mHHolding torque 2000g- cmDetent torque 220g-cmRotor inertia 22g-square cm.Leads 18 in. 6AWG UL 1007Insulation resistance: -100MΩ min. at 500VDCDielectric strength 500V 50Hz/min.Ambient temperature -	Electrician	1	15000	15000	Compertive Bidding & E Shopping L-1
380.	Shaded Pole Motor	163.	Fractional HP, 240 V, 50 Hz Two pole shaded pole AC, Self-aligning porous bronze bearings. Furnished with solder lugs, leads, and quick disconnect spades. Integral mounting bosses on bearing	Electrician	1	1500	1500	Compertive Bidding & E Shopping L-1
381.	Working Bench	164.	brackat 2.5 m x 1.20 m x 0.75 m	Electrician	1	5000	5000	Compertive Bidding & E Shopping L-1
382.	Metal Rack	168.	100cm x 150cm x 45cm (5 rack minimun) 12 gauge steel parts. 20 gauge galvanized steel	Electrician	3	2500	7500	Compertive Bidding & E Shopping L-1
383.	Lockers with drawers	169.	shelves. 36" x 72" x 20" deep 1,steel cabinet,powder coating finish, 2. 18gauge thickness3,Knock down package. Note- with separate locker keys	Electrician	1-with 8 drawer	3500	3500	Compertive Bidding & E Shopping L-1

	AC Starters: - a. Resistance type starter b. Direct on line Starter c. Star Delta Starter- Manual d. Star Delta Starter – Semi	118.	For A.C Motors of 2 to 5 H.P.	Electrician	1- Resistan ce Starter 1-Star	25000	25000	Compertive Bidding & E Shopping L-1
	automatic e. Star Delta Starter – Fully				Delta Semi			
384.	automatic f. Star Delta Starter - Soft starter				Auto 1-Star			
	g. Auto Transformer type				Delta Fully			
					Auto 1-Star			
					Delta Soft			
					1-Auto			
385.	Pentium IV Computer or latest	135.	2.8 GHz & above, 1 GB RAM, 80 GB	Electrician	Transfor 1	27000	27000	Compertive
			HDD, DVD Combo Drive, 19/21" Monitor, optical scroll mouse,					Bidding & E Shopping L-1
			multimedia key board, 32 bit LAN card with UPP port, necessary					
			Drivers, etc. OR					
	D.C. Shunt Generator with control	137.	(Latest Version) D.C. Shunt Generator with control	Electrician	1	26000	26000	Compertive
386.	panel		panel,2.5 KW, 220V &3phase Squirrel cage Induction Motor,					Bidding & E Shopping L-1
			5HP, 440V with control panel & star delta starter					
387.	Electrical Machine Trainer	152.	Suitable for demonstrating the construction and functioning of	Electrician	1	45000	45000	Compertive Bidding & E
			different types of DC machines and AC machines (single phase and					Shopping L-1
			three phase). Should be fitted with friction brake arrangement,					
			dynamo meter, instrument panel and power supply					
			unit					
388.	Primary current injection set	161.	220V, 50 Hz, 1-Φ, output current - 200 A (min) with timer	Electrician	1	40000	40000	Compertive Bidding & E Shopping L-1
389.	Try Square	2	Having length of 6 inches blade & having markings in inches, cm & mm made of Hardened Steel	Fitter	20	70	1,400	Compertive Bidding & E Shopping L-1
	Centre Punch	8	10 cm MATERIAL HIGH CARBON	Fitter	8	50	400	Compertive Bidding & E
390.			STEEL (ISI) 10x1.2cm angle=90degre					Shopping L-1
391.	Screw driver	9	4mm X 150 mm, Diamond Head made of alloy steel, tip tempered, insulated stim, with plastic handle. ISI Marked	Fitter	38	50	1,900	Compertive Bidding & E Shopping L-1
392.	File flat second cut	13	25cm MATERIAL HIGH CARBON STEI	Fitter	34	200	6,800	Compertive Bidding & E
393.	File flat smooth	14	25cm MATERIAL HIGH CARBON	Fitter	40	200	8,400	Shopping L-1 Compertive
			STEEL (ISI)					Bidding & E Shopping L-1
394.	File half round second cut	15	15cm MATERIAL HIGH CARBON STEEL (ISI)	Fitter	40	238.1	10,000	Compertive Bidding & E
395.	Hacksaw frame fixed	16	Standard Hacksaw Fixed frame	Fitter	20	150	3,000	Shopping L-1 Compertive
555.		10	made of Steel suitable for 300 mm blade fitment.	- The second sec	20	150	3,000	Bidding & E Shopping L-1
396.	Safety goggles.	17	Impact resistant molded lens with Super Coat anti-fog coating, 1.8	Fitter	20	30	630	Compertive Bidding & E
								Shopping L-1
	Vernier hevel protractor Blade	30	mm thick polycarbonate lens	Fitter	1	3000	3 000	
397.	Vernier bevel protractor Blade with Acute Angle Attachment	30		Fitter	1	3000	3,000	Compertive Bidding & E
397.	•	30 34	mm thick polycarbonate lens 300 mm blade with NABL	Fitter Fitter	1	3000 2000	3,000 2,000	Compertive Bidding & E Shopping L-1 Compertive
397. 398.	with Acute Angle Attachment Marking table (Mild steel)	34	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm	Fitter	1	2000	2,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
397.	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank	34 41	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S	Fitter Fitter	1 1set	2000	2,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
397. 398.	with Acute Angle Attachment Marking table (Mild steel)	34	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm	Fitter	1	2000	2,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
397. 398. 399.	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank	34 41	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S 8 mm to 20 mm by ½ mm H.S.S wit-worth.MATERIAL HIGH CARBON STEEL (ISI) 0 TO	Fitter Fitter	1 1set	2000	2,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
397. 398. 399. 400.	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank Drill twist taper Shank	34 41 42	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S 8 mm to 20 mm by ½ mm H.S.S wit-worth.MATERIAL HIGH CARBON STEEL (ISI) 0 TO 12 NUMBER A Standred file knife edge 15cm	Fitter Fitter Fitter	1 1set 1set	2000 2000 3000	2,000 2,000 3,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
397. 398. 399. 400.	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank Drill twist taper Shank Taps and dies complete set in box	34 41 42 43	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S 8 mm to 20 mm by ½ mm H.S.S wit-worth.MATERIAL HIGH CARBON STEEL (ISI) 0 TO 12 NUMBER A Standred file knife edge 15cm Smooth type MATERIAL HIGH CARBON STEEL	Fitter Fitter Fitter Fitter	1 1set 1set 1set	2000 2000 3000 4000	2,000 2,000 3,000 4,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
 397. 398. 399. 400. 401. 	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank Drill twist taper Shank Taps and dies complete set in box	34 41 42 43	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S 8 mm to 20 mm by ½ mm H.S.S wit-worth.MATERIAL HIGH CARBON STEEL (ISI) 0 TO 12 NUMBER A Standred file knife edge 15cm Smooth type MATERIAL HIGH CARBON STEEL (ISI) A Standred file 15cm MATERIAL	Fitter Fitter Fitter Fitter	1 1set 1set 1set	2000 2000 3000 4000	2,000 2,000 3,000 4,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
 397. 398. 399. 400. 401. 402. 	with Acute Angle Attachment Marking table (Mild steel) Drill twist straight shank Drill twist taper Shank Taps and dies complete set in box File knife edge smooth	34 41 42 43 45	mm thick polycarbonate lens 300 mm blade with NABL Accredited lab. Certificate 900X900X900 mm 3 to 12 mm by 0.5 mm H.S.S 8 mm to 20 mm by ½ mm H.S.S wit-worth.MATERIAL HIGH CARBON STEEL (ISI) 0 TO 12 NUMBER A Standred file knife edge 15cm Smooth type MATERIAL HIGH CARBON STEEL (ISI)	Fitter Fitter Fitter Fitter Fitter	1 1set 1set 1set 4	2000 2000 3000 4000 250	2,000 2,000 3,000 4,000 1,000	Compertive Bidding & E Shopping L-1 Compertive Bidding & E

405.								
	File square second cut	49	A Standred file 25cm MATERIAL HIGH	Fitter	4	0	1,000	Compertive Bidding & E
			CARBON STEEL (ISI)					Shopping L-
	File triangular second cut.	51	A Standred file 20cm MATERIAL	Fitter	4	0	1,000	Compertive
406.			HIGH					Bidding & E
			CARBON STEEL (ISI)					Shopping L-
407.	File flat second cut safe edge	52	A Standred file 30cm MATERIAL	Fitter	1	250	250	Compertive
			HIGH					Bidding & E
	File flat bastard	53	CARBON STEEL (ISI)	Fitter	8	175	1 400	Shopping L-
408.	File flat bastard	53	A Standred file 20cm MATERIAL HIGH	Fitter	ŏ	175	1,400	Compertive
400.			-					Bidding & E Shopping L-
409.	File half round second cut.	56	CARBON STEEL (ISI) A Standred file 25cm MATERIAL	Fitter	8	350	2,800	Compertive
4051		50	HIGH	i ittei	0	550	2,000	Bidding & E
			CARBON STEEL (ISI)					Shopping L-
	File half round bastard.	57	A Standred file 25cm MATERIAL	Fitter	1	300	300	Compertive
410.			HIGH					Bidding & E
			CARBON STEEL (ISI)					Shopping L-
411.	File round bastard.	58	A Standred file 25cm MATERIAL	Fitter	4	250	1,000	Compertive
			HIGH					Bidding & E
			CARBON STEEL (ISI)		_			Shopping L-
	File hand second cut.	59	A Standred file 15cm MATERIAL	Fitter	8	150	1,200	Compertive
412.			HIGH					Bidding & E
44.2	Card file.	<u> </u>	CARBON STEEL (ISI)	F !++	6	00	400	Shopping L-
413.	card me.	60	3"x5" size, brass or steel wire	Fitter	6	80	480	Compertive
								Bidding & E
	Wooden handle forged Soldering	63	230V,250W,350gm	Fitter	2	400	800	Shopping L- Compertive
414.	Iron copper bit.		230723000 330gm		-	-100	800	Bidding & E
								Shopping L-
415.	Blow Lamp	64	0.50 liters.	Fitter	2	500	1,000	Compertive
	· · /						,	Bidding & E
								Shopping L-
	Interchangeable ratchet socket set	67	12 mm driver, sized10-32 mm set	Fitter	1	1800	1,800	Compertive
416.	(12 mm driver, sized10-32 mm set		of 18 socket & attachments.					Bidding & E
410.	of 18 socket & attachments.)							Shopping L-
417.	Double Ended tubular Box spanner	68	A/F 6-25 mm set of 10 Tommy Bar	Fitter	1	500	500	Compertive
	set with Tommy bar (A/F 6-25 mm		Dia 6, 8, 10, 12, 14, 16					Bidding & E
	set of 10 Tommy Bar Dia 6, 8, 10,							Shopping L-
	12. 14. 16)					500		
	Clamp toolmaker .	70	5 cm and 7.5 cm set of 2	Fitter	2	500	1,000	Compertive
418.								Bidding & E
410	Lland Deemer eet (Tener nin	70	Neminal Die C. 9, 10, 12, 10mm	Cittor.	1	1000	1 000	Shopping L-
419.	Hand Reamer set (Tapar pin	73	Nominal Dia 6, 8, 10, 12, 16mm	Fitter	1	1000	1,000	Compertive Ridding & F
	straight flute) Nominal Dia 6, 8, 10,							Bidding & E
	12. 16mm Machine Reamer parallel (Helical	74	Nominal Dia 6, 8, 10, 12, 16mm	Fitter	1	1000	1,000	Shopping L- Compertive
420.	flute) 12 - 16mm set of 5	/4		i ittei	-	1000	1,000	Bidding & E
								Shopping L-
421.	Scraper flat	75	15cm MATERIAL HIGH CARBON	Fitter	5	50	250	Compertive
			STEEL (ISI)					Bidding & E
								Shopping L-
	Chisel cold cross cut-8 &	78	9 mm X 150 mm MATERIAL HIGH	Fitter	16	100each	800	Compertive
422.	diamond.point-8		CARBON STEEL (ISI)					Bidding & E
								Shopping L-
423.	Chisel cold round noze.	80	9 mm X 100 mm MATERIAL HIGH	Fitter	8	100	800	Compertive
								Bidding & E
			CARBON STEEL (ISI)					
	D'an ann an b			Fit t a a		200	200	Shopping L-
424	Pipe wrench	82	CARBON STEEL (ISI) 400 mm	Fitter	1	300	300	Shopping L- Compertive
424.	Pipe wrench	82		Fitter	1	300	300	Shopping L- Compertive Bidding & E
			400 mm					Shopping L- Compertive Bidding & E Shopping L-
	Pipe wrench Wheel dresser (One for 4 units).	82	400 mm Wheel Dresser Diamond (inserted-	Fitter Fitter	1	300 500	300	Shopping L- Compertive Bidding & E Shopping L- Compertive
			400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron,					Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
424. 425.	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
			400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy					Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
425.	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
425.	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws,	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426.	Wheel dresser (One for 4 units).	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read	Fitter	1	500	500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426.	Wheel dresser (One for 4 units). Machine vice Swivel Base	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree	Fitter	1	500	500 3,500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
425. 426.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0360 degree 125 mm Heavy duty	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Shopping L- Compertive Bidding & E Shopping L-
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base	85	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree	Fitter	1	500	500 3,500	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Shopping L- Compertive Bidding & E Bidding & E
425. 426.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
425. 426.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0360 degree 125 mm Heavy duty Standard Fire Buckets made of GI	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Shopping L- Compertive Bidding & E Shopping L-
425. 426. 427. 428.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets.	85 86 87 98	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter	1 1 1 2	500 3500 3800 150	500 3,500 3,800 300	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
425. 426. 427. 428.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base	85 86 87	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made	Fitter Fitter Fitter	1	500 3500 3800	500 3,500 3,800	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets.	85 86 87 98	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter	1 1 1 2	500 3500 3800 150	500 3,500 3,800 300	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets.	85 86 87 98	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter	1 1 1 2	500 3500 3800 150	500 3,500 3,800 300	Shopping L- Compertive Bidding & E Shopping L-
425. 426. 427. 428. 429.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice	85 86 87 98 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 360 dearee 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2	500 3500 3800 150 3500	500 3,500 3,800 300 7,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428. 429.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice	85 86 87 98 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 360 dearee 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2	500 3500 3800 150 3500	500 3,500 3,800 300 7,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428. 429. 430.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice	85 86 87 98 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 360 dearee 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4	Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2	500 3500 3800 150 3500	500 3,500 3,800 300 7,000	Shopping L- Compertive Bidding & E Shopping L-
425. 426. 427. 428. 429. 430.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice Power tools for fastening	85 86 87 98 99 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm	Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2 1	500 3500 3800 150 3500 3000	500 3,500 3,800 300 7,000 3,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428. 429. 430.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice Power tools for fastening Different Profile gauges (Plate	85 86 87 98 99 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm	Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2 1	500 3500 3800 150 3500 3000	500 3,500 3,800 300 7,000 3,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428. 429. 430.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice Power tools for fastening Different Profile gauges (Plate	85 86 87 98 99 99	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0. 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm	Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter Fitter	1 1 1 2 2 1	500 3500 3800 150 3500 3000	500 3,500 3,800 300 7,000 3,000	Shopping L- Compertive Bidding & E Shopping L-
425. 426. 427. 428. 429. 430. 431.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Fire buckets. Machine Vice Power tools for fastening Different Profile gauges (Plate type) - For demonstration	85 86 87 98 98 99 99 103 104	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm Metric standard	Fitter	1 1 1 2 2 1 4	500 3500 3800 150 3500 3000 2000	500 3,500 3,500 3,800 300 7,000 3,000 8,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
425. 426. 427. 428. 429. 430. 431. 431.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Machine Vice Machine Vice Power tools for fastening Different Profile gauges (Plate type) - For demonstration Knurling tool (Diamond-1, straight-1 & Diagonal-1)	85 86 87 98 98 99 103 104 105	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm Metric standard (Diamond-1, straight-1 & Diagonal- 1)	Fitter	1 1 1 2 2 1 4	500 3500 3800 150 3500 3000 2000 500*3	500 3,500 3,500 3,800 300 7,000 3,000 8,000	Shopping L- Compertive Bidding & E Shopping L- Compertive
425. 426. 427. 428. 429. 430. 431.	Wheel dresser (One for 4 units). Machine vice Swivel Base Machine vice Swivel Base Fire buckets. Fire buckets. Machine Vice Power tools for fastening Different Profile gauges (Plate type) - For demonstration Knurling tool (Diamond-1, straight-	85 86 87 98 98 99 99 103 104	400 mm Wheel Dresser Diamond (inserted- 0.75 or 1 Carat) made of cast iron, Length 150mm 100mm. Jaw opening (Heavy Duty)Premium quality swiveling milling vise features perfectly aligned, precision ground jaws, large Acme screw and easy to read 0 - 360 degree 125 mm Heavy duty Standard Fire Buckets made of GI material,Red painted and round bottom with handle and must be of 9 Litre Capacity and stand have to arrangement for hanging of 4 Buckets.stand made of MS Angle 35mm x 35mm x 4 100mm Heavy duty Capacity 10-18mm Metric standard (Diamond-1, straight-1 & Diagonal-	Fitter	1 1 1 2 2 1 4	500 3500 3800 150 3500 3000 2000	500 3,500 3,500 3,800 300 7,000 3,000 8,000	Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E

434.	Machine maintenance manual for Lathe-1, Pedestal grinder-1, Drill	107	Manual of Royal Co. Of pedestal grinder, Drill machine, Power saw	Fitter	4	200/-each	1,000	Compertive Bidding & E
435.	machine-1. Power saw -1 Temperature gauge(Digital)	108	machines. Range 0 - 150°C	Fitter	1	300	300	Shopping L-
433.		100	Nange 0 - 150 C	inter	1	500	500	Bidding & E
436.	Dowel pin (straight)	109	Dia1" Length -4" (Mat: Stainless Steel)	Fitter	1	100	100	Shopping L- Compertive Bidding & E
427	Chandraid Tan service (bat) Ana - baa	110		F !		10	10	Shopping L-
437.	Standard Tap screws (M3-1no, M4- -1no, M51no, M61no, M81no, M101no, M121no, M141no, M10- 4ma	110	M3, M4, M5, M6, M8, M10, M12, M14, M16	Fitter	9	10	10	Compertive Bidding & E Shopping L-
438.	M161no) Lapping plate	111	Dia6"	Fitter	1	500	500	Compertive Bidding & E Shopping L-
439.	Caps screws (M6-2no, M8-2no, M10-2no, M12-2no)	113	M6, M8, M10, M12	Fitter	8	10/-each	40	Compertive Bidding & E Shopping L-
440.	Drill gauges (Letter drill gauge (A to Z)-2no , Number drill gauge (1 to 60)-2no , Metric drill gauge (1.5mm to 12.5mm, 30 holes2no)	114	Letter drill gauge (A to Z) , Number drill gauge (1 to 60) , Metric drill gauge (1.5mm to 12.5mm, 30 holes)	Fitter	6	100	200	Compertive Bidding & E Shopping L-
441.	Cast Iron Globe Valve (Flanged type)	115	150NB, Class# 150 Flange:ANSI125- B16.1	Fitter	2	1300	2,600	Compertive Bidding & E Shopping L-
442.	C.I. Sluice / Gate valve (flanged type)	116	150NB, Class# 150 Flange:ANSI125- B16.1	Fitter	2	1200	2,400	Compertive Bidding & E Shopping L-
443.	Stop cock	117	25NB (2-way, Threaded end)	Fitter	2	400	800	Compertive Bidding & E Shopping L-
444.	M.S. Pipe (150NB, Sch.40, ERW, IS:1239 -9Feet)	118	150NB, Sch.40, ERW, IS:1239	Fitter	1	500per feet	4,500	Compertive Bidding & E Shopping L-:
445.	G.I. Pipe	119	25mm, Sch.40, ERW	Fitter	20	30	600	Compertive Bidding & E Shopping L-
446.	Slip-on Forged steel Flange	120	150NB, ANSI-B16.5, Class#150	Fitter	4		1,500	Compertive Bidding & E Shopping L-
447.	Pipe threading die with handle	122	Ratchet type Die handle of 1/2", 3/4" and 1"	Fitter	2	1000	2,000	Compertive Bidding & I Shopping L-
448.	Pulleys (for V-belt-1, Flat belt-1)	125	to fit on 50mm dia. Shaft with key slot	Fitter	2	500	1,000	Compertive Bidding & I Shopping L-
449.	Damaged old spur gear	127	to fit 50mm dia. Shaft	Fitter	2	500	1,000	Compertive Bidding & I Shopping L-
450.	V-belt-1 and Flat belt-1	128	to fit on pulley	Fitter	2	250	500	Compertive Bidding & E Shopping L-
451.	Packing gasket	129	PTFE gasket roll small size	Fitter	1	500	500	Compertive Bidding & E Shopping L-
452.	Washer-2nos., clutch-2nos., keys- 2nos., jib-2nos., cotter-2nos. & circlip-2nos.	130	minimum 25mm size, carbon steel material	Fitter	12	20	200	Compertive Bidding & E Shopping L-
453.	Bearing different types	133	each type of diameter 25mm (min.)	Fitter	1	200	800	Compertive Bidding & I Shopping L-
454.	Lifting sling	134	8mm Nominal Dia. Single leg sling	Fitter	2	500	1,000	Compertive Bidding & I Shopping L-
455.	Bearing Puller (inside and outside)	135	200mm (Universal gear puller 2 or 3 jaws adjustable)	Fitter	1	200	200	Compertive Bidding & E Shopping L-
456.	Pulley Puller with 3 legs	136	150mm (Universal gear puller 2 or 3 jaws adjustable)	Fitter	1	400	400	Compertive Bidding & I Shopping L-
457.	Gauge snap Go and No Go (25 to 50 mm by 5mm. Set of 6 pcs.)	147	25 to 50 mm by 5mm. Set of 6 pcs.	Fitter	1	1200	1,200	Compertive Bidding & I Shopping L-
458.	Gauge plug (single 3 ended 5 to 55 by 5 mm. Set of 11 pcs.)	148	single 3 ended 5 to 55 by 5 mm. Set of 11 pcs.	Fitter	1	3000	3,000	Compertive Bidding & I Shopping L-
459.	Gauge telescopic Dial vernier caliper	149	8 to 150 mm.	Fitter	1	3000	3,000	Compertive Bidding & I Shopping L-
460. 461.	Dial vernier caliper	152	0 – 300 mm LCO 0.05 mm. (Universal type).Made in japan 0-25mm Least count .01mm	Fitter	1	4000	4,000	Compertiv Bidding & <u>Shopping L-</u> Compertiv
-701.	interchangeable . Pitch anvils for checking metric threads 60. Digital Micrometer out side	153	0-25mm Least count .01mm	Fitter	1	4500	4,500	Bidding & I Shopping L- Compertive
462.	g.ta	100	japan			-1300	-,500	Bidding &
463.	Engineer's try square (knife- wedge)	158	150 mm blade.	Fitter	1	150	150	Shopping L- Compertive Bidding & I
464.	Pipe bender spool type with stand manually operated.	172	up to 25 mm cold bending	Fitter	1	1000	1,000	Shopping L- Compertive Bidding & I Shopping L-

465.	Adjustable pipe chain tonge to take pipes .	173	up to 300 mm	Fitter	1	800	800	Compertive Bidding & E
466.	Adjustable spanner	174	380 mm long	Fitter	1	250	250	Shopping L-1 Compertive Bidding & E
467.	Pneumatic Workstation with 40 square mm aluminium profile legs, wooden work surface, and one pedestal drawer unit having 5 drawers, each with handles and individual locks, on metallic full panel drawer slide:	199	Workstation with 40squre mm aluminium profile legs L1200MM XW900MM XH900MM having 5 Drawers Size L460MMXW495XH158mm each and oveeall size od drawer unit L470MMX495MMX825MM And Drawer slide heihgt (approx)	Fitter	1	15000	15,000	Shopping L-1 Compertive Bidding & E Shopping L-1
468.	Carrier for mounting components, such as PB & relay boxes.	200	Carrier for mounting components, such as PB & relay boxes.	Fitter	1no	4000	4,000	Compertive Bidding & E Shopping L-1
469.	Cut section model for pneumatic components	201	(1)Single acting cylinder(2) Double acting cylinder (3) 3/2 way valve(4)one way flow valve(5)5/2 way valve (6) 5/2 way pnumetic actuated valve (7) 3/2 way roller	Fitter	1	6000	6,000	Compertive Bidding & E Shopping L-1
470.	Hydraulic Workstation with 40 square mm aluminium profile legs, wooden work surface, and one pedestal drawer unit having 5 drawers, each with handles and individual locks, on metallic full panel drawer slide:	203	lever valva (1) Work Table – Size(Approx.) L1200mmXW900mmXH90 0mm, with four castor wheels including two lockable wheels at the front side, (2) Drawer – Size (Approx.) – L460mmxW495mm xH158mm each, and overall size of Drawer unit (Approx.) - L470mmxW495mmxH825 mm and (3) Drawer slide height (Approx.)	Fitter	1	15000	15,000	Compertive Bidding & E Shopping L-1
471.	Cut-section models for hydraulic components	204	3/2 way Directly Actuated Valve,5/2 way Hand Lever Operated Valve,3/2 way Indirectly Actuated Valve (With push button),3/2 way Mushroom Button Operated Spring Return Valve, 3/2 way Roller Lever Actuated Valve,5/2 way Valve with Selector Switch, 3/2 way Pilot Operated Spring Return Valve, 5/2 way Solenoid Operated Spring Return, 5/2 way Double pilot Valve, Quick Exhaust Valve, One-Way Flow Control Adjustable Valve, Double Acting Cylinder, Single Acting Cylinder.	Fitter	1	15000	15,000	Compertive Bidding & E Shopping L-1
472	Pneumatic Trainer Kit, each consisting of the following matching components and	198		Fitter	1 Set	50000	50,000	Compertive Bidding & E Shopping L-1
	accessories: I Single acting cylinder		Max. stroke length 50 mm, Bore	Fitter	1no		-	Compertive Bidding & E
	II. Double acting cylinder		dia 20 mm Max. stroke length 100 mm, Bore	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
	III. 3/2-way valve		dia 20 mm, magnetic type manually-actuated, Normally	Fitter	2nos			Shopping L-1 Compertive Bidding & E
	IV. 3/2-way valve		Closed pneumatically-actuated	Fitter	1no		-	Shopping L-1 Compertive
	V. One-way flow control valve		Operating pressure 60 Bar, Max.	Fitter	2nos		-	Bidding & E Shopping L-1 Compertive
	VI. 5/2-way valve		Permissible pressure 120Bar with manually-operated switch	Fitter	1no		-	Bidding & E Shopping L-1 Compertive Bidding & E
	VII. 5/2-way valve		pneumatically-actuated, spring	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
	VIII. 5/2-way pneumatic actuated valve		return double pilot	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
	IX. 3/2-way roller lever valve		direct actuation Normally Closed	Fitter	2nos		-	Shopping L-1 Compertive Bidding & E
	X. Shuttle valve (OR)		Pressure Range 1-16 Bar	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
	XI. Two-pressure valve (AND)		0-16 bar	Fitter	1no			Shopping L-1 Compertive Bidding & E
	XII. Pressure gauge			Fitter	1no		-	Shopping L-1 Compertive Bidding & E
	All. Flessure gauge		0-16 bar					Shopping L-1

						_	
XIV. Pushbutton station for electrical signal input		with 3 illuminated momentary- contact switches (1 NO + 1 NC) and 1 illuminated maintainedcontact switch (1 NO + 1 NC), Contact load	Fitter	1no			Compertive Bidding & E Shopping L-1
XV. Relay station		2A with 3 relays each with four contact sets (3 No+1 NC or Change	Fitter	1no		-	Compertive Bidding & E
XVI. 3/2-way single solenoid valve		over type) 5A with LED	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
XVII. 5/2-way single solenoid valve		with manual override and LED	Fitter	1no		-	Shopping L-1 Compertive Bidding & E
XVIII. 5/2-way double solenoid valve		Input voltage 85 – 265 V AC, Output voltage: 24 V DC, Output current: max. 4.5 A, short-circuit-	Fitter	1no		-	Shopping L-1 Compertive Bidding & E Shopping L-1
XIX. Power supply unit,		proof. 1100x700 mm, with carriers, mounting frames and mounting accessories (To be fitted onto the	Fitter	1no		-	Compertive Bidding & E Shopping L-1
XX. Profile plate, Anodised Aluminium		nneumatic workstation) (1) Work Table – Size(Approx.) L1200mmXW900mmXH90 0mm, with four castor wheels including two lockable wheels at the front side, (2) Drawer Size (Approx.) – L460mmxW495mm xH158mm each, and overall size of Drawer unit (Approx.) -	Fitter	1set			Compertive Bidding & E Shopping L-1
Hydraulic Trainer Kit, each	202	L470mmxW495mmxH825 mm and (3) Drawer slide height (Approx.)	Fitter	1set	60000	60,000	Compertive
consisting of the following matching components and accessories:						_	Bidding & E Shopping L-1
I. Hydraulic Power pack		 with (1) external gear pump having a delivery rate of 2.5 lpm, (approx.) @ 1400 rpm operating pressure 60 bar, coupled to a single-phase AC motor (230 V AC) having start capacitor and ON/OFF switch and overload protection, (2) pressure relief valve adjustable from 0 – 60 bar, (3) oil reservoir, ≥5 litres capacity having sight glass, drain screw, air filter, and P and T ports 	Fitter	1 No.			Compertive Bidding & E Shopping L-1
II. Pressure relief valve		pilot-operated	Fitter	1 No.			Compertive Bidding & E Shopping L-:
III. Drip tray, steel		size 1160 mm x 760 mm.	Fitter	1 No.		-	Compertive Bidding & E
IV. Pressure Gauge		Glycerin-damped, Indication range	Fitter	1 No.		-	Shopping L- Compertive Bidding & E
V. Four-Way distributor		of: 0 – 100 bar with five ports, equipped with a	Fitter	1 No.		-	Shopping L- Compertive Bidding & E
VI. Double acting hydraulic cylinder		pressure gauge with a control cam, Piston diameter16 mm, Piston rod diameter10 mm, Stroke length 200	Fitter	1 No.		-	Shopping L-1 Compertive Bidding & E Shopping L-1
VII. Suitable Weight		mm. for vertical loading of hydraulic cylinder	Fitter	1 No.			Compertive Bidding & E Shopping L-1
VIII. Mounting kit for weight		for realizing pulling and pushing load.	Fitter	1 No.		-	Compertive Bidding & E Shopping L-1
IX. 3/2-way directional control valve		with hand lever actuation.	Fitter	1 No.			Compertive Bidding & E Shopping L-1
X. 4/2-way directional control valve		with hand lever actuation.	Fitter	1 No.		-	Compertive Bidding & E Shopping L-1
XI. 4/3-way directional control valve		closed-centre position, with hand	Fitter	1 No.		-	Compertive Bidding & E Shopping L-1
XII. Non-return valve.		0-100 Bar pressure.	Fitter	1 No.		-	Compertive Bidding & E Shopping L-1
XIII. Pilot-operated check valve		Pilot to open.	Fitter	1 No.		-	Compertive Bidding & E Shopping L-1
XIV. One-way flow control valve		With integrated check valve.	Fitter	1 No.		-	Compertive Bidding & E
XV. T-Connector with self sealing coupling nipples (2 Nos.) and quick coupling socket (1 No.).		Anodised Aluminium, 1100x700 mm, with carriers, mounting frames and mounting accessories (To be fitted onto the Hydraulic workstation)	Fitter	2 No.		-	Shopping L-1 Compertive Bidding & E Shopping L-1

	XVI. Profile plate		Anodised Aluminium, 1100x700	Fitter	1set	ĺ		Compertive
			mm, with carriers, mounting frames and mounting accessories (To be fitted onto the Hydraulic					Bidding & E Shopping L-1
			workstation	5	10	200	2600	
74	Protractor celluloid	2	15 cm semi- circular.	Draghtsman Civil	18	200	3600	Compertive Bidding & E
				D	10		- 100	Shopping L-1
75	Scale card board	3	metric set of eight A to H in a box 1: 1,1:2, 1:2:5, 1: 5, 1:10, 1:20,	Draghtsman Civil	18	300	5400	Compertive Bidding & E
			1:50, 1:100,1:200, 1:500, 1:1000,1:2000,1:1250, 1:6000, 1:38	Civii				Shopping L-1
76	Scales plotting box	4	1/3. 1:66 2/3	Draghtsman	24	400	9600	Compertive
		-	wood 6 metric scales 30 cms long with offset scales	Civil		400	5000	Bidding & E Shopping L-1
77	Set square transparent	5	20 cm, 2 mm thick with bevelled	Draghtsman	14	200	2800	Compertive
			edges 45 degree .	Civil				Bidding & E Shopping L-1
78	Set square celluloid	6	25 cm,2mm thick with bevelled	Draghtsman	14	200	2800	Compertive
			edges60 degrees	Civil				Bidding & E Shopping L-1
79		7		Draghtsman	13	600	7800	Compertive
	T-Square 1250mm/Mini drafter/ Parallel Bar		Parallel Bar celluloid	Civil				Bidding & E Shopping L-1
80	Template –Architects and builders	8		Draghtsman	18	500	9000	Compertive
			Made of P.V.C sheet 2mm thick	Civil				Bidding & E Shopping L-1
31	Geometrical	9	wooden/plastic i) Cube 08 cm	Draghtsman	4	2000	8000	Compertive
	models(wooden/plastic)		sides. ii) Rectangular parallel piped 8cmX15cm iii) Sphere 8cm dia. iv) Right circular cone 8 cm dia base and 15 cm vertical height v) Square pyramid 8cm side base and 15 cm vertical height vi) Cylinder 8 cm dia. 15 cm height. vii) Prisms triangular 8 cm sides triangle and 15 cm length. viii) Prism hexagonal 8 cm side's hexagon and 15 lengths	Civil				Bidding & E Shopping L-1
82	Templates – Circle, Ellipse, furniture, etc.	10	Circle, Ellipse, furniture, etc	Draghtsman Civil	4	500	2000	Compertive Bidding & E Shopping L-1
83	Steel arrow, wooden peg, wooden mallet, hammer	20	Steel arrow, wooden peg, wooden mallet, hammer	Draghtsman Civil	10	500	5000	Compertive Bidding & E Shopping L-1
84	Printer (Desk jet / Laser jet) with scanner (multipurpose)	35	A3 size scanner	Draghtsman Civil	1	10,000	10000	Compertive Bidding & E Shopping L-1
85	Server work station with latest configuration	36	Latest Model available	Draghtsman Civil	1	15,000	15000	Compertive Bidding & E Shopping L-1
86	Broad Band connection	37	Latest Model available	Draghtsman Civil	1	10,000	10000	Compertive Bidding & E Shopping L-1
87	Furniture for server, printer, plotter	41	Standrad available size	Draghtsman Civil	1	15,000	15000	Compertive Bidding & E Shopping L-1
88	White Board (6' x 4')	42	6' x 4' ft	Draghtsman Civil	2	4,500	9000	Compertive Bidding & E Shopping L-1
89	First Aid Box	44	Basic Medicines & bandage, cotton, Oxy Meter, Thermometer etc with(Plastic Box)	Draghtsman Civil	2	10,000	20000	Compertive Bidding & E Shopping L-1
90	Screen for Projector (motorized)	45	Motorized screen required	Draghtsman Civil	2	10,000	20000	Compertive Bidding & E
								Shopping L-1
91	Fire Extinguisher	46	Foam based Cylinder type	Draghtsman Civil	2	5,000	10000	Compertive Bidding & E
92	Wall Clock	48	Digital Display Date Time & Temprature	Draghtsman Civil	1	2,000	2000	Shopping L-1 Compertive Bidding & E
93	Steel Cupboard 120 x 60 x 45 cm	52	Size 120 x 60 x 45 cm	Draghtsman Civil	2	10,000	20000	Shopping L-1 Compertive Bidding & E
94	Book Shelf	53	Standrad size	Draghtsman Civil	2	10,000	20000	Shopping L-1 Compertive Bidding & E
95	Trainer's / Instructor's table (big size full secretariat) (6 feet x 4	54	6 feet x 4 feet	Draghtsman Civil	2	10,000	20000	Shopping L-1 Compertive Bidding & E
96	feet) Box drawing instrument	1	Containing one 15 cm compass with pin point, pin point & lengthening	Draghtsman Civil	17	1700	28900	Shopping L-1 Compertive Bidding & E
			bar, one pair spring bows, rotating compass with interchangeable ink and pencil points, drawing pens with plain point & cross point, screw driver and box of leads.(0.2,0.3,0.4 mm).					Shopping L-1

497	Auto level With all accessories	25	Auto level levelling instrument compact in size of weight 1.25 kg approx with levelling accuracy +-2.0 mm, telescopic magnification 24x,short focusing distance-0.3m, weather and dust resistance complete with aluminium tripod stand working height 97-160 cm approximately weight 4 kg with aluminium levelling staff 6 meter 5 folds with canvas cover Transit theodolite made by ms with	Draghtsman Civil Draghtsman	2	25,000	50000	Compertive Bidding & E Shopping L-1
450	all accessories	27	accuracy-10sec to 20 sec, minimum focus 2m -150m , 360 degree rotation with-wooden case .Tripod stand- Aluminum di casting double lock with cover.working height 97- 160 cm approximately weight 4 kg.	Civil	2	24,000	4000	Bidding & E Shopping L-1
499	Digital Theodolite	28	latest model With all accessories (Features:-Based on laser technology, Two large LCD panel with easy to read ,Automatically compensates tilt in two direction and compensates vertical angles. High integrated electronic board and IC elements)	Draghtsman Civil	2	50,000	100000	Compertive Bidding & E Shopping L-1
500	Instrument for Total Station with latest model, With all accessories	29	Angle Measurement Accuracy (Sec)- 2 second, Distance Measurement (Km)-1km, Distance Measuring Range with Single Prism- 6000Meter, Display & Keyboard- Dual Sided 2.8 inch 240*320 pixel highlight color display and Full numeric keyboard, Battery Backup- 18 Hrs.	Draghtsman Civil	2	100,000	200000	Compertive Bidding & E Shopping L-1
501	Hand held GPS (latest model) with standard specification	30	GPS 60 with battery charger ,AC adaptor USB Download port & Software. High sensitiviity receiver Base map Water proof USB interface Built in memory accept data card way points /etc Routes 200 Track log 10,000 points Altimater, compass,hunt fish calender ,sun &moon information.tide tables,Area calculation Dimensions 16.0 X 6.1 X 3.6 cm Battery type /life 2 x AA 20 bours weight approx 260 g	Draghtsman Civil	2	20,000	40000	Compertive Bidding & E Shopping L-1
502	Personal computer with latest configuration	31	Intel is processor and higher(3.4 GHz, 8 MB Cache with 8GB RAM, 1 TB harddisk, wi-fi enabled, USB optical mouse, 15"LED Screen , Standard ports and connectors, DVD Writer, inbuilt Speakers and Mic. with web camera with preloaded licensed window 8.1 or latest operating system and latest internet security input. preloaded licensed latest version MS Office .	Draghtsman Civil	24	70,000	1680000	Compertive Bidding & E Shopping L-1
503	CAD software(24 USERS)	33	Minimum 8 hours rechargeable li- ion	Draghtsman Civil	1	50,000	50000	Compertive Bidding & E Shopping L-1
504	Plotter A1 size	34	battery .Poles and Prism 2Nos each)	Draghtsman Civil	1	150,000	150000	Compertive Bidding & E Shopping L-1
505	UPS	38	5 KV with 30 min. back up for 24 PC	Draghtsman Civil	1	60,000	60000	Compertive Bidding & E Shopping L-1
506	Computer Table	39	Computer Desk, Straight Set-up for Study & Home Office with Storage Space,W x H x D: 90 cm x 76 cm x 60 cm (2 ft 11 in x 2 ft 5 in x 2Ft),With CPU Compartment,Built-in Keyboard Tray,Knock Down - Delivered in non-assembled pieces, installation by service partner, Material: 20mm Waterproof Plywood with both side mica.	Draghtsman Civil	20	4,000	80000	Compertive Bidding & E Shopping L-1
507	Computer Chair.	40	Revolving Chair with Wheels, Armrest, Adjustable Seat Height, Swivel,W x H: 46 cm x 89 cm (1 ft 6 in x 2 ft 11 in), Frame Material: Engineered Wood, Upholstery Type: Cushion	Draghtsman Civil	14	3,000	42000	Compertive Bidding & E Shopping L-1
508	DLP Projector	43	Latest Model available	Draghtsman Civil	2	50,000	100000	Compertive Bidding & E Shopping L-1
509	Air Conditioner	47	2.0 Ton split type, Min three star rating	Draghtsman Civil	2	65,000	130000	Compertive

510	Document Camera / Visualiser	49	Latest Model available	Draghtsman Civil	2	50,000	100000	Compertive Bidding & E
511	Smart Board / Inter Active Board	50	Latest Model available	Draghtsman Civil	2	25,000	50000	Shopping L-1 Compertive Bidding & E Shopping L-1
512	Steel Cupboard	51	H180 xW 90 xD 45 cm, Material: Steel	Draghtsman Civil	2	15,000	30000	Compertive Bidding & E
513	Class room chairs (armless)	57	Body Material:Steel, Width:500mm, Seat and Back material: Fabric with cousin and writing pad made by mica board.	Draghtsman Civil	24	3,000	72000	Shopping L-1 Compertive Bidding & E Shopping L-1
514	Class room table Dual desk	58	for two trainees wooden seat with metalic frame.48"x14"x30" (Desk), Stool 48"x12"x18", Frame Material: Mild Steel Square Pipe, Table Top Material: 16 mm ply with sunmica, Height:450mm.	Draghtsman Civil	12	4,000	48000	Compertive Bidding & E Shopping L-1
515	Drawing Table with Board	60	Length:750mmx Width:550mm, Material: 20mm hardwood laminated with both side mica including ebony edge. (Only Board Required)	Draghtsman Civil	32	5,000	160000	Compertive Bidding & E Shopping L-1
516	Allen Key set of 12 pieces (2mm to 14mm)	1	12 pieces (2mm to 14mm)	Mech. Tractor	12	500	6000	Compertive Bidding & E Shopping L-1
517	Caliper inside 15 cm Spring	2	spring type,size15cm	Mech. Tractor	5	80	400	Compertive Bidding & E Shopping L-1
518	Calipers outside 15 cm spring	3	spring type size15cm	Mech. Tractor	12	37	444	Compertive Bidding & E Shopping L-1
519	Center Punch 10 mm. Dia. x 100 mn	4	10 mm. Dia. x 100 mm.made of carbon steel	Mech. Tractor	12	30	360	Compertive Bidding & E Shopping L-1
520	Dividers 15 cm Spring	5	Dividers 15 cm Spring Hardened and tempered steel, spring joint type	Mech. Tractor	12	40	480	Compertive Bidding & E Shopping L-1
521	Electrician Screw Driver 250mm	6	Electrician Screw Driver 250mm Insulated blade, plastic handle - transparent length - 250 mm	Mech. Tractor	12	100	1200	Compertive Bidding & E Shopping L-1
522	Hammer ball peen 0.5 kg with hand	7	ball peen 0.5 kg. with wooden handle	Mech. Tractor	10	70	700	Compertive Bidding & E Shopping L-1
523	Hands file 20 cm. Second cut flat	8	Hands file 20 cm. Second cut flat High carbon steel handle (wood)	Mech. Tractor	12	120	1440	Compertive Bidding & E Shopping L-1
524	Philips Screw Driver set of 5 pieces (100 mm to 300 mm)	9	Phillips Screw driver 5 pieces (100mm to 300 mm) Blade 5 mm dia, stainless steel	Mech. Tractor	12	500	6000	Compertive Bidding & E Shopping L-1
525	Pliers combination 20 cm.	10	Combination type 20cm Professional Quality Heavy duty Acetate moulded handles(220Volts)	Mech. Tractor	10	120	1200	Compertive Bidding & E Shopping L-1
526	Screw driver 20cm.X 9mm. Blade	11	Screwdriver 20cm X 9mm blade tip cleaner	Mech. Tractor	12	90	1080	Compertive Bidding & E Shopping L-1
527	Screw driver 30 cm. X 9 mm. Blade	12	Screwdriver 30cm X 9mm blade tip cleaner	Mech. Tractor	6	100	600	Compertive Bidding & E Shopping L-1
528	Scriber 15 cm	13	15 cm Forged carbon steel head Hardened and Tempered body straight and knurled	Mech. Tractor	12	50	600	Compertive Bidding & E Shopping L-1
529	Spanner D.E. set of 12 pieces (6mm to 32mm)	14	Double ended 12 pieces size 15 to 16 mm forged from chrome - vanadium steel. fullv	Mech. Tractor	12	750	9000	Compertive Bidding & E Shopping L-1
530	Spanner, ring set of 12 metric sizes 6 to 32 mm.	15	Spanner, ring 12piece size 6 to 32 mm forged from chrome - vanadium steel. fullv	Mech. Tractor	12	1000	12000	Compertive Bidding & E Shopping L-1
531	Spanners socket with speed handle, T-bar, ratchet and universal upto 32 mm set of 28 pieces with box	16	Spanners socket with speed handle, T-bar, ratchet and universal upto 32 mm of 28 pieces	Mech. Tractor	12	2000	24000	Compertive Bidding & E Shopping L-1
532	Steel rule 30 cm inch and metric	17	Rule steel 300 mm to read inches & mm	Mech. Tractor	12	80	960	Compertive Bidding & E Shopping L-1
533	Steel tool box with lock and key (folding type) 400x200x150 mm	18	Steel tool box with lock and key (folding type) 400x200x150 mm Made of GI 22 SWG and paint	Mech. Tractor	12	300	3600	Compertive Bidding & E Shopping L-1
534	Wire cutter and stripper	19	Wire cutter and stripper Auto eject, upto 16 mm 2	Mech. Tractor	12	250	3000	Compertive Bidding & E Shopping L-1
535	Adjustable spanner (pipe wrench 350 mm)	25	Adjustable spanner (pipe wrench 350 mm) drop forged steel, ribbed	Mech. Tractor	1	700	700	Compertive Bidding & E Shopping L-1
536	Air blow gun with standard accessories	26	Air blow gun Copper body with jet operating lever and suitable hose/connector new & branded	Mech. Tractor	1	1500	1500	Compertive Bidding & E Shopping L-1
	Air impact wrench with standard	27	Air impact wrench Working torque	Mech. Tractor	4	3500	14000	Compertive

538	Air ratchet with standard accessorie	28	Air ratchet Speed 150 - 170 RPM, working torque 7 to 70 Nm, maximum torque 150 Nm - 180 Nm	Mech. Tractor	4	3500	14000	Compertive Bidding & E Shopping L-1
539	Allen Key set of 12 pieces (2mm to 14mm)	29	Allen Key of 12 pcs. 2mm - 14 mm	Mech. Tractor	2	1000	2000	Compertive Bidding & E
540	Alternator for tractor – different type	30	Original,working condition,aAlternator assembly of LMV	Mech. Tractor	2	5000	10000	Shopping L-1 Compertive Bidding & E Shopping L-1
541	Ammeter 300A/ 60A DC with external shunt	31	Ammeter 300A/ 60A DC with external shunt Analog type portable 300 A/60 ADC with	Mech. Tractor	4	3500	14000	Compertive Bidding & E Shopping L-1
542	Angle plate adjustable 250x150x175	32	external Angle plate adjustable 250x150x175 Adjustable cast iron	Mech. Tractor	1	25000	25000	Compertive Bidding & E
543	Angle plate size 200x100x200mm	33	Angleplate size 200x100x200mm Adjustable cast iron	Mech. Tractor	2	2500	5000	Shopping L-1 Compertive Bidding & E
544	Anvil 50 Kgs with Stand	34	Anvil 50Kgs with Stand cast steel	Mech. Tractor	1	3000	3000	Shopping L-1 Compertive Bidding & E
545	Arbor press hand operated 2 ton capacity	35	Arborpress hand operated 2 ton capacity	Mech. Tractor	1	2500	2500	Shopping L-1 Compertive Bidding & E
546	Auto Electrical test bench	36	Auto Electrical Test Bench is equipped with a 220V single phase 2HP 1440 RPM Three Phase, 15 Amp, 130 Amp – 12 V 80 Amp – 24 V, Built-in D.C. SupplyThe bench is equipped with fixed load resistances of 5A, 10A, 20A & 40A to give a wide range of currents from 5A to 75A for 12V alternators and 10A, 20A & 40A to give currents from 10A to 70A for 24 Volts alternators.	Mech. Tractor	1	4500	4500	Shopping L-1 Compertive Bidding & E Shopping L-1
547	Battery –charger	37	6V – 24 V 20 Amp with digital pannel	Mech. Tractor	2	5000	10000	Compertive Bidding & E Shopping L-1
548	Belt Tensioner gauge	38	tensioning all automotive V-belts up to, and including, 7/8" top widths. Instructions packed with	Mech. Tractor	1	2500	2500	Compertive Bidding & E Shopping L-1
549	Blow Lamp 1 litre	39	2 pint, tank capacity 1100ml Blow lamp is fitted with specially	Mech. Tractor	2	800	1600	Compertive Bidding & E
550	Caliper inside 15 cm Spring	40	designed forged burner and Caliper inside 15 cm Spring Hardened and tempered steel, spring joint type	Mech. Tractor	4	80	320	Shopping L-1 Compertive Bidding & E Shopping L-1
551	Calipers outside 15 cm spring	41	Calipers outside 15 cm spring Hardened and tempered steel, spring joint type	Mech. Tractor	4	80	320	Compertive Bidding & E Shopping L-1
552	Car Jet washer with standard access	42	Car Jet washer with standard accessories	Mech. Tractor	1	200	200	Compertive Bidding & E Shopping L-1
553	Chain Pulley Block-3 ton capacity with tripod stand	43	3000 kg capacity heavy duty block and chain with rolling design woking load 3000kg lifting	Mech. Tractor	1	4500	4500	Compertive Bidding & E Shopping L-1
554	Chaser hard W/V 9 to 40 T.P.I. set of 11 external.	44	Chaser hard W/V 9 to 40 T.P.I. of 11 external	Mech. Tractor	1 SET	4500	4500	Compertive Bidding & E Shopping L-1
555	Chaser, hand W/W 9 to 40 T.P.I. set of 11 internal.	45	Chaser,hand W/W9 to40 T.P.I. of11 internal.	Mech. Tractor	1 SET	4500	4500	Compertive Bidding & E
556	Chisel 10 cm flat	46	chisel cold flat with face size 20mm, 10 cm length as per 402- 1990, chiesel made of carbon steel	Mech. Tractor	2	90	180	Shopping L-1 Compertive Bidding & E Shopping L-1
557	Chisels cross cut 200 mm X 6mm	47	crose cut 200mm*6 mm Forged, Carbon Steel with / without rubber	Mech. Tractor	4	100	400	Compertive Bidding & E
558	Circlip pliers Expanding and contracting type 15cm and 20cm	48	grip 15 cm and 20 cm circlip pliers for internal and external rings with	Mech. Tractor	4	450	1800	Shopping L-1 Compertive Bidding & E
559	each Clamps C 100mm	49	insulated Clamps C 100mm IS 9181-1988 Cl square thread with revolving pad	Mech. Tractor	2	600	1200	Shopping L-1 Compertive Bidding & E
560	Clamps C 150mm	50	Clamps C 150mm IS 9181-1988 Cl square thread with revolving pad	Mech. Tractor	2	600	1200	Shopping L-1 Compertive Bidding & E
561	Clamps C 200mm	51	Clamps C 200mm IS 9181-1988 Cl square thread with revolving pad	Mech. Tractor	2	600	1200	Shopping L-1 Compertive Bidding & E
562	Cleaning tray 45x30 cm.	52	Cleaning tray 45x30 cm.Leak proof, corrosion resistant type and 22	Mech. Tractor	4	150	600	Shopping L-1 Compertive Bidding & E
563	Clutches, different types such as cone type, disc type	53	gauge thickness cone type, disc type	Mech. Tractor	1 each	5500	5500	Shopping L-1 Compertive Bidding & E
564	Compression testing gauge suitable for diesel Engine	54	pressure release with steel push button release valve, Rubberized protector for gauge, 3" gauge features dual color scale. 0- 300 PSI : 0-20 kPa	Mech. Tractor	1	5000	5000	Shopping L-1 Compertive Bidding & E Shopping L-1

565	Connecting rod alignment fixture	55	Premium gradeConnecting Rod Fixture, top quality stainless steel and other components to manufacture these fixtures. Along with theConnecting Rod Fixture, air gauge fixtures and eight jet air plugs which helps to check the twist and bend.	Mech. Tractor	1	12000	12000	Compertive Bidding & E Shopping L-1
566	Copper bit soldering iron 0.25 Kg	56	Copper bit soldering iron 0.25 Kg	Mech. Tractor	4	500	2000	Compertive Bidding & E
567	Cut section model of fuel filter	57	Cut section model of fuel filter primary and secondary	Mech. Tractor	1	1000	1000	Shopping L-1 Compertive Bidding & E
568	Cylinder bore gauge capacity 20 to 160 mm	58	Bore dial gauge with extantion 20 to160 mm japany	Mech. Tractor	4	4500	18000	Shopping L-1 Compertive Bidding & E Shopping L-1
569	Cylinder liner- Dry & wet liner, press fit & slidefit liner	59	Cylinder liner- Dry & wet liner,press fi t& slide fit liner use in diesel Engine	Mech. Tractor	1 each	10000	10000	Compertive Bidding & E Shopping L-1
570	Depth micrometer 0-25mm	60	depth micro metter 0 to 25 mm made of drop forged steel as per ISO	Mech. Tractor	4	3000	12000	Compertive Bidding & E Shopping L-1
571	Dial gauge type 1 Gr. A (complete with clamping devices and stand)	61	Dial gauge type 1 Gr. A(complete with clamping devices and stand)	Mech. Tractor	4	3375	13500	Compertive Bidding & E Shopping L-1
572	Different type of Engine Bearing model	62	Different type of Engine Bearing model (shell bearing, ball bearing.needle bearing)	Mech. Tractor	1 set	1200	1200	Compertive Bidding & E Shopping L-1
573	Different type of piston model	63	Different type of piston model (Concave head, swilling chamber,Discadr Type Head)	Mech. Tractor	1 set	2000	2000	Compertive Bidding & E Shopping L-1
574	Dividers 15 cm Spring	64	Dividers 15 cm Spring Hardened and tempered steel, spring joint type	Mech. Tractor	4	80	320	Compertive Bidding & E Shopping L-1
575	Drift Punch Copper 15 Cm	65	drift punch copper 15 cm,, 8 MM dia	Mech. Tractor	4	600	2400	Compertive Bidding & E Shopping L-1
576	Drift, copper 10 x 15 1/2 mm	66	Drift, copper 10 x 15 1/2 mm	Mech. Tractor	2	800	1600	Compertive Bidding & E Shopping L-1
577	Drill point angle gauge	67	Material Steel, Measures 64ths & mm,ermanently etched graduations (64ths and mm), Bevel	Mech. Tractor	1	500	500	Compertive Bidding & E Shopping L-1
578	Drill twist 1.5 mm to 15 mm (various sizes) by 0.5 mm	68	Drill twist 1.5 to 15 mm (various sizes) by 0.5 mm material H.S. Steel	Mech. Tractor	4	150	600	Compertive Bidding & E Shopping L-1
579	Electric Soldering Iron 230 V 60 watts 230 V 25 watts	69	Electric Soldering Iron 230V 60 watts 230V 25 watt, tube of solder with stand and cleaning pad	Mech. Tractor	2 each	600	1200	Compertive Bidding & E Shopping L-1
580	Electric testing screw driver	70	Material of Blade:#45 Carbon Steel, Cr-V Steel Material of Shell:as, ABS, Crystal/Transparent Cellulose Acetate Light:Long-Life Neon Light, Above 20, 000 Hours Working Line:Below 0, 5mA	Mech. Tractor	4	150	600	Compertive Bidding & E Shopping L-1
581	Engineer's square 15 cm. Blade	71	Try square 15 cm. Blade in inch and mm marking, carbon steel	Mech. Tractor	4	300	1200	Compertive Bidding & E Shopping L-1
582	Engineers stethoscope	72	Suitable for detecting faults in engines, bearings and other moving parts. Supplied with two	Mech. Tractor	1	4500	4500	Compertive Bidding & E Shopping L-1
583	Equipment puncture, in box,	73	probes 290 mm lo Box of M.S STEEL size 2'x1'x1' with lock and required material of puncture kit in it	Mech. Tractor	1	500	500	Compertive Bidding & E Shopping L-1
584	Feeler gauge 20 blades (metric)	74	Feeler gauge 20 blades (0.04 to 0.5 mm) Selective type with scratch and wear 2 . 2 .resistant blades	Mech. Tractor	2	200	400	Compertive Bidding & E Shopping L-1
585	File flat 20 cm bastard	78	Flat File 20 cm long Bastard Type made up of HCS.	Mech. Tractor	3	130	390	Compertive Bidding & E Shopping L-1
586	File, half round 20 cm second cut	76	File half round 20 cm second cut made up of HCS	Mech. Tractor	4	110	440	Compertive Bidding & E Shopping L-1
587	File, Square 20 cm second cut	77	File,square 20 cm second cut made up of HCS as per ISI	Mech. Tractor	4	115	460	Compertive Bidding & E Shopping L-1
588	File, Square 30 cm round	78	File,square 30 cm round made up of HCS as per ISI	Mech. Tractor	1	240	240	Compertive Bidding & E Shopping L-1
589	File, triangular 15 cm second cut	79	File triangular 15 cm second cut made up of HCS as per ISI	Mech. Tractor	4	120	480	Compertive Bidding & E Shopping L-1
590	Files assorted sizes and types including safe edge file (20 Nos)	80	Files assorted size sand types including safe edge file (20) carbon steel (5 cm-25cm	Mech. Tractor	2 set	280	560	Compertive Bidding & E Shopping L-1
591 592	Flat File 25 cm second cut Flat File 35 cm bastard	81	Flat File 25 cm second cut made of HCS Flat File 35 cm Bastard made of	Mech. Tractor Mech. Tractor	4	130	520 	Compertive Bidding & E Shopping L-1 Compertive
		52	HCS		· · ·			Bidding & E

593	Glow plug tester	85	Power input 8,5–15 Volt Max. current 80 Ampere	Mech. Tractor	2	4500	9000	Compertive Bidding & E
594	Granite surface plate 1600 x 1000 with stand and cover	86	1600*1000*150 mm grade zero granite with ISO standared with leveling screw stand and standard cover	Mech. Tractor	1	15000	15000	Shopping L-1 Compertive Bidding & E Shopping L-1
595	Grease Gun	87	Heavy duty steel head, Air bleeder valve & bulk loading facility, With rapid spin barrel thread for fast cartridge replacement,ider	Mech. Tractor	1	5000	5000	Compertive Bidding & E Shopping L-1
596	Grover – 3, 4, 6mm.	88	Grover – 3, 4, 6 mm	Mech. Tractor	1 Each	380	380	Compertive Bidding & E Shopping L-1
597	Growler	89	single phase a/c operation for 20- 100mm dia.	Mech. Tractor	2	3800	7600	Compertive Bidding & E
598	Hacksaw frame adjustable 20-30 cm	90	Hacksaw frame adjustable 20 -30 cm	Mech. Tractor	1	350	350	Shopping L-1 Compertive Bidding & E
599	Hammer Ball Peen 0.75 Kg	91	ball peen Hammer 0.75 kg. with wooden handle	Mech. Tractor	4	100	400	Shopping L-1 Compertive Bidding & E
600	Hammer Chipping 0.25 Kg	92	Hammer Chipping 0.25 Kg ,dropped forged with special	Mech. Tractor	4	100	400	Shopping L-1 Compertive Bidding & E
601	Hammer copper 1 Kg with handle	93	wooden handle Hammer copper 1Kg with handle	Mech. Tractor	4	150	600	Shopping L-1 Compertive Bidding & E Shopping L-1
602	Hammer Mallet	94	Mallet medium size size - 6"(slight curved type) material - (shisham wood) handle - Tapered	Mech. Tractor	4	100	400	Compertive Bidding & E Shopping L-1
603	Hand operated crimping tool (i) for crimping up to 4mm and (ii) for crimping up to 10mm	96	rectancle type Hand operated crimping tool (i) for crimping up to 4mm and (ii) for crimping up to 10mm Two	Mech. Tractor	2	1500	3000	Compertive Bidding & E Shopping L-1
604	Hand reamers adjustable 10.5 to 11.25 mm, 11.25 to 12.75 mm, 12.75 to 14.25 mm and 14.25 to 15.75 mm	97	different type 10.5 to 11.25 mm, 11.25 to 12.75 mm, 12.75 to 14.25 mm and 14.25 to 15.75 mm	Mech. Tractor	2 set	3000	6000	Compertive Bidding & E Shopping L-1
605	Hand Shear Universal 250mm	98	Hand Shear Universal 250 mm	Mech. Tractor	2	250	500	Compertive Bidding & E
606	Hand vice – 37 mm	99	37mm	Mech. Tractor	2	250	500	Shopping L-1 Compertive Bidding & E Shopping L-1
607	Hollow Punch set of seven pieces 6mm to 15mm	100	Hollow punch of 7 pcs. 6mm - 15 mm	Mech. Tractor	2 Set each	260	520	Compertive Bidding & E Shopping L-1
608	Hydraulic jack HI-LIFT type -3 ton capacity,	101	Min HT 130, Max HT410, Dimension 632x242x160, Net WT. 19 kg. Capacity 3000 kg	Mech. Tractor	1	3500	3500	Compertive Bidding & E Shopping L-1
609	Injector — Multi hole type, Pintle type	102	Injector– Multi hole type, Pintle type	Mech. Tractor	4	625	2500	Compertive Bidding & E Shopping L-1
610	Injector cleaning unit	103	1500-2000bar multi spray nozzle injector of TDI Engine	Mech. Tractor	1	6000	6000	Compertive Bidding & E Shopping L-1
611	Insulated Screw driver 20 cm x 9mm blade	105	Screw driver unbreakable plastic handle with alloy steel rod 30 cm x 9 mm blade	Mech. Tractor	8	125	1000	Compertive Bidding & E Shopping L-1
612	Insulated Screw driver 30 cm x 9mm blade	106	Screw driver unbreakable plastic handle with alloy steel rod 30 cm x 9 mm blade	Mech. Tractor	8	150	1200	Compertive Bidding & E Shopping L-1
613	Lifting jack screw type 3 ton capacit	107	Screw jack bollte type C.I. Body with rod 3 ton capacity	Mech. Tractor	4	700	2800	Compertive Bidding & E Shopping L-1
614	Magneto spanner set with 8 spanners	108	Magneto spanner with 8 spanners of 8 spanner pivated in a metal case	Mech. Tractor	1 set	1200	1200	Compertive Bidding & E Shopping L-1
615	Magnifying glass 75mm	109	Magnifying glass with metal frame 75 mm	Mech. Tractor	2	400	800	Compertive Bidding & E Shopping L-1
616	Marking out table 90X60X90 cm.	110	Marking out table 90 X 60 X 90 cm	Mech. Tractor	1	2500	2500	Compertive Bidding & E Shopping L-1
617	Multi Scan Tool	111	Multi Scan Tool for petrol and diesel engine	Mech. Tractor	1	5500	5500	Compertive Bidding & E Shopping L-1
618	Multimeter digital	112	dc-200mv-1000-v,0-10a&ac200mv- 750;0-10aresitance 0-20mq and31/2 digi	Mech. Tractor	5	800	4000	Compertive Bidding & E Shopping L-1
619	Oil can 0.5/0.25 liter capacity	113	0.5/0.25 liter capacity	Mech. Tractor	2	150	300	Compertive Bidding & E Shopping L-1
620	Oil pump for dismantling and assem	114	Gear type / rotor type oil pump	Mech. Tractor	2	5000	10000	Compertive Bidding & E Shopping L-1
621	Oil Stone 15 cm x 5 cm x 2.5 cm	115	Oil Stone 15cm x 5 cm x 2.5 cm	Mech. Tractor	1	150	150	Compertive Bidding & E Shopping L-1
622	Oscilloscope 20MHz	116	Oscilloscope20MHz	Mech. Tractor	1	15000	15000	Compertive Bidding & E Shopping L-1

623	Outside micrometer 0 to 25 mm	117	0 to 25 mm	Mech. Tractor	4	4500	18000	Compertive Bidding & E
624	Outside micrometer 25 to 50 mm	118	25 to 50 mm	Mech. Tractor	4	5000	20000	Shopping L-1 Compertive Bidding & E
625	Outside micrometer 75 to 100 mm	120	75 to 100 mm	Mech. Tractor	1	4500	4500	Shopping L-1 Compertive Bidding & E Shopping L-1
626	Philips Screw Driver set of 5 pieces (100 mm to 300 mm)	121	Philips Screw Driver of Spieces (100 mm to 300 mm) unbreakable plastic handle with alloy steel rod Philips head	Mech. Tractor	2 Set	450	900	Compertive Bidding & E Shopping L-1
627	Pipe cutting tool	122	Fast, clean pipe cutting by hand, pipe size 3 - 50 mm	Mech. Tractor	2	450	900	Compertive Bidding & E
628	Pipe flaring tool	123	ISI MARK	Mech. Tractor	2	450	900	Shopping L-1 Compertive Bidding & E
629	Piston Ring expander and remover.	125	50-100mm (2" - 3-15/16") diameter Smooth gripping edge Spring loaded, Soft rubber handles	Mech. Tractor	1	250	250	Shopping L-1 Compertive Bidding & E Shopping L-1
630	Piston Ring groove cleaner.	126	For pistons with grooves of 1/16 In., 5/64 In., 3/32 In., 1/8 In., and 3/16 In. Range 2.6 In. to 5 In,Blades are in the wheel,Rotate to bring desired blade into position	Mech. Tractor	1	100	100	Compertive Bidding & E Shopping L-1
631	Pliers combination 20 cm.	127	Combination type 20 cm Professional Quality Heavy duty Acetate moulded handles(220Volts)	Mech. Tractor	1	200	200	Compertive Bidding & E Shopping L-1
632	Pliers flat nose 15 cm	128	Induction hardened jaws Flat e plier 15 cm Professional Quality Heavy duty Acetate moulded handles induction	Mech. Tractor	1	250	250	Compertive Bidding & E Shopping L-1
633	Pliers round nose 15 cm	129	hardened iaws Round e plier 15 cm Professional Quality Heavy duty Acetate moulded handles induction	Mech. Tractor	2	250	500	Compertive Bidding & E Shopping L-1
634	Pliers side cutting 15 cm	130	hardened iaws Pliers side cutting 15 cm long insulated diagonal cutting plier	Mech. Tractor	2	250	500	Compertive Bidding & E
635	Portable electric drill Machine	131	Rated power input 500 W, No-load speed 0 – 2.600 rpm, Power output 250 W, Weight 1,5 kg, Chuck capacity - 10 mm, Functions - Forward/reverse operation.	Mech. Tractor	1	2000	2000	Shopping L-1 Compertive Bidding & E Shopping L-1
636	Portable oil monitoring Indicator	132	0-12 v, indicator	Mech. Tractor	1	4500	4500	Compertive Bidding & E Shopping L-1
637	Power Supply 0-12 v, lamp	133	0-12 v, lamp	Mech. Tractor	1	200	200	Compertive Bidding & E Shopping L-1
638	Prick Punch 15 cm	134	Prick punch 15cm. High grade steel, 30 degree point angle	Mech. Tractor	4	100	400	Compertive Bidding & E Shopping L-1
639	Punch Letter 4mm	135	4 mm Carbon SteelHardened & Tempered Cutting Edge	Mech. Tractor	2 set	200	400	Compertive Bidding & E Shopping L-1
640	Radiator cut section-cross flow	136	Radiator cut section-cross flow diesel engine	Mech. Tractor	1	4000	4000	Compertive Bidding & E Shopping L-1
641	Radiator cut section-down flow	137	Radiator cut section-down flow diesel engine	Mech. Tractor	1	4000	4000	Compertive Bidding & E Shopping L-1
642	Radiator pressure cap	138	Radiator pressure cap for diesel engine	Mech. Tractor	2	50	100	Compertive Bidding & E Shopping L-1
643	Rake	139		Mech. Tractor	1	2500	2500	Compertive Bidding & E Shopping L-1
644	Rear axle assembly-gear box steering box assembly of the diesel engine	140	300*300mm	Mech. Tractor	1 set	25000	25000	Compertive Bidding & E Shopping L-1
645	Ridger.	141	The FARMKING MOUNTED TYNE RIDGER can produce ridge with maximum width of 1050 mm It has heavy duty 62 mm sq. box type frames. Ridge depth & size can be adjusted accordingly. 3 furrow frame	Mech. Tractor	2	5000	10000	Compertive Bidding & E Shopping L-1
646	Rivet sets snap and Dolly combined 3mm, 4mm, 6mm	142	Rivet s snap and Dolly combined 3 mm, 4mm, 6mm	Mech. Tractor	4	2500	10000	Compertive Bidding & E Shopping L-1
647	Scraper flat 25 cm	143	Scraper flat 25 cm	Mech. Tractor	2	150	300	Compertive Bidding & E Shopping L-1
648	Scraper half round 25 cm	144	Scraper half round 25cm	Mech. Tractor	2	50	100	Compertive Bidding & E Shopping L-1
649	Scraper Triangular 25 cm	145	Scraper Triangular 25 cm	Mech. Tractor	2	50	100	Compertive Bidding & E Shopping L-1

650	Scriber 15 cm	146	Scriber straight booth and sharp 15cm	Mech. Tractor	2	80	160	Compertive Bidding & E
651	Scriber with scribing black universal	147	Scriber with scribing block universa	Mech. Tractor	2	80	160	Shopping L-1 Compertive Bidding & E
652	Set of stock and dies - UNC, UNF and metric	148	5mm to24 mm H C S	Mech. Tractor	2 set	1500	3000	Shopping L-1 Compertive Bidding & E
653	Soldering Copper Hatchet type 500gms	149	Soldering Copper Hatchet 500 gms	Mech. Tractor	4	450	1800	Shopping L-1 Compertive Bidding & E
654	Spanner Clyburn 15 cm	150	spanner Clyburn 15 cm spanner length - 15 cm	Mech. Tractor	1	500	500	Shopping L-1 Compertive Bidding & E
655	Spanner D.E. set of 12 pieces (6mm to 32mm)	151	Double ended 12 metric size 6 to 32 mm forged from chrome - vanadium steel, fully hardened and tempered ,jaws at 15 degree angles with full finish polished	Mech. Tractor	4	1000	4000	Shopping L-1 Compertive Bidding & E Shopping L-1
656	Spanner T. flocks for screwing up and up-screwing inaccessible positions	152	ISI MARK	Mech. Tractor	2	300	600	Compertive Bidding & E Shopping L-1
657	Spanner, adjustable 15cm.	153	Adjustable spanner (pipe wrench 15 cm) drop forged steel, ribbed	Mech. Tractor	2	375	750	Compertive Bidding & E
658	Spanner, ring set of 12 metric sizes 6 to 32 mm.	154	Bi-hexagonal ring spanner drop forged carbon steel chrome plated polished head ring of 12 metric sizes 6 to 32 mm.	Mech. Tractor	2	1000	2000	Shopping L-1 Compertive Bidding & E Shopping L-1
659	Spanners socket with speed handle, T-bar, ratchet and universal upto 32 mm set of 28 pieces with box	155	Hex or Bi-Hex 6mm to 32 mm square drive socket with attachment in metal Box	Mech. Tractor	2	2000	4000	Compertive Bidding & E Shopping L-1
660	Spirit level 2V 250, 05 metre	156	Spirit level 2View 250, 05 metre Multi type (inclined, horizontal vertical) Aluminium body	Mech. Tractor	2	250	500	Compertive Bidding & E Shopping L-1
661	Spring tension tester	157	Spring tension tester range 0 -20 Kg/cm2, dial type with sound signal ratchet type	Mech. Tractor	1	500	500	Compertive Bidding & E Shopping L-1
662	Stake grooving.	158	stake grooving	Mech. Tractor	2	2500	5000	Compertive Bidding & E Shopping L-1
663	Stake, hatchet.	159	T" shaped stake, made of carbon steel	Mech. Tractor	2	2400	4800	Compertive Bidding & E Shopping L-1
664	Steel measuring tape 10 meter in a case	161	Blade width 13mm., Tape thickness 0.5mm (approx)., unbeakable tape, shows mm, cm and inches	Mech. Tractor	4	100	400	Compertive Bidding & E Shopping L-1
665	Steel rule 15 cm inch and metric	162	Standard Steel Rule of 15cm Length both side marking inches	Mech. Tractor	4	38	152	Compertive Bidding & E
666	Steel rule 30 cm inch and metric	163	and mm Standard Steel Rule of 30cm Length both side marking inches	Mech. Tractor	4	50	200	Shopping L-1 Compertive Bidding & E
667	Steel wire Brush 50mmx150mm	164	and mm 150 X 50 mm 5 rows and 3 rows SS	Mech. Tractor	4	50	200	Shopping L-1 Compertive Bidding & E
668	Stone, carborandum 15 x 5 x 4 cm smooth and rough.	165	Coarse on one side and fine on other slip 15 x 5 x 4 cm smooth and	Mech. Tractor	1 each	80	80	Shopping L-1 Compertive Bidding & E
669	Straight edge gauge 2 ft.	166	rough As per ISI Length (in) 2', Length (mm) 600mm, Thickness (in) 11/64", Thickness (mm) 4.4mm, Width (in) 1- 13/32",Width (mm) 36mm,	Mech. Tractor	2	800	1600	Shopping L-1 Compertive Bidding & E Shopping L-1
670	Straight edge gauge 4 ft.	167	Accuracy (in) + 0002" per foot 4ft	Mech. Tractor	2	1600	3200	Compertive Bidding & E
671	Stud extractor set of 3	168	ISI MARK	Mech. Tractor	2 set	800	1600	Shopping L-1 Compertive Bidding & E
672	Stud remover with socket handle	169	Stud remover (soutable to remove all sizes of broken studs or bolts)	Mech. Tractor	1	1200	1200	Shopping L-1 Compertive Bidding & E Shopping L-1
673	Surface gauge with dial test indicator plunger type i.e. 0.01 mm	170	surfface gauge with dial test indigater plunger	Mech. Tractor	2	1250	2500	Compertive Bidding & E
674	Tachometer (Counting type)	171	Rotating surface may be touched by the cone convex tip, funner concave tip, or speed wheel for instant results. The tachometer displays revolutions per minute (RPM) from 10.000 To 5000	Mech. Tractor	1	4500	4500	Shopping L-1 Compertive Bidding & E Shopping L-1
675	Taps and Dies complete sets (5 type	172	Taps and Dies complete in box (Metric) As per 5mm to24 mm H C S	Mech. Tractor	1 set	2500	2500	Compertive Bidding & E Shopping L-1
676	Taps and wrenches - Metric	173	5mm to24 mm H C S	Mech. Tractor	2 set	1000	2000	Compertive Bidding & E Shopping L-1

677	Telescope gauge	174	elescopic Gauges With knurled satin finish bodies providing positive adjustment of the hardened and radius ground	Mech. Tractor	4	4500	18000	Compertive Bidding & E Shopping L-1
678	Temperature gauge 0-100 deg c	175	Bimetallic thermometer, capillary thermometer, remote thermometer, cooking thermameter 0-100 depC	Mech. Tractor	2	500	1000	Compertive Bidding & E Shopping L-1
679	Thermostat	176	Bimetallic	Mech. Tractor	2	800	1600	Compertive Bidding & E Shopping L-1
680	Thread pitch gauge metric, BSW	177	Thread pitch gauge metric, BSW, BSF, NC, MF & SAE Thin spring steel, thread profile on blade about 25 mm to 30 mm	Mech. Tractor	1	150	150	Compertive Bidding & E Shopping L-1
681	Torque wrenches 5-35 Nm, 12-68 Nm & 50-225 Nm	178	Click-type torque wrench, with a socket attached, adjusted by turning the knurledhandle torque 5-35 Nm, 12-68 Nm & 50-225 Nm	Mech. Tractor	1 each	15000	15000	Compertive Bidding & E Shopping L-1
682	Trammel 30 cm	179	Maximum diving Range 300 mm The heads are die cast with black wrinkle finish and have hardened, forged steel divider points The points screw into the heads, and the pencil socket accompanying of trammel heads can be used in place of either point. Includes 2 Heads, 2	Mech. Tractor	2	500	1000	Compertive Bidding & E Shopping L-1
683	Turbocharger cut sectional view	180	turbo charger cut section (use in tractor)	Mech. Tractor	1	3500	3500	Compertive Bidding & E Shopping L-1
684	Tyre pressure gauge with holding nipple	181	tyre pressure gauge to read upto 120 psi/Kg/cm2	Mech. Tractor	1	450	450	Compertive Bidding & E Shopping L-1
685	Universal puller for removing pulleys, bearings	182	drop forge steel three leg with metric size bolt thread 350 mm	Mech. Tractor	1	3000	3000	Compertive Bidding & E Shopping L-1
686	V' Block 75 x 38 mm pair with Clamps	183	V' block pair with clamps 7.5 x 3.75 cm	Mech. Tractor	2	700	1400	Compertive Bidding & E Shopping L-1
687	Vacuum gauge to read 0 to 760 mm of Hg.	184	to read 120 kg/sq. cm and vacuum gauge 0 to 760 mm	Mech. Tractor	2	1750	3500	Compertive Bidding & E Shopping L-1
688	Valve Lifter	185	Valve Lifter	Mech. Tractor	1	200	200	Compertive Bidding & E Shopping L-1
689	Valve spring compressor universal.	186	Valve spring compressor universal.	Mech. Tractor	1	1000	1000	Compertive Bidding & E Shopping L-1
690	vernier caliper 0-300 mm with least count 0.02mm	187	Vernier caliper 150 or 200 mm inside and outside, depth to read inches and mm and least count 0.02 mm	Mech. Tractor	4	3000	12000	Compertive Bidding & E Shopping L-1
691	Vice grip pliers	188	chrome vanadium steel hardened and tempered flat serrated joins for firm grip induction hardened	Mech. Tractor	2	1000	2000	Compertive Bidding & E Shopping L-1
692	Voltmeter 50V/DC	189	Volt meter 50V/DC digital	Mech. Tractor	4	500	2000	Compertive Bidding & E Shopping L-1
693	Water pump for dismantling and assembling	190	Water pump for dismantling and assembling	Mech. Tractor	2	1500	3000	Compertive Bidding & E Shopping L-1
694	Wing compass 25 cm	191	Wing compass 25 cm	Mech. Tractor	2	90	180	Compertive Bidding & E Shopping L-1
695	Wire Gauge (metric)	192	Wire Gauge (metric) Imperial type Circular stainless steel, graduations in MM & SWG	Mech. Tractor	4	400	1600	Compertive Bidding & E Shopping L-1
696	Work bench 250 x 120 x 60 cm with 4 vices 12cm Jaw	193	size 250x120x60 cm frame made by cast iron with heavy three pairs legs (approx. Wt. 300 kg) with 3" thick hard wood phatta top side 2" thick hard wood in middle.	Mech. Tractor	2	9000	18000	Compertive Bidding & E Shopping L-1
697	Arbor press hand operated 2 ton capacity	196	4 vices of 12cm Arbor press hand operated 2 ton capacity	Mech. Tractor	1	2500	2500	Compertive Bidding & E Shopping L-1
698	Automotive exhaust 5 gas analyzer (petrol & Diesel) or Diesel Smoke meter	197	Auto motive exhaust 5 gas analyzer (petrol & Diesel) or Diesel Smoke meter	Mech. Tractor	1	15000	15000	Compertive Bidding & E Shopping L-1
699	Bench lever shears 250mm Blade x 3mm Capacity	198	Discrete Component Trainer / Basic Electronics Trainer		1	3500	3500	Compertive Bidding & E Shopping L-1
700	Discrete Component Trainer / Basic Electronics Trainer	199	Discrete Component Trainer / Basic Electronics Traine		1	1200	1200	Compertive Bidding & E Shopping L-1
701	Drilling machine bench to drill up to 12mm dia along with accessories	200	Drilling machine bench to drill up to 12mm dia along	Mech. Tractor	1	12000	12000	Compertive Bidding & E Shopping L-1
702	Gas Welding Table 1220mm x760m	201	Table 1220mm x 760mm frame,	Mech. Tractor	1	5000	5000	Compertive

703	Multi Scan Tool	203	Multi scan tool petrol and diesel engine	Mech. Tractor	1	5500	5500	Compertive Bidding & E
			_					Shopping L-1
704	P.T.O. operated rotary lawn mower	204	Tractor mounted lawn mower	Mech. Tractor	1	15000	15000	Compertive
			1.simple structure 2.strength in					Bidding & E
			cutting 3.lower and trim cutting					Shopping L-1
			stubble 4.reliable operation					5 777 5
			working width 1500 mm. cutting					
705	Pneumatic rivet gun	205	Pneumatic rivet gun	Mech. Tractor	2	2250	4500	Compertive
	Ũ		5					Bidding & E
								Shopping L-1
706	Spring tension tester	206	Spring tension tester range 0 -20	Mech. Tractor	1	5000	5000	Compertive
			Kg/cm2, dial type with sound					Bidding & E
			signal ratchet type					Shopping L-1
707	Welding plant Oxy-Acetylene	209	WELDING PLANT OXYACETYLENE	Mech. Tractor	1	10000	10000	Compertive
	complete (high pressure)	200	COMPLETE (HIGH PRESSURE)		-	10000		Bidding & E
			GAS CUTTING AND WELDING SET					Shopping L-1
			1) DOUBLE STAGE REGULATIONS					Shopping L I
			FOR OXYGEN AND ACETYLENE					
			suitable for 230 bar					
708	Book shelf (glass panel) 6½ ' x 3' x 1	237	6½ ' x 3' x 1½'	Mech. Tractor	2	1500	3000	Compertive
								Bidding & E
								Shopping L-1
709	Computer Chair	238	ISI MARK	Mech. Tractor	2	500	1000	Compertive
								Bidding & E
								Shopping L-1
710	Computer Table	239	ISI MARK	Mech. Tractor	2	1000	2000	Compertive
								Bidding & E
								Shopping L-1
711	Discussion Table 8' x 4' x 2½ '	241	8′ x 4′ x 2½ '	Mech. Tractor	2	2500	5000	Compertive
-								Bidding & E
								Shopping L-1
712	Fire Extinguishers, first- aid box	242	Good quality	Mech. Tractor	4	2500	10000	Compertive
								Bidding & E
								Shopping L-1
713	Instructional Material – NIMI	243	Good quality	Mech. Tractor	2 set	500	1000	Compertive
, 10	Books/Ref.books As required	215			2 300	500	1000	Bidding & E
	books/ tenbooks As required							Shopping L-1
714	Internet connection with all	244	Good quality	Mech. Tractor	1	1000	1000	Compertive
	accessories				-	1000		Bidding & E
								Shopping L-1
715	Laser printer	245	hp laser jet p1606dn	Mech. Tractor	1	5000	5000	Compertive
0		2.0			-	5000		Bidding & E
								Shopping L-1
716	LCD projector/ LED /LCD TV (42")	246	Good quality	Mech. Tractor	1	25000	25000	Compertive
/10		240		Wieelli. Hactor	-	23000	25000	Bidding & E
								Shopping L-1
717	Multimedia DVD for Automotive	247	Good quality	Mech. Tractor	2 set	2500	5000	Compertive
, 1,	application/subjects	217	cood quanty	incent fractor	2 300	2500	5000	Bidding & E
	application, subjects							Shopping L-1
718	Online UPS 2KVA	248	2KVA	Mech. Tractor	1	2500	2500	Compertive
								Bidding & E
								Shopping L-1
719	Storage Rack 6½ ' x 3' x 1½'	250	6½ ' x 3' x 1½'	Mech. Tractor	2	1500	3000	Compertive
								Bidding & E
								Shopping L-1
720	Storage shelf 6½ ' x 3' x 1½'	251	6½ ' x 3' x 1½'	Mech. Tractor	5	2000	10000	Compertive
	Ũ							Bidding & E
								Shopping L-1
721	Tool Cabinet - 6½ ' x 3' x 1½'	254	6½ ' x 3' x 1½'	Mech. Tractor	2	2500	5000	Compertive
					_			Bidding & E
								Shopping L-1
722	Trainees locker 6½ ' x 3' x 1½'		6½ ' x 3' x 1½'	Mech. Tractor	2	2500	5000	Compertive
					-			Bidding & E
		255						Shopping L-1
723	Desktop computer and related MS	235	ISI MARK	Mech. Tractor	2	30000	60000	Compertive
, 23	office software	2.70			-	30000		Bidding & E
	Since Soltwale							Shopping L-1
724	Stools	249	Good quality	Mech. Tractor	42	1000	42000	Compertive
, 24		243	Sood quality	meen. Hactor	74	1000	72000	Bidding & E
								Shopping L-1
725	Allen Keyset of 12 pieces (2mm to	1	Allen Keyset of 12 pieces (2mm to	Mech. Motor	6	500	3000	Compertive
723	14mm)	1	14mm)	Vehicle	0	500	3000	Bidding & E
	±¬'''''')			venicie				
726	Caliper inside 15 cm Spring	n	Caliper inside 15 cm Spring	Mech. Motor	2	50	100	Shopping L-1 Compertive
120	canper mane 15 cm spring	2	camper mande 15 cm spring		2	50	100	
				Vehicle				Bidding & E
70-	Coliners outside 15 and an in		Coliners outside 15 and an inter	Mash Mart	14	00	1100	Shopping L-1
727	Calipers outside15 cm spring	3	Calipers outside15 cm spring	Mech. Motor	14	80	1120	Compertive
				Vehicle				Bidding & E
700	Contor Durch 10 mm Dia 100	-	Contor Durch 10 mm Dia 100	Mash Mart	2	100	200	Shopping L-1
728	Center Punch 10 mm. Dia. x100	4	Center Punch 10 mm. Dia. x100	Mech. Motor	2	100	200	Compertive
	mm.		mm.	Vehicle				Bidding & E
700	Divident 15 and 6 a los	-	Dividena 15 Cr. 1	Mark Mark	2	400	202	Shopping L-1
729	Dividers 15 cm Spring	5	Dividers 15 cm Spring	Mech. Motor	2	100	200	Compertive
				Vehicle				Bidding & E
					_			Shopping L-1
730	Electrician Screw Driver 250mm	6	Electrician Screw Driver 250mm	Mech. Motor	2	50	100	Compertive
				Vehicle				Bidding & E
				ļ				Shopping L-1
731	Hammer ball peen 0.5 kg with	7	Hammer ball peen 0.5 kg with	Mech. Motor	2	250	500	Compertive
	handle		handle	Vehicle				Bidding & E
				ļ				Shopping L-1
732	Hands file 20 cm. Second cutflat	8	Hands file 20 cm. Second cutflat	Mech. Motor	12	250	3000	Compertive
				Vehicle				Bidding & E
				ļ				Shopping L-1
				1	4.2			
733	Philips Screw Drive r set	9	Philips Screw Drive r set	Mech. Motor	12	150	1800	Compertive
733	Philips Screw Drive r set of5pieces(100mmto300 mm)	9	Philips Screw Drive r set of5pieces(100mmto300 mm)	Mech. Motor Vehicle	12	150	1800	Compertive Bidding & E

	Pliers combination 20 cm.	10	Pliers combination 20 cm.	Mech. Motor	2	150	300	Compertive
				Vehicle	-			Bidding & E Shopping L-
735	Screw driver20cm.X 9mm. Blade	11	Screw driver20cm.X 9mm. Blade	Mech. Motor Vehicle	14	70	980	Compertive Bidding & E
720	Caraudrium 20 am V Omm Blada	10	Caraudrivar 20 am. V Omm. Blada	Mach Matar	2	80	100	Shopping L-
736	Screwdriver 30 cm. X 9mm. Blade	12	Screwdriver 30 cm. X 9mm. Blade	Mech. Motor Vehicle	2	80	160	Compertive Bidding & E
								Shopping L-
737	Scriber 15 cm	13	Scriber 15 cm	Mech. Motor	14	55	770	Compertive
				Vehicle				Bidding & E
738	SpannerD.E.set of 12 pieces (6mm	14	SpannerD.E.set of 12 pieces (6mm	Mech. Motor	2	500	1000	Shopping L- Compertive
	to 32mm)		to 32mm)	Vehicle				Bidding & E
					-			Shopping L-
739	Spanner, ringset of 12 metric sizes 6 to 32 mm.	15	Spanner, ringset of 12 metric sizes 6 to 32 mm.	Mech. Motor Vehicle	2	550	1100	Compertive Bidding & E
	0 10 32 1111.		to 52 mm.	venicie				Shopping L-
740	Spanner s socket with speed	16	Spanner s socket with speed	Mech. Motor	12	1800	21600	Compertive
	handle, T-bar, ratchetanduniversal		handle, T-bar, ratchetanduniversal	Vehicle				Bidding & E
	upto 32mm set of28 pieces		upto 32mm set of28 pieces					Shopping L-
741	withbox Steel rule30 cminch andmetric	17	withbox Steel rule30 cminch andmetric	Mech. Motor	2	60	120	Compertive
				Vehicle				Bidding & E
								Shopping L-
742	Steel tool box with lock and	18	Steel tool box with lock and	Mech. Motor	14	600	8400	Compertive
	key(foldingtype)400x200x150mm		key(foldingtype)400x200x150mm	Vehicle				Bidding & E Shopping L-
743	Wire cutter and stripper	19	Wire cutter and stripper	Mech. Motor	12	90	1080	Compertive
				Vehicle				Bidding & E
744	Adjustable	20	Adjustable	Mech. Motor	2	480	960	Shopping L-
/44	spanner(pipewrench350mm)	20	spanner(pipewrench350mm)	Vehicle	2	460	960	Compertive Bidding & E
	spanner(pipewrenenssonini)		spanner (pipewrenenssonnin)	Venicie				Shopping L-
745	AC alternator slipring puller	21	AC alternator slipring puller	Mech. Motor	1	250	250	Compertive
				Vehicle				Bidding & E
746	Ammeter	23	Ammeter	Mech. Motor	4	450	1800	Shopping L- Compertive
,40	300A/60ADCwithexternal shunt	23	300A/60ADCwithexternal shunt	Vehicle	-	430	1000	Bidding & E
								Shopping L-
747	Air impactwrench	25	Air impact wrench	Mech. Motor	2	1500	3000	Compertive
	withstandardaccessories		withstandardaccessories	Vehicle				Bidding & E
748	Anvil50Kgswith Stand	26	Anvil50Kgswith Stand	Mech. Motor	1	6000	6000	Shopping L- Compertive
			······	Vehicle	-			Bidding & E
								Shopping L-
749	Auto Electricaltestbench	27	Auto Electricaltestbench	Mech. Motor	1	5500	5500	Compertive
				Vehicle				Bidding & E Shopping L-
750	Battery–charger	28	Capable to charge batteries from	Mech. Motor	2	6000	12000	Compertive
			5AH-150AH	Vehicle				Bidding & E
751	Belt Tensionergauge	20	Car Jetwasher with standard	Mech. Motor	1	6000	6000	Shopping L- Compertive
/51	Den rensionergauge	30	accessories	Vehicle	1	0000	0000	Bidding & E
								Shopping L-
752	Car Jetwasher with standard	31	Minimum3 Phase 1HP 1400RPM Motor, 3 Reciprocating Plungers	Mech. Motor	1	13500	13500	Compertive
	accessories		with pressure regulator & gauge.	Vehicle				Bidding & E Shopping L-
			8m Water hose with pressure					Shopping L-
			adjustable brass nozzle.					
753	Compression testing gauge	36	adjustable brass nozzle.	Mech. Motor	2	2600	5200	Compertive
753	suitable for diesel Engine with	36	•	Mech. Motor Vehicle	2	2600	5200	Bidding & E
		36	adjustable brass nozzle. suitable for diesel Engine with		2	2600 300	5200 600	Bidding & E Shopping L-
	suitable for diesel Engine with standard accessories		adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle				Bidding & E Shopping L- Compertive
754	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg	37	adjustable brass nozzle. suitable for diesel Engine with	Vehicle Mech. Motor Vehicle	2	300	600	Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner-		adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor				Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
754	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg	37	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle	2	300	600	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
754 755	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge	37	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2	300	600	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
754 755	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping	37 39	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2	300 3500	600 3500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
754 755	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge	37 39	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2	300 3500	600 3500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
754 755 756	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping	37 39	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2	300 3500	600 3500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Bidding & E Shopping L-
754 755 756	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand)	37 39 41	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2	300 3500 4500	600 3500 4500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 756 757	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model	37 39 41 42	adjustable brass nozzle. suitable for diesel Engine with standard accessories	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 1 1	300 3500 4500 2500	600 3500 4500 2500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Bidding & E Shopping L-
754 755 756 757	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing	37 39 41	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2	300 3500 4500	600 3500 4500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E
754 755 756 757	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model	37 39 41 42	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 1 1	300 3500 4500 2500	600 3500 4500 2500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 756 757 758	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5	37 39 41 42	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2 1 1 1 1	300 3500 4500 2500	600 3500 4500 2500	Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 756 757 758	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5	37 39 41 42 44	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 1 2	300 3500 4500 2500 120	600 3500 4500 2500 240	Bidding & E Shopping L- Compertive Bidding & E
754 755 756 757 758 759	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm	37 39 41 42 44 45	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 1 2 2	300 3500 4500 2500 120 1500	600 3500 4500 2500 240 3000	Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 756 757 758 759	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5	37 39 41 42 44	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2 1 1 1 2	300 3500 4500 2500 120	600 3500 4500 2500 240	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
754 755 756 757 758 759	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm	37 39 41 42 44 45	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2 1 1 1 2 2	300 3500 4500 2500 120 1500	600 3500 4500 2500 240 3000	Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 757 758 759 760	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm	37 39 41 42 44 45	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2 1 1 1 2 2	300 3500 4500 2500 120 1500	600 3500 4500 2500 240 3000	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
754 755 757 758 759 760	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver	37 39 41 42 44 45 45	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 2 2 2	300 3500 4500 2500 120 1500 90	600 3500 4500 2500 240 3000 180	Bidding & E Shopping L- Compertive Bidding & E
754 755 757 758 759 760 761	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver Engineers stethoscope	37 39 41 42 44 45 47 47	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm 1.5 mm to 8 mm by 0.5mm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 2 2 2 1	300 3500 4500 2500 120 1500 90 2500	600 3500 4500 2500 240 3000 180 2500	Bidding & E Shopping L- Compertive Bidding & E Shopping L-
754 755 757 758 759 760 761	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver	37 39 41 42 44 45 47 47	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor	2 1 1 2 2 2	300 3500 4500 2500 120 1500 90	600 3500 4500 2500 240 3000 180	Bidding & E Shopping L- Compertive Bidding & E
754 755 757 758 759 760 761	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver Engineers stethoscope	37 39 41 42 44 45 47 47	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm 1.5 mm to 8 mm by 0.5mm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 2 2 2 1	300 3500 4500 2500 120 1500 90 2500	600 3500 4500 2500 240 3000 180 2500	Bidding & E Shopping L- Compertive Bidding & E
754 755 756 757 758 759 760 761 761	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver Engineers stethoscope Fileflat 20cmbastard Filesassortedsizesandtypesincludin	37 39 41 42 44 45 47 47	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm 1.5 mm to 8 mm by 0.5mm	Vehicle Mech. Motor Vehicle	2 1 1 2 2 2 1	300 3500 4500 2500 120 1500 90 2500	600 3500 4500 2500 240 3000 180 2500	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive
754 755 756 757 758 759 760 761 762	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver Engineers stethoscope Fileflat 20cmbastard	37 39 41 42 44 45 47 49 51	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm 1.5 mm to 8 mm by 0.5mm	Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle Mech. Motor Vehicle	2 1 1 2 2 2 2 1 4	300 3500 4500 2500 120 1500 90 2500 280	600 3500 4500 2500 240 3000 180 2500 1120	Bidding & E Shopping L- Compertive Bidding & E
753 754 755 756 757 758 759 760 761 762 763 764	suitable for diesel Engine with standard accessories Copper bit soldering iron0.25Kg Cylinder liner- Dry&wetliner,pressfit& slidefit liner Dial gauge type1Gr.A(completewithclamping devicesandwithmagnetic stand) Different type of Engine Bearing model Drift Punch Copper 15Cm Drill twist 1.5 mmto15mm(varioussizes) by0.5 mm Electrictesting screwdriver Engineers stethoscope Fileflat 20cmbastard Filesassortedsizesandtypesincludin	37 39 41 42 44 45 47 49 51 56	adjustable brass nozzle. suitable for diesel Engine with standard accessories 0.25 Kg 10 Different types on board 15 Cm 1.5 mm to 8 mm by 0.5mm	Vehicle Mech. Motor Vehicle	2 1 1 2 2 2 2 1 4	300 3500 4500 2500 120 1500 90 2500 280	600 3500 4500 2500 240 3000 180 2500 1120	Bidding & E Shopping L- Compertive Bidding & E Shopping L- Compertive

765	Fuelinjection pump, VE	61		Mech. Motor	1	20000	20000	Compertive
	pump/Distributorfuelrotarypump(DPC)pumps /along withspecialtoolsandaccessories.			Vehicle				Bidding & E Shopping L-1
766	Grease Gun heavy dutytrolleytype10kgcapciaty	63	10 kg capacity	Mech. Motor Vehicle	1	7000	7000	Compertive Bidding & E Shopping L-1
767	HammerChipping 0.25Kg	67	0.25kg	Mech. Motor Vehicle	5	80	400	Compertive Bidding & E
768	Hammercopper1Kgwith handle	68	1kg	Mech. Motor Vehicle	2	1500	3000	Shopping L-1 Compertive Bidding & E
769	HammerPlastic	70		Mech. Motor Vehicle	4	200	800	Shopping L-1 Compertive Bidding & E
770	Handoperatedcrimpingtool(i) for	71		Mech. Motor	1	480	480	Shopping L-1 Compertive
	crimping upto 4mmand(ii)forcrimping upto10mm		(i) up to 4mm (ii) up to 10mm	Vehicle				Bidding & E Shopping L-1
771	Hollow Punchsetofsevenpieces6mmto15m	73	6mm to 15mm	Mech. Motor Vehicle	1	470	470	Compertive Bidding & E
772	m Injectortesting set(Hand tester)	75		Mech. Motor	1	4500	4500	Shopping L-1 Compertive
			(Hand tester)	Vehicle				Bidding & E Shopping L-1
773	InsulatedScrewdriver 20cm x9mmblade	76		Mech. Motor Vehicle	2	80	160	Compertive Bidding & E
774	InsulatedScrewdriver 30cm	77	20 cm x 9mm blade	Mech. Motor	2	150	300	Shopping L-1 Compertive
	x9mmblade		30 cm x 9mm blade	Vehicle				Bidding & E Shopping L-1
775	Lefting jech screw 3 ton, 5 ton and	78	So cin x shim blade	Mech. Motor	1each	250	250	Compertive
	20 ton		3 ton, 5ton & 20 Ton	Vehicle				Bidding & E Shopping L-1
776	Magnetospannersetwith	79		Mech. Motor	1	1200	1200	Compertive
	8spanners			Vehicle				Bidding & E Shopping L-1
777	Magnifyingglass75mm	80	75mm	Mech. Motor Vehicle	2	4,500	9000	Compertive Bidding & E Shopping L-1
778	Multimeterdigital	81	751111	Mech. Motor	4	700	2800	Compertive
			LCD Display	Vehicle				Bidding & E Shopping L-1
779	Oilcan0.5/0.25litercapacity	82		Mech. Motor	2	150	300	Compertive
			0.5/0.25 liter capacity	Vehicle				Bidding & E Shopping L-1
780	Automotiv oil pump for	83		Mech. Motor	1	5000	5000	Compertive
	dismentling and assembling			Vehicle				Bidding & E Shopping L-1
781	Outsidemicrometer0to25 mm	84		Mech. Motor	1	2500	2500	Compertive
			0 to 25 mm	Vehicle				Bidding & E Shopping L-1
782	Outsidemicrometer 25 to50mm	85	25 to50mm	Mech. Motor	1	3000	3000	Compertive
				Vehicle				Bidding & E Shopping L-1
783	Piston Ringgroovecleaner.	91		Mech. Motor	1	550	550	Compertive
				Vehicle				Bidding & E Shopping L-1
784	PortableelectricdrillMachine	95		Mech. Motor	1	2500	2500	Compertive
			Upto 10mm (heavy duty)	Vehicle				Bidding & E Shopping L-1
785	Radiatorcut section-cross flow	98	Radiator with sectioned side tanks,	Mech. Motor	1	3500	3500	Compertive
			radiator core.	Vehicle				Bidding & E Shopping L-1
786	Radiatorcut section-downflow	99	Radiator with sectioned upper &	Mech. Motor	1	3500	3500	Compertive
			lower tanks, radiator core and cap.	Vehicle				Bidding & E Shopping L-1
787	SheetMetalGauge	105		Mech. Motor	1	150	150	Compertive
				Vehicle				Bidding & E Shopping L-1
788	SpannerT.flocksfor screwing upandup-screwing inaccessible	106		Mech. Motor Vehicle	2	250	500	Compertive Bidding & E
						100		Shopping L-1
789	Spark plug spanner 14mm x18mm xSize	108		Mech. Motor Vehicle	2	120	240	Compertive Bidding & E
700			Long bit for Alto/800			450	202	Shopping L-1
790	Steelmeasuring tape 10meter inacase	110	10mtr	Mech. Motor Vehicle	2	150	300	Compertive Bidding & E
701		140				1500	2000	Shopping L-1
791	Straightedgegauge2ft.	112		Mech. Motor Vehicle	2	1500	3000	Compertive Bidding & E
792	Studextractor setof 3	113		Mech. Motor	1	450	450	Shopping L-1 Compertive
				Vehicle				Bidding & E
793	Studremoverwithsocket handle	114		Mech. Motor	1	450	450	Shopping L-1 Compertive
				Vehicle				Bidding & E Shopping L-1
794	Surface gauge with dial	115		Mech. Motor	4	2500	10000	Compertive
	testindicator plunger typei.e.0.01mm		0.01 mm	Vehicle				Bidding & E Shopping L-1
	Tandemmastercylinderwithbooste	117		Mech. Motor	4	9000	36000	Compertive
795	•			Vehicle				Bidding & E
795	r			venicie				
795 796	•	119		Mech. Motor Vehicle	1	450	450	Shopping L-1 Compertive Bidding & E

797	Timinglighter	120		Mech. Motor Vehicle	1	3500	3500	Compertive Bidding & E
798	Turbochargercutsectionalview	122	Latest WGT type to show turbine,	Mech. Motor Vehicle	1	2500	2500	Shopping L-1 Compertive Bidding & E
799	Tyrepressuregaugewith holding nipple	123	impeller and compressor wheels.	Mech. Motor Vehicle	2	2800	5600	Shopping L-1 Compertive Bidding & E
800	Vacuumgauge toread0to 760mmof Hg.	126		Mech. Motor Vehicle	2	2800	5600	Shopping L-1 Compertive Bidding & E
801	Valvespringcompressoruniversal.	128	0 to 760 mm of Hg	Mech. Motor Vehicle	1	1200	1200	Shopping L-1 Compertive Bidding & E
802	verniercaliper0-300mm withleastcount 0.02mm	129	0-300 mm with least count	Mech. Motor Vehicle	2	2700	5400	Shopping L-1 Compertive Bidding & E
803	Vicegrip pliers	130	0.02mm	Mech. Motor Vehicle	1	430	430	Shopping L-1 Compertive Bidding & E
804		133	250 x 120 x 60 cm with 4 vices	Mech. Motor Vehicle	3	10000	30000	Shopping L-1 Compertive Bidding & E
	Work bench		12cm Jaw Two brake drums, vehicular air			0000	0000	Shopping L-1
805	Air Brake Assembly	134	compressor driven by suitable Electric Motor, air dryer, brake chamber . stop light, different valves, air pressure gauges. With all accessories.	Mech. Motor Vehicle	1	9000	9000	Compertive Bidding & E Shopping L-1
806	Cut section Model of Mock layoutof amotorcar–electricalsystemworkin g model	138	of a car to be arranged according to the electrical circuit of a car. Working of Self-starter, Alternator, Wiper Motor, Horn, lighting system, sparks from plug to be shown with Distributor & battery. Should be mounted on suitable table	Mech. Motor Vehicle	1	2500	2500	Compertive Bidding & E Shopping L-1
807	Cut section model sof shockabsorbers	139		Mech. Motor Vehicle	1	1500	1500	Compertive Bidding & E Shopping L-1
808	Cutsection of crossply and radial tyres	140		Mech. Motor Vehicle	1	32000	32000	Compertive Bidding & E
809	Cutsectionworkingmodelof automatictransmissionGearbox	141	Sectioned to show the internal mechanism of forward and reverse speeds.	Mech. Motor Vehicle	1	18000	18000	Shopping L-1 Compertive Bidding & E Shopping L-1
810	Cutsectionworkingmodelof centrifugalclutchassembly.	142	Centrifugal Clutch sectioned to show the internal details	Mech. Motor Vehicle	1	25000	25000	Compertive Bidding & E Shopping L-1
811	Cutsectionworkingmodelof Diaphragmclutchassembly.	143	Diaphragm Clutch sectioned to show the internal details	Mech. Motor Vehicle	1	2500	2500	Compertive Bidding & E Shopping L-1
812	Cutsectionworkingmodelof Singleplateclutchassembly.	144	Single plate Clutch sectioned to show the internal details	Mech. Motor Vehicle	1	2500	2500	Compertive Bidding & E Shopping L-1
813	Demonstrationboard of electroniclgnitionsystem, ignitioncoil	145	With HT coil, HT wires, Spark Plugs, ignition switch, coil, distributor, battery, and wiring.	Mech. Motor Vehicle	1	4500	4500	Compertive Bidding & E Shopping L-1
814	Disk brake with caliperassembly	147	Exhibiting Brake disc, Caliper assembly, tandem master cylinder, brake hoses, oil bottle, pedal, etc.	Mech. Motor Vehicle	2	10000	20000	Compertive Bidding & E Shopping L-1
815	Functional/experiment model of different type of sensors. With Different type of sensors like Throttle Position Sensor, Manifold Absolute Pressure Sensor, Engine Coolant Temperature Sensor, Vehicle Speed Sensor, Oxygen Sensor, Crankshaft Position Sensor, Camshaft Position Sensor, Intake Air	151	With Different type of sensors like Throttle Position Sensor, Manifold Absolute Pressure Sensor, Engine Coolant Temperature Sensor, Vehicle Speed Sensor, Oxygen Sensor, Crankshaft Position Sensor, Camshaft Position Sensor, Intake Air Temperature Sensor, Mass Air Flow Sensor, Knock Sensor with ECU.	Mech. Motor Vehicle	1	90000	90000	Compertive Bidding & E Shopping L-1
816	SteeringassemblyPowersteering	152	wheel, column, tie rod end. 2. Worm & Roller steering assembly with drop arm. 3. Recirculating Ballsteering with pitman shaft and drop Arm. 4. Hydraulic working power steering with steering wheel, column, flow pipe, hydraulic pump, oil reservoir. 5. Electric Assisted Power Steering with Rack and pinion, Electric Motor	Mech. Motor Vehicle	1	12000	12000	Compertive Bidding & E Shopping L-1
817	SynchronousGearboxwithstandfor Dismantling andassembly.	153	Gearbox with 5 Forward & 1 Reverse Gear	Mech. Motor Vehicle	1	5500	5500	Compertive Bidding & E Shopping L-1
818	Tandemmastercylinderwithbooste r	154	Working model	Mech. Motor Vehicle	1	9000	9000	Compertive Bidding & E Shopping L-1
819	tube tyer of car truks and motocycle	155		Mech. Motor Vehicle	1each	18000	#VALUE!	Compertive Bidding & E

820	tubeless tyer of car and truks	156		Mech. Motor Vehicle	1	22000	22000	Compertive Bidding & E
821	Working Modelof powerwindows	158	Showing parts like door, glass with motor and its gear arrangement	Mech. Motor Vehicle	1	10000	10000	Shopping L-1 Compertive Bidding & E Shopping L-1
822	Working modeloftorqueconverter	159	and operating switch. Model of LMV	Mech. Motor Vehicle	1	15000	15000	Compertive Bidding & E Shopping L-1
823	Air conditioned CRDIVehiclein runningcondition-LMV	160	New vehicle with CRDI engine, 04 strokes, 04 cylinders, BS-IV, fitted with air condition.	Mech. Motor Vehicle	1	600000	600000	Compertive Bidding & E Shopping L-1
824	Arborpress hand operated 2 ton capacity	161	2 ton capacity	Mech. Motor Vehicle	1	15000	15000	Compertive Bidding & E Shopping L-1
825	Automotive exhaust 5 gasanalyzer(petrol&Diesel) or Diesel SmokeMeter	162	Exhaust 5 Gas Analyzer Petrol ARAI approved to check CO, CO2, O2, and HC& NO. Diesel Smoke Meter ARAI approved.	Mech. Motor Vehicle	1	165000	165000	Compertive Bidding & E Shopping L-1
826	Multi Scan Tool with oscilloscope	166		Mech. Motor Vehicle	1	150000	150000	Compertive Bidding & E Shopping L-1
827	Springtension tester	167	Manually operated with analogue display.	Mech. Motor Vehicle	1	35000	35000	Compertive Bidding & E Shopping L-1
828	Cut section of 4/6 cylinder diesel engine in 6 cylinder diesel engine in movement of internal Air bagsimulator		6 cylinder diesel engine in working condition to show movement of internal parts Driver & Co Driver Air Bags, Seat	Mech. Motor Vehicle Mech. Motor	1	800000	800000	Compertive Bidding & E Shopping L-1 Compertive
823			belts with front seats, crash sensors, air bag ECU, Wiring Harness	Vehicle		00000		Bidding & E Shopping L-1
830	Air conditioning service Unit (Car) Suitable for R134A. Recovery with vacuum pump, automatic drain & stop after recovery.	173	Suitable for R134A. Recovery with vacuum pump, automatic drain & stop after recovery.	Mech. Motor Vehicle	1	70000	70000	Compertive Bidding & E Shopping L-1
831	MPFI petrol Engine with swiveling stand along with special tools for dismantling and assembling Latest 4 Stroke 3/4 cylinder MPFI Engine in running condition 800-1600cc with ECM, BCM and all sensors, wiring, fuel feed system, cooling system &instrument cluster	176	· · · · ·	Mech. Motor Vehicle	1	600000	600000	Compertive Bidding & E Shopping L-1
832	Transfer case with stand for Dismantling and assembly. To show the gear mechanism of forward and reverse	178	To show the gear mechanism of	Mech. Motor Vehicle	1	55000	55000	Compertive Bidding & E Shopping L-1
833	sneeds Tube/tyre vulcanizing machine		forward and reverse speeds. 220 V , Heater Capacity 400W x 2 With different types of Die &Mould	Mech. Motor Vehicle	1	150000	150000	Compertive Bidding & E Shopping L-1
834	TyerChangerMachine	181	Motorized Pneumatic Type, Rim clamping facility, and bead breaking facility with air inflating device	Mech. Motor Vehicle	1	80000	80000	Compertive Bidding & E Shopping L-1
835	UltrasonicInjection cleaningequipment	182		Mech. Motor Vehicle	1	20000	20000	Compertive Bidding & E Shopping L-1
836	Wheelalignment Machine –computerised 3D	183	Latest machine for four wheel alignment. With connected camera , IR Lighting Source min. 8mm, Reflector metal based, should work in sunlight	Mech. Motor Vehicle	1	450000	450000	Compertive Bidding & E Shopping L-1
837	Wheel balancingmachine	184	For wheel balancing of LMV. Motor 0.5 HP Shaft Diameter min 38mm. Hardened flange assy. Balancing catch nut of metal.	Mech. Motor Vehicle	1	90000	90000	Compertive Bidding & E Shopping L-1
838	Battery	186		Mech. Motor Vehicle	2	6500	13000	Compertive Bidding & E Shopping L-1
839	Brake fluids	187		Mech. Motor Vehicle	1ltr	250	250	Compertive Bidding & E Shopping L-1
840	Chalk, Prussian blue	188		Mech. Motor Vehicle	1Box	50	50	Compertive Bidding & E Shopping L-1
841	Chemical compound for fasteners	189		Mech. Motor Vehicle	2ltr	350	700	Compertive Bidding & E Shopping L-1
842	Diesel	190		Mech. Motor Vehicle Mech. Motor	50ltr 2pc	70 50	3500	Compertive Bidding & E Shopping L-1 Compertive
843	Different type gasket material	191		Vehicle Mech. Motor	2pc 5pc	100	500	Bidding & E Shopping L-1 Compertive
	Different type of oil seal	_,2		Vehicle	- 20			Bidding & E Shopping L-1

845		193		Mech. Motor Vehicle	1set	500	500	Compertive
	Drill Twist (assorted)			venicie				Bidding & E
846		194		Mech. Motor	2foot	25	50	Shopping L-1 Compertive
040		134		Vehicle	21000	25	50	Bidding & E
	Emery paper		36–60 grit , 80–120					Shopping L-1
847		195		Mech. Motor	5ltr	300	1500	Compertive
				Vehicle				Bidding & E
	Engine oil & Engine coolant							Shopping L-1
848		196		Mech. Motor	5ltr	300	1500	Compertive
				Vehicle				Bidding & E
	Gear oils							Shopping L-1
849		197		Mech. Motor	100pc	5	500	Compertive
	Uselson blada (sensus shla)			Vehicle				Bidding & E
850	Hacksaw blade (consumable)	100		Mech. Motor	15	150	2250	Shopping L-1
850		198		Vehicle	15pc	150	2250	Compertive Bidding & E
	Holders, lamp teakwood boards, plu			venicie				Shopping L-1
851	······································	199		Mech. Motor	5pc	60	300	Compertive
				Vehicle				Bidding & E
	Hydrometer							Shopping L-1
852		200		Mech. Motor	2pc	120	240	Compertive
				Vehicle				Bidding & E
	Lapping abrasives							Shopping L-1
853		201		Mech. Motor	5ltr	75	375	Compertive
				Vehicle				Bidding & E
05.4	Petrol	202		March Master	4 14	200	200	Shopping L-1
854		202		Mech. Motor	1ltr	300	300	Compertive
	Power steering oil			Vehicle				Bidding & E
855		203		Mech. Motor	5ltr	250	1250	Shopping L-1 Compertive
535		203		Vehicle	JILI	200	1200	Bidding & E
	Radiator Coolants			venicle				Shopping L-1
856		204		Mech. Motor	20pc	50	1000	Compertive
				Vehicle				Bidding & E
	Safety glasses							Shopping L-1
857		205		Mech. Motor	10pc	25	2500	Compertive
				Vehicle				Bidding & E
	Steel wire Brush							Shopping L-1
858		207		Mech. Motor	24	1000	24000	Compertive
				Vehicle				Bidding & E
	Students chairs with writing pads							Shopping L-1
859	White Board 8ft. x 4ft.	211	8ftx4ft	Mech. Motor	1	9000	9000	Compertive
				Vehicle				Bidding & E
860	Instructors lap top with latest	209		Mech. Motor	1	35000	35000	Shopping L-1
800	configuration pre-loaded with	205		Vehicle	1	33000	33000	Compertive Bidding & E
	operating system and MS Office			venicie				Shopping L-1
	package.							Shohhing F-T
861	LCD projector with screen.	210		Mech. Motor	1	55000	55000	Compertive
				Vehicle				Bidding & E
								Shopping L-1
862	File flat rough double cut	1	200mm	RAC	48	500	24000	Compertive
								Bidding & E
								Shopping L-1
863	File, half round, fine double cut,	2	length 150mm	RAC	48	50	2400	Compertive
								Bidding & E
								Shopping L-1
864	File, round, fine double cut	3	length 150mm	RAC	48	80	3840	Compertive
								Bidding & E
865	File flat, fine double cut,	4	length 150mm	RAC	48	100	4800	Shopping L-1 Compertive
805	rie liat, line double cut,	4	length 150mm	NAC	40	100	4800	Bidding & E
								Shopping L-1
866	File square, fine double cut,	5	length 150mm	RAC	48	100	4800	Compertive
		-	J					Bidding & E
								Shopping L-1
867	File triangular fine double cut	6	length 150mm	RAC	48	50	2400	Compertive
								Bidding & E
								Shopping L-1
868	Scriber	7	150mm length	RAC	14	250	3500	Compertive
								Bidding & E
								Shopping L-1
869	Centre punch	8	length 100mm	RAC	48	250	12000	Compertive
								Bidding & E
070	Try square	0	150 mm	DAC	40	150	7200	Shopping L-1
870	Try square	9	130 11111	RAC	48	150	7200	Compertive
								Bidding & E Shopping L-1
871	Divider spring joint	10	length 150mm	RAC	48	150	7200	Compertive
							00	Bidding & E
								Shopping L-1
872	Caliper spring joint in side	11	length 150mm	RAC	48	70	3360	Compertive
								Bidding & E
						_		Shopping L-1
873	Caliper, odd leg, spring joint	12	length 150mm	RAC	48	80	3840	Compertive
								Bidding & E
								Shopping L-1
874	Hammer ball pein	13	220 gms	RAC	48	55	2640	Compertive
								Bidding & E
								Shopping L-1
875	Cold Chisel flat and cross cut.	14	length 150mm	RAC	48	500	24000	Compertive
								Bidding & E
								Shopping L-1
			200					
876	Engineers rule	15	300mm long	RAC	14	550	7700	Compertive
	Engineers rule	15	300mm long	RAC	14	550	7700	

877	Tape measuring	16	10m graduation in mm	RAC	48	1800	86400	Compertive Bidding & E
878	Pliers combination insulated	17	length 200mm	RAC	48	60	2880	Shopping L-1 Compertive Bidding & E
879	Pliers long nose	18	200 mm	RAC	48	600	28800	Shopping L-1 Compertive Bidding & E
880	Pliers flat nose	19	150mm	RAC	48	90	4320	Shopping L-1 Compertive Bidding & E
881	Line tester	20	500 v heavy duty	RAC	48	120	5760	Shopping L-1 Compertive Bidding & E
882	Tweezers	21	10 cm	RAC	48	100	4800	Shopping L-1 Compertive Bidding & E
883	Surface plate	22	45 x45 cms	RAC	1	480	480	Shopping L-1 Compertive
884	Oil can	23	500 ml	RAC	5	250	1250	Bidding & E Shopping L-1
004	Un can	25		KAC	5	250	1250	Compertive Bidding & E Shopping L-1
885	Bench vice	25	150 mm	RAC	12	450	5400	Compertive Bidding & E Shopping L-1
886	Hack saw tubular metal frame adjustable	26	150to 300mm jaw	RAC	12	1500	18000	Compertive Bidding & E
887	Anvil	29	300mm	RAC	1	6000	6000	Shopping L-1 Compertive Bidding & E
888	Stakes [different Types]	30	200 mm	RAC	1	5500	5500	Shopping L-1 Compertive Bidding & E
889	Tin smith	31	200 mm	RAC	1	6000	6000	Shopping L-1 Compertive Bidding & E
890	Wooden mallet /Nylon mallet	32	100X200mm	RAC	5	6000	30000	Shopping L-1 Compertive
891	Round Punch	33	100mm	RAC	5	13500	67500	Bidding & E Shopping L-1 Compertive Bidding & E
892	Electrical drill portable drill with chuck and key,	34	400mm	RAC	5	2600	13000	Shopping L-1 Compertive Bidding & E
893	Screw driver, plastic handle, Flat	35	500 gm good finish	RAC	6	300	1800	Shopping L-1 Compertive
894	tip Screw driver, plastic handle, Flat	36	3mm,4mm,6mm	RAC	6	3500	21000	Bidding & E Shopping L-1 Compertive
895	tip Screw driver, plastic handle, Flat	38	capacity 6.4mm	RAC	5	4500	22500	Bidding & E Shopping L-1 Compertive
896	tip Knife folded stainless steel –	40	6mm TIP length 100mm to 150mm	RAC	12	2500	30000	Bidding & E Shopping L-1 Compertive
			_					Bidding & E Shopping L-1
897	Tong tester (clamp on multimeter)	41	10mm TIP length 200mm & 250mm	RAC	5	120	600	Compertive Bidding & E Shopping L-1
898	Tenon saw	42	complete set in leather case	RAC	5	1500	7500	Compertive Bidding & E
899	Firmer chisel	43	handle 3mm TIP length 100mm to 150mm insulated	RAC	2	90	180	Shopping L-1 Compertive Bidding & E
900	Fire buckets	46	65 watts	RAC	3	2500	7500	Shopping L-1 Compertive Bidding & E
901	Ring spanner	48	150mm	RAC	10	280	2800	Shopping L-1 Compertive Bidding & E
902	Quick couples, process tube adopter	49	0-10-30 amps 0-500 v	RAC	4	800	3200	Shopping L-1 Compertive Bidding & E
903	Tong Close mouth and pick up	50	250 mm	RAC	1	350	350	Shopping L-1 Compertive Bidding & E
904	Welding table for gas/Arc	51	6,12,25mm	RAC	1	20000	20000	Shopping L-1 Compertive Bidding & E
905	Flaring tool set, single type for tube.	52	6 mm	RAC	5	7000	35000	Shopping L-1 Compertive Bidding & E
906	Pipe cutter miniature for copper tube	55	ABC dry powder type2 kg capacity	RAC	5	80	400	Shopping L-1 Compertive Bidding & E
907	Pinch of tool, for copper tube,	56	10 Liter	RAC	5	1500	7500	Shopping L-1 Compertive Bidding & E
908	Ratchet spanner	57	6-32 mm	RAC	5	200	1000	Shopping L-1 Compertive Bidding & E
								Shopping L-1

909	Capillary plug gauge	58	6 -32 mm	RAC	5	480	2400	Compertive Bidding & E
910	Piercing pliers & reversing valve with access fitting	59	1/4" and 3/8"	RAC	5	470	2350	Shopping L-1 Compertive Bidding & E
911	Spanner double ended	60	Close mouth and pick up	RAC	5	4500	22500	Shopping L-1 Compertive Bidding & E
912	Ring spanner off set	61	1200x760	RAC	5	80	400	Shopping L-1 Compertive Bidding & E
913	Wrench adjustable	63	4.7mm to 16mm O.D	RAC	5	150	750	Shopping L-1 Compertive Bidding & E
914	Wrench adjustable	64	4.7mm to 16mm O.D	RAC	5	250	1250	Shopping L-1 Compertive Bidding & E
915	Valve key handle[Treated as consumable]	65	3mm to 16mm DIA	RAC	5	1200	6000	Shopping L-1 Compertive Bidding & E
916	(Hollo) Punch hole for cutting gasket	66	3mm to 16mm DIA	RAC	2	4,500	9000	Shopping L-1 Compertive Bidding & E
917	Scissor, gasket cutting stainless steel	67	6mm to 18mm DIA	RAC	5	700	3500	Shopping L-1 Compertive Bidding & E Shopping L-1
918	L-Allen key	68	6.4 sq.mm reversible	RAC	5	150	750	Compertive Bidding & E Shopping L-1
919	T-Allen key set	69		RAC	5	5000	25000	Compertive Bidding & E Shopping L-1
920	Pipe cutter with built in reamer and space cutter, for copper tube	70	6-18mm	RAC	5	2500	12500	Compertive Bidding & E Shopping L-1
921	Pipe /Tube bender lever type	71	4.7mm to 16mm	RAC	1	3000	3000	Compertive Bidding & E Shopping L-1
922	Spanner double ended	72	4.7mm to 16mm	RAC	5	550	2750	Compertive Bidding & E Shopping L-1
923	Lapping plate	74	length 150mm	RAC	2	2500	5000	Compertive Bidding & E Shopping L-1
924	Hammer ball peen	75	length 200mm	RAC	5	3500	17500	Compertive Bidding & E Shopping L-1
925	Puller 3 legged with flexible arm	76	length 250mm	RAC	5	3500	17500	Compertive Bidding & E Shopping L-1
926	Hand blower portable complete	77	4.7mm & 6.4mm sq.	RAC	2	150	300	Compertive Bidding & E Shopping L-1
927	Spirit level precision metallic	78	4.7mm to 16mm die	RAC	2	250	500	Compertive Bidding & E Shopping L-1
928	Tap set with matching drills	79	length 25mm	RAC	3	120	360	Compertive Bidding & E Shopping L-1
929	Tap set with matching drills	80	set size 1.5mm to 6.4mm	RAC	3	150	450	Compertive Bidding & E Shopping L-1
930	Refrigerant cylinder	81	size 5/32" to 1/8"	RAC	3	1500	4500	Compertive Bidding & E Shopping L-1
931	Heating kit with infrared bulb	82	3mm to 32mm	RAC	2	450	900	Compertive Bidding & E Shopping L-1
932	Plumbing hammer weight	83	3mm to 16mm	RAC	2	450	900	Compertive Bidding & E Shopping L-1
933	Cylinder 134a	84	19mm to 31.8 mm	RAC	1	2500	2500	Compertive Bidding & E Shopping L-1
934	Torque wrench	85	size 50mm to 150mm	RAC	1	9000	9000	Compertive Bidding & E Shopping L-1
935	Piercing valve	86	250mm x 200mm	RAC	2	450	900	Compertive Bidding & E Shopping L-1
936	Feeler guage	87	450 gms	RAC	3	3500	10500	Compertive Bidding & E Shopping L-1
937	Four way reversible valve	88	300mm	RAC	1	2500	2500	Compertive Bidding & E Shopping L-1
938	Vernier hight guage	89	1/10 HP	RAC	1	2800	2800	Compertive Bidding & E Shopping L-1
939	Tape measuring graduation in mm	90	200mm	RAC	5	2800	14000	Compertive Bidding & E Shopping L-1
940	Voltmeter, AC/DC portable precision grade digital panel board type.	91	3 mm to 16mm	RAC	5	1200	6000	Compertive Bidding & E Shopping L-1

941	Ammeter, AC/DC portable precision grade digital panel board	92	¼" to 5/8"	RAC	5	2700	13500	Compertive Bidding & E
942	tvpe. Megger	93	2.5 Кg	RAC	5	430	2150	Shopping L-1 Compertive Bidding & E
943	Wattmeter multi-range up to	94	(200 w capacity)	RAC	1	10000	10000	Shopping L-1 Compertive Bidding & E
944	Multimeter digital type	95	200 gm.	RAC	5	9000	45000	Shopping L-1 Compertive Bidding & E
945	Service Oscillator	97	5kg	RAC	1	2500	2500	Shopping L-1 Compertive Bidding & E
946	C.R.O Single beam	98	300mm-12.7mm	RAC	2	1500	3000	Shopping L-1 Compertive Bidding & E
947	C.R.O Dual trace/ Double beam	99	1/4 inch	RAC	2	32000	64000	Shopping L-1 Compertive Bidding & E
948	A.F.O Oscillators	100	0.05mm to 1mm	RAC	2	18000	36000	Shopping L-1 Compertive Bidding & E
949	Pressure gauge Digital type	101		RAC	5	25000	125000	Shopping L-1 Compertive Bidding & E
950	Compound gauge, Digital type	102	300mm, LC 0.02	RAC	5	2500	12500	Shopping L-1 Compertive Bidding & E
951	Service man thermometer in metal case	103	2 m	RAC	5	2500	12500	Shopping L-1 Compertive Bidding & E
952	Gas leak detector for halogen gas	104	0 to 500 volt	RAC	2	4500	9000	Shopping L-1 Compertive Bidding & E Shopping L-1
953	Electronic leak detector	105	0 to 30 amp	RAC	2	10000	20000	Compertive Bidding & E Shopping L-1
954	Stop watch	107	1000v	RAC	2	90000	180000	Compertive Bidding & E Shopping L-1
955	Venire caliper	108	1 KW	RAC	2	12000	24000	Compertive Bidding & E Shopping L-1
956	Micrometer outside measurement	109		RAC	2	5500	11000	Compertive Bidding & E Shopping L-1
957	Multimeter	110	0 -1 K w	RAC	5	9000	45000	Compertive Bidding & E Shopping L-1
958	Tachometer digital, multi range	111		RAC	2	18000	36000	Compertive Bidding & E Shopping L-1
959	Micron vacuum gauge	112	5 MHZ	RAC	2	22000	44000	Compertive Bidding & E Shopping L-1
960	Sensor thermometer (digital)	113	60 MHZ	RAC	2	10000	20000	Compertive Bidding & E Shopping L-1
961	Fin straightened/fin comb.	114	20 KHz	RAC	3	15000	45000	Compertive Bidding & E Shopping L-1
962	Filler gauge	115	diameter 63mm with recalibration set	RAC	3	1000	3000	Compertive Bidding & E Shopping L-1
963	Wire gauge metric and british	116	diameter 63mm, with recalibration set screw, scale vacuum 76mm. Pressure 15 Kg/sq.cm	RAC	2	600000	1200000	Compertive Bidding & E Shopping L-1
964	Dial thermometer remote control, armored capillary dial	117	– 30 C to +30 C	RAC	3	15000	45000	Compertive Bidding & E Shopping L-1
965	Anemometer	118	In which spirit is used.	RAC	1	165000	165000	Compertive Bidding & E Shopping L-1
966	Compressors testers for small hermetic compressors	119		RAC	2	150000	300000	Compertive Bidding & E Shopping L-1
967	Digital thermometer	120	scale 50 C to +50 C	RAC	1	35000	35000	Compertive Bidding & E Shopping L-1
968	Temperature &Humidity recorder	121	Least count must be in millisecond and it should be digital.	RAC	1	800000	800000	Compertive Bidding & E Shopping L-1
969	Instrumentation screw driver set	122	length 250mm	RAC	5	60000	300000	Compertive Bidding & E Shopping L-1
970	Digital weighing machine	123	0 to 25mm	RAC	1	70000	70000	Compertive Bidding & E Shopping L-1
971	Split phase induction motor	124	Analog type	RAC	1	600000	600000	Compertive Bidding & E Shopping L-1
972	BLDC motor with controller	125	0 r m p to 3000 r m p. Portable small size in leather case	RAC	2	55000	110000	Compertive Bidding & E Shopping L-1

973								
	IDU Pulse generator type motor	126	capable of reading up to 20 microns	RAC	2	150000	300000	Compertive Bidding & E
974	Capacitor start induction motor	127	-50 degree Celsius to150 degree	RAC	1	80000	80000	Shopping L-1 Compertive
075	AC 2 Phase mater 400/50hr	120	28Celsius With strong steel wire/fiber based	RAC		20000	20000	Bidding & E Shopping L-1
975	AC 3 Phase motor, 400/50hz	128	combing on wood/fins	KAC	1	20000	20000	Compertive Bidding & E Shopping L-1
976	Star delta starter	129	0.05 mm – 1 mm(filler should be steel)	RAC	1	450000	450000	Compertive Bidding & E
977	Auto Transformer starter	130	Steel plate embossing converse of	RAC	1	90000	90000	Shopping L-1 Compertive
			British & Metric					Bidding & E Shopping L-1
978	Portable air – LPC brazing kit	132	75mm – 50C to +50 C	RAC	1	3000	3000	Compertive Bidding & E Shopping L-1
979	Oxy-acetylene welding set complete	133	Digital type	RAC	1	6500	6500	Compertive Bidding & E
980	Single door direct cool	134	Fixed with electrical input/ output	RAC	1	250	250	Shopping L-1 Compertive
004	Refrigerator, carrying with HFC and HC	405	indicating facilities(series circuit, with M.C.B etc.			50	100	Bidding & E Shopping L-1
981	Frost free refrigerator	135	Graduated disc analogy type	RAC	2	50	100	Compertive Bidding & E Shopping L-1
982	Three/four door refrigerator (inverter type)	136	Capacity to record 24 hrs.Record	RAC	2	350	700	Compertive Bidding & E
983	Core drilling machine	137	100mm	RAC	1	70	70	Shopping L-1 Compertive
984	Bench Drilling machine	138	100 kg	RAC	1	50	50	Bidding & E Shopping L-1 Compertive
504		130	100 kg	NAC .		50	50	Bidding & E Shopping L-1
985	Grinding Machine	139	1 hp, 230 V	RAC	1	100	100	Compertive Bidding & E
986	Evacuating and refrigerant charging station, consist of-	140	15-30 watts, 315 volts DC	RAC	1	500	500	Shopping L-1 Compertive Bidding & E
	a)Rotary two stage vacuum pump and motor (with gas ballast and anti-such back) b) Manifold with gauges and valves and capable of pulling vacuum up to 50 microns of Hg and with provision of connecting to a microns level with provision for temperature correction and all microns level vacuum gauge. c)Graduated charging cylinder with							Shopping L-1
097	provision for temperature correction and all necessary	141	15 watt 220 walts AC	BAC	1	25	25	Comportivo
987	correction and all necessary Evacuating and charging station as above but fitted with weighing	141	15 watt, 230 volts AC	RAC	1	25	25	Compertive Bidding & E Shopping I-1
987 988	correction and all necessary Evacuating and charging station as	141	15 watt, 230 volts AC	RAC	1	25 300	25	
	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3							Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
988	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM	142	1 Hp, 230 V	RAC	1	300	300	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989 990	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C	142 143 144	1 Hp, 230 V 2 Hp 2 hp	RAC RAC RAC	1 1 2	300 300 5	300 300 10	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder	142	1 Hp, 230 V 2 Hp	RAC RAC	1	300 300	300 300	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E
988 989 990	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C	142 143 144	1 Hp, 230 V 2 Hp 2 hp	RAC RAC RAC	1 1 2	300 300 5	300 300 10	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
988 989 990 991	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C	142 143 144 145	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 kg. LPG cylinder, torches, houses,	RAC RAC RAC RAC	1 1 2 2	300 300 5 150	300 300 10 300	Bidding & E Shopping L-1 Compertive Bidding & E
988 989 990 991 992	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton	142 143 144 145 146	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp	RAC RAC RAC RAC RAC	1 1 2 2 1	300 300 5 150 60	300 300 10 300 60	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989 990 991 992 993 994	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter	142 143 144 145 146 147 148	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles.	RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1	300 300 5 150 60 120 75	300 300 10 300 60 120 75	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989 990 991 991 992 993	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders	142 143 144 145 145 146 147	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding	RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1	300 300 5 150 60 120	300 300 10 300 60 120	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989 990 991 992 993 994	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter	142 143 144 145 146 147 148	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles.	RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1	300 300 5 150 60 120 75	300 300 10 300 60 120 75	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1
988 989 990 991 991 992 993 994 995	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter De- scaling pump set	142 143 144 145 146 147 148 148 150	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles. 185 L	RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1 1 1	300 300 5 150 60 120 75 300	300 300 10 300 60 120 75 300	Bidding & E Shopping L-1 Compertive Bidding & E
988 989 990 991 992 993 994 995 995	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter De- scaling pump set Fan coil unit	142 143 144 145 145 146 147 148 150 151	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles. 185 L 200L carrying with HC blend	RAC RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1 1 1 1 1	300 300 5 150 60 120 75 300 250	300 300 10 300 60 120 75 300 250	Bidding & E Shopping L-1 Compertive Bidding & E Shopping L-1 Compertive
988 989 990 991 992 993 993 994 995 995 996	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter De- scaling pump set Fan coil unit Shell and tube, DX chillers (small) Circulating water pump (small)	142 143 144 145 145 146 147 148 150 151 151	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles. 185 L 200L carrying with HC blend 300L carrying with HC R-600a	RAC RAC RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1 1 1 1 1 1	300 300 5 150 60 120 75 300 250 50	300 300 10 300 60 120 75 300 250 50	Bidding & E Shopping L-1 Compertive Bidding & E Shopp
988 989 990 991 992 993 993 994 995 995 996 997	correction and all necessary Evacuating and charging station as above but fitted with weighing scale Two stage rotary vacuum pump, 3 or 4 CFM Dry N2 in cylinder Window A.C Split A.C Duct able split A.C 1.5 ton Recovery unit with cylinders Decibel meter De- scaling pump set Fan coil unit Shell and tube, DX chillers (small)	142 143 144 145 146 147 148 150 151 151 152 153	1 Hp, 230 V 2 Hp 2 hp 3 hp 2 hp 2 kg. LPG cylinder, torches, houses, stand make cylinders, regulators, welding torches with difference nozzles. 185 L 200L carrying with HC blend	RAC RAC RAC RAC RAC RAC RAC RAC RAC RAC	1 1 2 2 1 1 1 1 1 1 1 1 1 1	300 300 5 150 60 120 75 300 250 50 25	300 300 10 300 60 120 75 300 250 50 25	Bidding & E Shopping L-1 Compertive Bidding & E Shopp

1001	Shell and tube type condenser	156	(CAP. 2 kg. in lieu of (b) above and with accuracy of +/- 1g for charging	RAC	1	9000	9000	Compertive Bidding & E
			hydrocarbon.					Shopping L-1
1002	Rotary hermetic compressor	157		RAC	1	35000	35000	Compertive Bidding & E
1003	Bottle cooler visible	158	capacity approx. 60 – 100 RPM	RAC	1	55000	55000	Shopping L-1 Compertive
1005		150	capable of evacuating to 50	NAC	1	55000	55000	Bidding & E
			microns of Hg and fitted with gas ballast, anti-such back valve and					Shopping L-1
			single phase motor					
1004	Deep freezer	159	2 stage regular or commercial N 2	RAC	1	22000	22000	Compertive
			in cylinder with drier unit and 2 stage regular 7meter cube					Bidding & E Shopping L-1
1005	Display cabinet	160	1 Ton with R-22 Blend	RAC	1	50000	50000	Compertive
			reciprocating compressor					Bidding & E
1006	Water cooler storage type	161	1.5 Ton with R-134a or R-22	RAC	1	23000	23000	Shopping L-1 Compertive
			reciprocating compressor					Bidding & E
1007	Water dispenser bubble type (Hot	162	1.5 Ton with R-134a or R-22	RAC	1	15000	15000	Shopping L-1 Compertive
1007	and Cold)	102	reciprocating compressor	NAC	1	15000	15000	Bidding & E
								Shopping L-1
1008	Bus AC tutorial model	169	CFC, HFC & HCFC	RAC	1	100,000	100000	Compertive Bidding & E
								Shopping L-1
1009	Automatic ice cube m/c	170	30-100db	RAC	1	100,000	100000	Compertive
								Bidding & E
1010	Storage type water cooler (Hot	171	4500 kcal/hr	RAC	1	8,000	8000	Shopping L-1 Compertive
	and Cold)					-,		Bidding & E
		470				20.000	20000	Shopping L-1
1011	Visi cooler	172	With stainless steel impeller and housing complete with motor 1/2	RAC	1	20,000	20000	Compertive Bidding & E
			hp and accessories.					Shopping L-1
1012	VRF/VRV unit with two indoor	173	with water valves (2 & 3 way)	RAC	1	198,000	198000	Compertive
	units 2.5TR each and 5TR capacity							Bidding & E
	out door unit complete with air cooled condenser, accessories and							Shopping L-1
	controls							
1013	Split A/C (inverter technology)	174	1.5 Ton with Cu tubing only	RAC	2	35,000	70000	Compertive
								Bidding & E Shopping L-1
1014	Walk in cooler PUF insulated for	175	0.5 H.P with stainless steel tank	RAC	1	175,000	175000	Compertive
	cold room 6X4.5X8 cft.		capacity 20 literswithin let/ outlet					Bidding & E
1015	Absorption system	176	provision. 10 kg capacity	RAC	1	20,000	20000	Shopping L-1 Compertive
1015	Aborption system	170		in te	-	20,000	20000	Bidding & E
								Shopping L-1
1016	Class room table	177	Different sizes of hoses for R134a, R22 and R410	RAC	48	4000	192000	Compertive Bidding & E
								Shopping L-1
1017	Work bench	178	5 Ton	RAC	12	10000	120000	Compertive
								Bidding & E Shopping L-1
1018	Amirah	179	2 Ton	RAC	8	7000	56000	Compertive
								Bidding & E
1019	Lockers	180	200 L carrying with HFC-134a&	RAC	4	8000	32000	Shopping L-1 Compertive
1015	LOCKETS	100	reciprocating Compressor	NAC	4	8000	52000	Bidding & E
								Shopping L-1
1020	Glass board portable	181	200 L carrying with HFC134a& reciprocating Compressor	RAC	4	7000	28000	Compertive
			reciprocating compressor					Bidding & E Shopping L-1
1021	Instructor table	182	2 ton capacity	RAC	2	15000	30000	Compertive
								Bidding & E
1022	Instructor chair	183	200 L carrying with HFC-134a or R-	RAC	2	4000	8000	Shopping L-1 Compertive
			22 and reciprocating					Bidding & E
1022	Commuter table	104	Compressor 2.5 to 3 ltr delivery capacity per	DAC	2	20000	40000	Shopping L-1
1023	Computer table	184	2.5 to 3 itr delivery capacity per	RAC	2	20000	40000	Compertive Bidding & E
								Shopping L-1
1024	Computer chair	185	2 ton with capacity to make 32 ice	RAC	2	4000	8000	Compertive
			candy at a time with Forma tray, stainless steel tank on trolley					Bidding & E Shopping L-1
			stamess steer tank on troney					Shopping F-1
1025	White board	186	Complete with all controls	RAC	2	70000	140000	Compertive
			including humidity control					Bidding & E Shopping L-1
1026	Chart stand	187	Complete with all controls	RAC	2	5000	10000	Compertive
			including humidity control					Bidding & E
1027	Computer with printer and scanner	188	7.5 ton capacity, Water cooled	RAC	2	40000	80000	Shopping L-1
102/	computer with printer and scanner	100	type with open type reciprocating	NAL	۷	40000	30000	Compertive Bidding & E
			compressor					Shopping L-1
1028	LCD PROJECTOR / LED / LCD TV	189		RAC	2	80000	160000	Compertive
								Bidding & E Shopping L-1
1029	Laptop	190		RAC	2	48000	96000	Compertive
								Bidding & E
								Shopping L-1
1020	LIPS	101		DVC	2	1000	2000	Comportivo
1030	UPS	191		RAC	2	4000	8000	Compertive Bidding & E

1031	Copier machine	192	50kg/hour	RAC	1	150000	150000	Compertive
								Bidding & E
								Shopping L-1
1032	Interactive Board	193		RAC	2	100000	200000	Compertive
								Bidding & E
								Shopping L-1
1033	Stool	194	185L	RAC	31	500	15500	Compertive
								Bidding & E
								Shopping L-1
1034	Book Self with glass panel	195		RAC	2	6000	12000	Compertive
								Bidding & E
								Shopping L-1
1035	Storage rack	196	1.5TR	RAC	4	4000	16000	Compertive
								Bidding & E
								Shopping L-1
1036	Storage shelf	197	temperature 00-50 c	RAC	4	4000	16000	Compertive
								Bidding & E
								Shopping L-1